

Draft Report of the Administrator for Rehabilitation and Resettlement Scheme u/s 16 of the Right to Fair Compensation and Transparency in land acquisition of private land acquisition of private land form Vijaypath road stretch for Urban Design of streets & Public area in walled city

## Preface:-

Vide Preliminary Notification No. 65-03-LAQ-2021-22/2681 dated 07/02/2022.(Copy attached as annexure-A),land admeasuring total 3139.00 Sq.mtrs.in Diu District was notified u/s 11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, project for namely "land acquisition of private land form Vijaypath road stretch for Urban Design of streets & Public area in walled city", for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

Vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2296 dated 04/08/2015 the undersigned has been appointed as the Administrator under sub section (1) of Section 43 of the said act for Rehabilitation and Resettlement of affected families due to acquisition of the said land parcels.

As per section 16 of RFCTLARR Act 2013, Preparation of Rehabilitation and Resettlement Scheme by the Administrator should be done.

## Methodology: -

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the undersigned has been appointed as the Administrator toprepare Rehabilitation and Resettlement scheme.

Therefore, vide order No.65-03-LAQ/2021-22/3031 dated 03/03/2022, a committee was constituted to obtain a report on Section 16 of RFCTLARR Act 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015, to conduct a field survey of proposed land with concerned Talathi of the area, Planning Assistant, Diu, Enquiry Officer, Diu and Mamlatdar, Diu had visited the sites. The report has been received from Mamlatdar, Diu.

## **Details of Public Hearing**

This section of the report will be prepared after public hearing.

## **Other Measure: -**

Based on the survey conducted by Rehabilitation and Resettlement Committee and report received from Mamlatdar, Diu, the Rehabilitation and Resettlement Scheme is worked out which is detailed below: -

## • Criteria given in Section 16 of the RFCTLARR Act, 2013

#### 1. Particulars of lands and immovable properties being acquired of each affected family;

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Left	Side				
1	PTS-149/5-A	Near Chandrikamata Circle	Shri Suriaprakash Narotomo	0.17.66	34.00
2	PTS-149/5-B	Near Chandrikamata Circle	Shri Haresh Narotomo	0.18.26	82.00
3	PTS-149/5-C	Near Chandrikamata Circle	Shri Jaianath Narotomo	0.18.00	82.00
4	PTS-149/5-D	Near Chandrikamata Circle	Shri Sandeep Narotomo	0.18.29	82.00
5	PTS-142/1-A	Near Chandrikamata Circle	Smt. Lataben Narottam	0.48.25	319.00
6	PTS-142/2/2	Near Chandrikamata Circle	Shri Haresh Parshotam	0.12.90	134.00
7	PTS-142/2/1	Near Chandrikamata Circle	Shri Narendracumar Parshotam	0.12.90	131.00
8	PTS-142/1/1	Near Chandrikamata Circle	Mrs. Sumitraben Nathalal	0.35.98	91.00
9	PTS-142/1/2	Near Chandrikamata Circle	Mrs. Hinaxi Nathalal	0.35.98	97.00
10	PTS-142/2	Near Opp. House	Mr. Dipak Nathalala	0.35.98	713.00
11	PTS-123/139	Near Fountain	Smt. Kamalabai Narotam (As Occupant Class-II)	0.22.14	157.00
12	PTS-112/22/A/1	Near Fountain	Mr. Bhadrasen Lauchande (As Occupant Class-II)	0.05.00	56.00

13	PTS-112/22/A/2	Near Fountain	Mr. Bhadrasen	0.02.25	42.00
			Lauchande (As		
			Occupant Class-II)		
14	PTS-112/22/A/15	Near Fountain	Mr. Bhadrasen	0.01.50	24.00
14	1 10 112/22/10/10		Lauchande (As	0.01.50	24.00
			Occupant Class-II)		
15	PTS-112/22/A/16	Near Fountain	Mr. Bhadrasen	0.01.41	17.00
-			Lauchande (As		
			Occupant Class-II)		
16	PTS-112/22/A/17	Near Fountain	Mr. Bhadrasen	0.01.50	14.00
			Lauchande (As		
			Occupant Class-II)		
17	PTS-112/22/A/31	Near Fountain	Mr. Bhadrasen	0.01.35	4.00
			Lauchande (As		
			Occupant Class-II)		
18	PTS-112/22/A	Near Fountain	Mr. Bhadrasen	0.14.79	634.00
			Lauchande (As		
			Occupant Class-II)		
19	PTS-124/3-A	Near Naida Caves	Shri Nitendra	0.58.00	102.00
			Samgi		
20	PTS-112/15	Near Naida Caves	Shri Velji Kara	0.03.47	16.00
			Premji		
21	PTS-112/15/A	Near Naida Caves	Shri Shashikant	0.04.90	88.00
			Velji		
22	PTS-112/15/H	Near Naida Caves	Shri Shashikant	0.04.90	14.00
			Velji		1.10.00
23	PTS-112/16	Near Naida Caves	Shri Damodar	0.02.28	149.00
	DTTG 110/00 D		Dhanji	0.01.50	<b>57</b> 00
24	PTS-112/22-B	Near Naida Caves	Shree Ardelala	0.01.50	57.00
			Temple, Diu		
				Total	3139.00

# 2. Livelihoods lost in respect of land losers and landless whose livelihoods are primarily depends on the lands being acquired;

Not applicable

3. <u>A list of public utilities and Government building which are affected or likely to be</u> <u>affected, where resettlement of affected families is involved;</u>

Not applicable

4. <u>Detail of the amenities and infrastructural facilities which are affected or likely to be affected</u>, where resettlement of affected families is involved;

Not applicable.

## 5. <u>Detail of any common property resources being acquired;</u>

Not applicable

- Criteria given in rule 7(4) of the RFCTLARR (CRRDP) Rules,2015
  - (a) List of the affected families with aadhaar number of its members, if available As per Preliminary Notification No. 65-03-LAQ-2021-22/2681 dated 07/02/2022.
  - (b) List of displaced families with Aadhar number of its members, if available: Nil

- (c) List of infrastructure in the affected area Nil
- (d) List of land holding in the affected area
- As per Preliminary Notification No. 65-03-LAQ-2021-22/2681 dated 07/02/2022.
- (e) List of trees, building, other immovable property or assets attached to the land or building which are to be acquired
   Will be reflected in Final Award for Compensation on the basis of report submitted by PWD, Diu, Agriculture office, Diu and Forest Department, Diu
- (f) List of trades or business in the affected area: Not Applicable.
- (g) List of persons belonging to the Schedule Castes or Schedule Tribes, the handicapped or physically challenged persons in the affected area:-Not Applicable

## **Rehabilitation and Resettlement Plan**

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the Rehabilitation and Resettlement scheme (RR Scheme) is drafted in consonance with section 16 and Second Schedule of theRFCTLARR Act, 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015.

#### Findings:-

As per the section 3(k) of RFCTLARR Act 2013, "Displaced Family" means any family who on the account of acquisition of land has to be relocated and resettled from the affected area to the resettlement area. In the present case, the land being acquired is not used by affected family for residential purpose. It is evident that the affected family does not need relocation and resettlement as per the report of joint field survey as mentioned earlier. Further, as per the physical verification by the committee and observed that the said lands are not used for residential purpose.

Therefore, Rehabilitation and Resettlement scheme is not applicable for proposed land acquisition.

Dated: 03/07/2023 No. 65-03-LAQ/2021-22/423 Submitted by

Sd/-(Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## Summary format for Rehabilitation and Resettlement Scheme (ELEMENTS OF REHABILITATION AND RESETTLEMENT ENTITLEMENTS FOR ALL THE AFFECTED FAMILIES)

1.	Name of the Project: Land acquisition of private land form Vijaypath road stretch for Urban Design of streets & Public area in walled city				
2.	Name/ Names of persons interested in the land and the nature of their respective claim for rehabilitation and resettlement: as in SI. No. 4				
3.	famil	e limit for provisions in the second se	ons of Rehabilitation and Resettlement entitlements give	ven to the affected	
4.	Sr. No.		Specification Provision	Recommendation	
	1	Provision of housing units in case of displacement	<ul> <li>(1) If a house is lost in rural areas, a constructed house shall be provided as per the Indira Awas Yojana specifications. If a house is lost in urban areas, a constructed house shall be provided, which will be not less than 50 sq mts in plinth area.</li> <li>(2) The benefits listed above shall also be extended to any affected family which is without homestead land and which has been residing in the area continuously for a period of not less than three years preceding the date of notification of the affected area and which has been involuntarily displaced from such area: Provided that any such family in urban areas which opts not to take the house offered, shall get a one-time financial assistance for house construction, which shall not be less than one lakh fifty thousand rupees: Provided further that if any affected family in rural areas so prefers, the equivalent cost of the house may be offered in lieu of the constructed house:</li> <li>Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act.</li> </ul>	Not applicable, the land being acquired is not used by affected family for residential purpose.	
			complexes.		
	2	Land for Land	In the case of irrigation project, each affected family owning agricultural land in the affected area and whose land has been acquired or lost, or who has, as a consequence of the acquisition or loss of land, been reduced to the status of a marginal farmer or landless, shall be allotted, in the name of each person included in the records of rights with regard to the affected family, a minimum of one acre of land in the command area of the project for which the land is acquired:	Not Applicable as it is not an irrigation project.	
			Provided that in every project those persons losing land and belonging to the Scheduled Castes or Scheduled Tribes will be provided land equivalent to land acquired or two and a one half acres, whichever is lower.		

3	Offer for Developed Land	In case the land is acquired for Developed urbanisation purposes, twenty Land per cent of the developed land will be reserved and offered to land owning project affected families, in proportion to the area of their land acquired and at a price equal to the cost of acquisition and the cost of development: Provided that in cases the landowning project affected family wishes to avail of this offer, an equivalent amount will be deducted from the land acquisition compensation package payable to it.	Not applicable as land is not being acquired for urbanization purpose
4	Choice of Annuity or Employment	The appropriate Government shall ensure that the affected families are provided with the following options: (a) where jobs are created through the project, 'after providing suitable training and skill development in the required field, make provision for employment at a rate not lower than the minimum wages provided for in any other law for the time being in force, to at least one member per affected family in the project or arrange for a job in such other project as may be required; or (b) onetime payment of five lakhs rupees per affected family; or (c) Annuity policies that shall pay not less than two thousand rupees per month per family for twenty years, with appropriate indexation to the Consumer Price Index for Agricultural Labourers.	Not applicable
5	Subsistence grant for displaced families for a period of one year	Each affected family which is displaced from the land acquired shall be given a monthly subsistence allowance equivalent to three thousand rupees per month for a period of one year from the date of award. In addition to this amount, the Scheduled Castes and the Scheduled Tribes displaced from Scheduled Areas shall receive an amount equivalent to fifty thousand rupees. In cases of displacement from the Scheduled Areas, as far as possible, the affected families shall be relocated in a similar ecological zone, so as to preserve the economic opportunities, language, culture and community life of the tribal communities.	Not applicable, the land being acquired is not used by affected family for residential purpose.
6	Transportation cost for displaced families	Each affected family which is displaced shall get a one-time financial assistance of fifty thousand rupees as transportation cost for shifting of the family, building materials, belongings and cattle	Not applicable, the land being acquired is not used by affected family for residential purpose.

7	Cattle shed/petty shops cost	Each affected family having cattle or having a petty shop shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty- five thousand rupees for construction of cattle shed or petty shop as the case may be.	Not applicable as none of the cattle shed or petty shop is getting affected
8	One time grant to artisan, small traders and certain others	Each affected family of an artisan, small trader or self-employed person or an affected family which owned non-agricultural land or commercial, industrial or institutional structure in the affected area, and which has been involuntarily displaced from the affected area due to land acquisition, shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees.	Not applicable
9	Fishing rights	In cases of irrigation or hydel projects, the affected families may be allowed fishing rights in the reservoirs, in such manner as may be prescribed by the appropriate Government.	Not applicable as it is not an irrigation or hydel project.
10	One-time Resettlement Allowance	Each affected family shall be given a one-time "Resettlement Allowance" of fifty thousand rupees only.	Not applicable
11	Stamp duty and registration fee	<ol> <li>(1) The stamp duty and other fees payable for registration of the land or house allotted to the affected families shall be borne by the Requiring Body.</li> <li>(2) The land for house allotted to the affected families shall be free from all encumbrances.</li> <li>(3) The land or house allotted may be in the joint names of wife and husband of the affected family.</li> </ol>	Not applicable

Sd/– (Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## ANNEXURE – A संघ प्रदेश दादरा एवं नगर हवेली और दमण एवं दीव प्रशासन/ U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU, समाहर्ता का कार्यालय, दीव/OFFICE OF THE COLLECTOR, DIU-362520

## FORM-II [SeeSection 11(1) and Rule 4] PRELIMINARY NOTIFICATION

#### No. 65-03-LAQ-2021-22/26%

Date: -07/09/2022

Whereas, it appears to the appropriate Government that a total of 3139.00 Sq. Mtrs. land is required in Diu District, namely land acquisition of private land form Vijaypath road stretch for Urban Design of streets & Public area in walled city Diu, for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

 It is notified that for the above said project in Diu District, a piece of land admeasuring 3139.00 Sq. Mtrs. of standard measurements is required. Details of the land acquisition is enclosed as Annexure-I.

 This Notification is made under the provisions of Section-11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 (30 of RFCTLARR, 2013), to all whom it may concern.

4. A plan of the land may be inspected in Office of the Collector, Diu and Executive Engineer, PWD, Diu (Requiring Body) during the working days and working hours. Social Impact Assessment Report is also available on the official website of Diu District Administration i.e. www.diu.nic.in. Further, it is also informed that the Deputy Collector, Diu is appointed as Administrator under section 43 of RFCTLARRAct 2013 is also appointed vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2291 dated 04/08/2015.

5. The Government is pleased to authorize Mamlatdar, Diu and concerned Talathi to enter upon and survey land, take levels of any land, dig or bore into the sub-soil and do all other acts required for the proper execution of their work as provided and specified in Section-12 of the said Act.

6. Under Section-11(4) of the Act, no person shall make any transaction or cause any transaction of land i.e. sale / purchase, etc. or create any encumbrances on such land from the date of publication without prior approval of the Collector, Diu.

7. Objections to the acquisition, if any, may be filed by the person interested within 60 (Sixty days) from the date of publication of this notification as provided under Section-15 of the Act before Collector.

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: 07/09/2022

## ANNEXURE - I

## No. 65-03-LAQ-2021-22/2 (2)

Name of Project: - Land acquisition of private land form Vijaypath road stretch for Urban Design of streets & Public area in walled city Diu

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Left	Side			nectares	
1	PTS-149/5-A	Near Chandrikamata Circle	Shri Suriaprakash Narotomo	0.17.66	34.00
2	PTS-149/5-B	Near Chandrikamata Circle	Shri HareshNaroto mo	0.18.26	82.00
3	PTS-149/5-C	Near Chandrikamata Circle	Shri JaianathNarot omo	0.18.00	82.00
4	PTS-149/5-D	Near Chandrikamata Circle	Shri SandeepNarot omo	0.18.29	82.00
5	PTS-142/1-A	Near Chandrikamata Circle	Smt. LatabenNarott am	0.48.25	319.00
6	PTS-142/2/2	Near Chandrikamata Circle	Shri HareshParshot am	0.12.90	134.00
7	PTS-142/2/1	Near Chandrikamata Circle	Shri Narendracum arParshotam	0.12.90	131.00
8	PTS-142/1/1	Near Chandrikamata Circle	Mrs. SumitrabenNa thalal	0.35.98	91.00
9	PTS-142/1/2	Near Chandrikamata Circle	Mrs. HinaxiNathala I	0.35.98	97.00
10	PTS-142/2	Near Opp. House	Mr. DipakNathalal a	0.35.98	713.00
11	PTS-123/139	Near Fountain	Smt. KamalabaiNar otam (As Occupant Class-II)	0.22.14	157.00
12	PTS- 112/22/A/1	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.05.00	56.00
13	PTS- 112/22/A/2	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.02.25	42.00
14	PTS- 112/22/A/15	Near Fountain	Mr. BhadrasenLau chande (As Occupant	0.01.50	24.00

_				Total	3139.00
24	PTS-112/22-B	Near Naida Caves	Shree Ardelala Temple, Diu	0.01.50	57.00
23	PTS-112/16	Near Naida Caves	Shri DamodarDhan ji	0.02.28	149.00
22	PTS-112/15/H	Near Naida Caves	Shri ShashikantVel ji	0.04.90	14.00
21	PTS-112/15/A	Near Naida Caves	Shri ShashikantVel ji	0.04.90	88.00
20	PTS-112/15	Near Naida Caves	Shri Velji Kara Premji	0.03.47	16.00
19	PTS-124/3-A	Near Naida Caves	Shri NitendraSamgi	0.58.00	102.00
18	PTS-112/22/A	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.14.79	634.00
17	PTS- 112/22/A/31	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.01.35	4:00
16	PTS- 112/22/A/17	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.01.50	14.00
15	PTS- 112/22/A/16	Near Fountain	Mr. BhadrasenLau chande (As Occupant Class-II)	0.01.41	17.00
			Class-II)		

Har Har

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: of/02/2022

\*\*\*

Draft Report of the Administrator for Rehabilitation and Resettlement Scheme u/s 16 of the Right to Fair Compensation and Transparency in land acquisition of private land for widening of road stretch of Naida Bhavrawada Junction to Gangeshwar Temple Complex for Coastal Promenade Project of Diu Smart City

## Preface:-

Vide Preliminary Notification No. 65-06-LAQ-2021-22/2680 dated 07/02/2022 (Copy attached as annexure-A),land admeasuring total 5473.00 Sq.mtrs.in Diu District was notified u/s 11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, project for namely "land acquisition of private land for widening of road stretch of Naida Bhavrawada Junction to Gangeshwar Temple Complex for Coastal Promenade Project of Diu Smart City", for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

Vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2296 dated 04/08/2015the undersignedhas been appointed as the Administrator under sub section (1) of Section 43 of the said act for Rehabilitation and Resettlement of affected families due to acquisition of the said land parcels.

As per section 16 of RFCTLARR Act 2013, Preparation of Rehabilitation and Resettlement Scheme by the Administrator should be done.

## Methodology:-

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the undersigned has been appointed as the Administrator toprepare Rehabilitation and Resettlement scheme.

Therefore, vide order No.65-06-LAQ/2021-22/3032 dated 03/03/2022, a committee was constituted to obtain a report on Section 16 of RFCTLARR Act 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015, to conduct a field survey of proposed land with concerned Talathi of the area, Planning Assistant, Diu, Enquiry Officer, Diu and Mamlatdar, Diu had visited the sites. The report has been received from Mamlatdar, Diu.

#### **Details of Public Hearing**

This section of the report will be prepared after public hearing.

## **Other Measure:-**

Based on the survey conducted by Rehabilitation and Resettlement Committee and report received from Mamlatdar, Diu, the Rehabilitation and Resettlement Scheme is worked out which is detailed below: -

• Criteria given in Section 16 of the RFCTLARR Act, 2013

## 1. Particulars of lands and immovable properties being acquired of each affected family;

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Right	t Side				
1	PTS-138/41	Near Naida Bhavrawada Junction	<ol> <li>Mrs. Indu Meggi</li> <li>Mr. Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.09.07	24.00
2	PTS-138/42	-do-	Shri Karsan Keshav	0.08.41	64.00
3	PTS-138/44	-do-	Shri Rafik Abdulajij Kasmani	0.19.20	89.00
4	PTS-138/43	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr. Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.06.62	110.00
5	PTS-138/46	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr. Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.19.14	123.00
6	PTS-138/47	-do-	Mrs. Vanitaben Valji Vaja	0.53.95	462.00
7	PTS-138/48	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.12.82	126.00
8	PTS-138/49	-do-	<ol> <li>Smt. Rukshana Ibrahim Kasmani</li> <li>Shri Hanif Suleman Kasmani</li> <li>Shri Ibrahim Suleman</li> <li>Shri Kasmani Samir Sarif</li> <li>Shri Faisal Mohmad Sharif</li> </ol>	0.12.39	139.00
9	PTS-154/7-A	Near Gaushala Fudam	<ol> <li>Mrs. Indu Meggi</li> <li>Mr. Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.15.15	507.00
10	PTS-154/6	Near Hindu Crematorium	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.10.33	175.00
11	PTS-161/2	Near Hindu Crematorium	Smt. Lakhubai Mandan	0.38.43	45.00
12	PTS-161/1	Near Hindu Crematorium	Fudam Khadia Gnati (Provisional)	0.07.12	368.00
13	PTS-157/24	Near Hindu Crematorium	Mrs. Jayaben Premji and Mr. Sanjay Shankarlal Babu as Occupant Class- II	0.58.48	578.00

#### THE GAZETTE OF DNH & DD

14	PTS-160/6	Near Tea Shop	Chunilal Lalji	0.14.06	843.00		
15	PTS-160/8/7	Near Tea Shop	O: Visnu Narotam T: Rajibai Keshav (Provisional)	0.02.25	121.00		
16	PTS-160/8/6	Near Tea Shop	O: Visnu Narotam T: Premibai Vodhav (Provisional)	0.01.81	109.00		
17	PTS-160/8/5	Near Tea Shop	O: Visnu Narotam T: Premji Madha (Provisional)	0.03.50	202.00		
18	PTS-160/8/4	Near Tea Shop	O: Visnu Narotam (Provisional)	0.26.14	523.00		
19	PTS-160/8/3	Near Tea Shop	O: Visnu Narotam T: Rajibai Keshav (Provisional)	0.02.87	123.00		
20	PTS-160/8/2	Near Tea Shop	O: Visnu Narotam T: Premji Madha (Provisional)	0.03.13	273.00		
21	PTS-160/8/1	Near Tea Shop	O: Visnu Narotam T: Premibai Vodhav (Provisional)	0.27.60	469.00		
	Grand Total:- 5473.00						

## 2. <u>Livelihoods lost in respect of land losers and landless whose livelihoods are primarily</u> <u>depends on the lands being acquired:</u>

Not applicable

- 3. <u>A list of public utilities and Government building which are affected or likely to be affected, where resettlement of affected families is involved;</u> Not applicable
- 4. Detail of the amenities and infrastructural facilities which are affected or likely to be affected, where resettlement of affected families is involved; Not applicable.
- Detail of any common property resources being acquired; Not applicable
- Criteria given in rule 7(4) of the RFCTLARR (CRRDP) Rules,2015
  - (a) List of the affected families with aadhaar number of its members, if available As per Preliminary Notification No. 65-06-LAQ-2021-22/2680 dated 07/02/2022.
  - (b) List of displaced families with Aadhar number of its members, if available: Nil
  - (c) List of infrastructure in the affected area Nil

#### (d) List of land holding in the affected area

As per Preliminary Notification No. 65-06-LAQ-2021-22/2680 dated 07/02/2022.

(e) List of trees, building, other immovable property or assets attached to the land or building which are to be acquired

Will be reflected in Final Award for Compensation on the basis of report submitted by PWD, Diu, Agriculture office, Diu and Forest Department, Diu

(f) List of trades or business in the affected area: Not Applicable.

riou ppilouoioi

(g) List of persons belonging to the Schedule Castes or Schedule Tribes, the handicapped or physically challenged persons in the affected area:-

Not Applicable

## **Rehabilitation and Resettlement Plan**

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the Rehabilitation and Resettlement scheme (RR Scheme) is drafted in consonance with section 16 and Second Schedule of theRFCTLARR Act, 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015.

#### Findings:-

As per the section 3(k) of RFCTLARR Act 2013, "Displaced Family" means any family who on the account of acquisition of land has to be relocated and resettled from the affected area to the resettlement area. In the present case, the land being acquired is not used by affected family for residential purpose. It is evident that the affected family does not need relocation and resettlement as per the report of joint field survey as mentioned earlier. Further, as per the physical verification by the committee and observed that the said both land is used for commercial purpose (Hotel purpose), therefore, it is not considered for the purpose of affected families, as it is a commercial establishment.

Therefore, Rehabilitation and Resettlement scheme is not applicable for proposed land acquisition.

Dated: 03/07/2023 No. 65-03-LAQ/2021-22/425

#### Submitted by

Sd/-(Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## Summary format for Rehabilitation and Resettlement Scheme (ELEMENTS OF REHABILITATION AND RESETTLEMENT ENTITLEMENTS FOR ALL THE AFFECTED FAMILIES)

1.			Land acquisition of private land for widening of roa			
	Bhavrawada Junction to Gangeshwar Temple Complex for Coastal Promenade Project of Diu					
2	Smart City					
2.	Name/ Names of persons interested in the land and the nature of their respective claim for rehabilitation and resettlement: as in SI. No. 4					
3.		-	ons of Rehabilitation and Resettlement entitlements give	ven to the affected		
		y: Not Applicabl	e	1		
4.	Sr. No.		Specification Provision	Recommendation		
	1	Provision of housing units in case of displacement	(1) If a house is lost in rural areas, a constructed house shall be provided as per the Indira Awas Yojana specifications. If a house is lost in urban areas, a constructed house shall be provided, which will be not less than 50 sqmts in plinth area.	Not applicable, the land being acquired is not used by affected family for		
			(2) The benefits listed above shall also be extended to any affected family which is without homestead land and which has been residing in the area continuously for a period of not less than three years preceding the date of notification of the affected area and which has been involuntarily displaced from such area:Provided that any such family in urban areas which opts not to take the house offered, shall get a one-time financial assistance for house construction, which shall not be less than one lakh fifty thousand rupees: Provided further that if any affected family in rural areas so prefers, the equivalent cost of the house may be offered in lieu of the constructed house:	residential purpose.		
			Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act. <i>Explanation.</i> —The houses in urban areas may, if necessary, be provided in multi-storied building complexes.			
	2	Land for Land	In the case of irrigation project, each affected family owning agricultural land in the affected area and whose land has been acquired or lost, or who has, as a consequence of the acquisition or loss of land, been reduced to the status of a marginal farmer or landless, shall be allotted, in the name of each person included in the records of rights with regard to the affected family, a minimum of one acre of land in the command area of the project for which the land is acquired:	Not Applicable as it is not an irrigation project.		
			Provided that in every project those persons losing land and belonging to the Scheduled Castes or Scheduled Tribes will be provided land equivalent to land acquired or two and a one half acres, whichever is lower.			

3	Offer for Developed Land	In case the land is acquired for Developed urbanisation purposes, twenty Land per cent of the developed land will be reserved and offered to land owning project affected families, in proportion to the area of their land acquired and at a price equal to the cost of acquisition and the cost of development: Provided that in cases the landowning project affected family wishes to avail of this offer, an equivalent amount will be deducted from the land acquisition compensation package payable to it.	Not applicable as land is not being acquired for urbanization purpose
4	Choice of Annuity or Employment	The appropriate Government shall ensure that the affected families are provided with the following options: (a) where jobs are created through the project, 'after providing suitable training and skill development in the required field, make provision for employment at a rate not lower than the minimum wages provided for in any other law for the time being in force, to at least one member per affected family in the project or arrange for a job in such other project as may be required; or (b) onetime payment of five lakhs rupees per affected family; or (c) Annuity policies that shall pay not less than two thousand rupees per month per family for twenty years, with appropriate indexation to the Consumer Price Index for Agricultural Labourers.	Not applicable
5	Subsistence grant for displaced families for a period of one year	Each affected family which is displaced from the land acquired shall be given a monthly subsistence allowance equivalent to three thousand rupees per month for a period of one year from the date of award. In addition to this amount, the Scheduled Castes and the Scheduled Tribes displaced from Scheduled Areas shall receive an amount equivalent to fifty thousand rupees. In cases of displacement from the Scheduled Areas, as far as possible, the affected families shall be relocated in a similar ecological zone, so as to preserve the economic opportunities, language, culture and community life of the tribal communities.	Not applicable, the land being acquired is not used by affected family for residential purpose.
6	Transportation cost for displaced families	Each affected family which is displaced shall get a one-time financial assistance of fifty thousand rupees as transportation cost for shifting of the family, building materials, belongings and cattle	Not applicable, the land being acquired is not used by affected family for residential purpose.

7	Cattle shed/petty shops cost	Each affected family having cattle or having a petty shop shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty- five thousand rupees for construction of cattle shed or petty shop as the case may be.	Not applicable as none of the cattle shed or petty shop is getting affected
8	One time grant to artisan, small traders and certain others	Each affected family of an artisan, small trader or self-employed person or an affected family which owned non-agricultural land or commercial, industrial or institutional structure in the affected area, and which has been involuntarily displaced from the affected area due to land acquisition, shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees.	Not applicable
9	Fishing rights	In cases of irrigation or hydel projects, the affected families may be allowed fishing rights in the reservoirs, in such manner as may be prescribed by the appropriate Government.	Not applicable as it is not an irrigation or hydel project.
10	One-time Resettlement Allowance	Each affected family shall be given a one-time "Resettlement Allowance" of fifty thousand rupees only.	Not applicable
11	Stamp duty and registration fee	<ol> <li>(1) The stamp duty and other fees payable for registration of the land or house allotted to the affected families shall be borne by the Requiring Body.</li> <li>(2) The land for house allotted to the affected families shall be free from all encumbrances.</li> <li>(3) The land or house allotted may be in the joint names of wife and husband of the affected family.</li> </ol>	Not applicable

Sd/– (Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

#### ANNEXURE – A

## संघ प्रदेश दादरा एवं नगर हवेली और दमण एवं दीव प्रशासन/ U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU, समाहर्ता का कार्यालय, दीव/OFFICE OF THE COLLECTOR, DIU-362520

## FORM-II [SeeSection 11(1) and Rule 4] PRELIMINARY NOTIFICATION

#### No. 65-06-LAQ-2021-22/2 68 .

#### Date: - 07/02/2022

Whereas, it appears to the appropriate Government that a total of 5473.00 Sq. Mtrs. land is required in Diu District, namely land acquisition of private land for widening of road stretch of Naida Bhavrawada Junction to Gangeshwar Temple Complex for Coastal Promenade Project of Diu Smart City, for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

 It is notified that for the above said project in Diu District, a piece of land admeasuring 5473.00 Sq. Mtrs. of standard measurements is required. Details of the land acquisition is enclosed as Annexure-I.

 This Notification is made under the provisions of Section-11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 (30 of RFCTLARR, 2013), to all whom it may concern.

4. A plan of the land may be inspected in Office of the Collector, Diu and Executive Engineer, PWD, Diu (Requiring Body) during the working days and working hours. Social Impact Assessment Report is also available on the official website of Diu District Administration i.e. www.diu.nic.in. Further, it is also informed that the Deputy Collector, Diu is appointed as Administrator under section 43 of RFCTLARRAct 2013 is also appointed vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2291 dated 04/08/2015.

5. The Government is pleased to authorize Mamlatdar, Diu and concerned Talathi to enter upon and survey land, take levels of any land, dig or bore into the sub-soil and do all other acts required for the proper execution of their work as provided and specified in Section-12 of the said Act.

6. Under Section-11(4) of the Act, no person shall make any transaction or cause any transaction of land i.e. sale / purchase, etc. or create any encumbrances on such land from the date of publication without prior approval of the Collector, Diu.

7. Objections to the acquisition, if any, may be filed by the person interested within 60 (Sixty days) from the date of publication of this notification as provided under Section-15 of the Act before Collector.

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: •4/09/2022

## ANNEXURE - I

## No. 65-06-LAQ-2021-22/2680

Name of Project: - land acquisition of private land for widening of road stretch of Naida Bhavrawada Junction to Gangeshwar Temple Complex for Coastal Promenade Project of Diu Smart City

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Righ	t Side	1		neetures	
1	PTS- 138/41	Near Naida Bhavrawada Junction	<ol> <li>Mrs. Indu Meggi</li> <li>Mr. Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.09.07	24.00
2	PTS- 138/42	-do-	Shri Karsan Keshav	0.08.41	64.00
3	PTS- 138/44	-do-	Shri Rafik Abdulajij Kasmani	0.19.20	89.00
4	PTS- 138/43	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.06.62	110.00
5	PTS- 138/46	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.19.14	123.00
6	PTS- 138/47	-do-	Mrs. Vanitaben Valji Vaja	0.53.95	462.00
7	PTS- 138/48	-do-	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.12.82	126.00
8	PTS- 138/49	-do-	<ol> <li>Smt. Rukshana Ibrahim Kasmani</li> <li>Shri Hanif Suleman Kasmani</li> <li>Shri Ibrahim Suleman</li> <li>Shri Kasmani Samir Sarif</li> <li>Shri Faisal Mohmad Sharif</li> </ol>	0.12.39	139.00

## THE GAZETTE OF DNH & DD

9	PTS-154/7- A	Near Gaushala	1. Mrs. Indu Meggi 2. Mr.Yagneshkumar	0.15.15	507.00
	a"	Fudam ,	Premgi Maugi Premgi Maugi 4. Mr. Jaileshkumar Premgi Maugi 5. Mr. Hermind Maugi	· • • •	
10	PTS-154/6	Near Hindu Crematoriu m	<ol> <li>Mrs. Indu Meggi</li> <li>Mr.Yagneshkumar Premgi Maugi</li> <li>Mr. Vileshkumar Premgi Maugi</li> <li>Mr. Jaileshkumar Premgi Maugi</li> <li>Mr. Hermind Maugi</li> </ol>	0.10.33	175.00
11	PTS-161/2	Near Hindu Crematoriu m	Smt. Lakhubai Mandan	0.38.43	45.00
12	PTS-161/1	Near Hindu Crematoriu m	Fudam Khadia Gnati (Provisional)	0.07.12	368.00
13	PTS- 157/24	Near Hindu Crematoriu m	Mrs. Jayaben Premji and Mr. Sanjay Shankarlal Babu as Occupant Class-II	0.58.48	578.00
14	PTS-160/6	Near Tea Shop	Chunilal Lalji	0.14.06	843.00
15	PTS- 160/8/7	Near Tea Shop	O: Visnu Narotam T: Rajibai Keshav (Provisional)	0.02.25	121.00
16	PTS- 160/8/6	Near Tea Shop	O: Visnu Narotam T: Premibai Vodhav (Provisional)	0.01.81	109.00
17	PTS- 160/8/5	Near Tea Shop	O: Visnu Narotam T: Premji Madha (Provisional)	0.03.50	202.00
18	PTS- 160/8/4	Near Tea Shop	O: Visnu Narotam (Provisional)	0.26.14	523.00
19	PTS- 160/8/3	Near Tea Shop	O: Visnu Narotam T: Rajibai Keshav (Provisional)	0.02.87	123.00
20	PTS- 160/8/2	Near Tea Shop	O: Visnu Narotam T: Premji Madha (Provisional)	0.03.13	273.00
21	PTS- 160/8/1	Near Tea Shop	O: Visnu Narotam T: Premibai Vodhav (Provisional)	0.27.60	469.00
			Gra	and Total:-	5473.00

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: 07/09/2022 Draft Report of the Administrator for Rehabilitation and Resettlement Scheme u/s 16 of the Right to Fair Compensation and Transparency in Land Acquisition Rehabilitation and Resettlement Act, 2013 in respect of Land Acquisition for stretch from Diu Zampa to Be-Otli Junction for street development Project of Diu Smart City

## Preface:-

Vide Preliminary Notification No. 65-08-LAQ-2021-22/2679 dated 07/02/2022 (Copy attached as annexure-A),land admeasuring total 1167.00 Sq.mtrs.in Diu District was notified u/s 11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, project for namely "Land Acquisition for stretch from Diu Zampa to Be-Otli Junction for street development Project of Diu Smart City", for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

Vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2296 dated 04/08/2015 the undersigned has been appointed as the Administrator under sub section (1) of Section 43 of the said act for Rehabilitation and Resettlement of affected families due to acquisition of the said land parcels.

As per section 16 of RFCTLARR Act 2013, Preparation of Rehabilitation and Resettlement Scheme by the Administrator should be done.

### Methodology:-

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the undersigned has been appointed as the Administrator toprepare Rehabilitation and Resettlement scheme.

Therefore, vide order No.65-08-LAQ/2021-22/3034 dated 03/03/2022, a committee was constituted to obtain a report on Section 16 of RFCTLARR Act 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015, to conduct a field survey of proposed land with concerned Talathi of the area, Planning Assistant, Diu, Enquiry Officer, Diu and Mamlatdar, Diu had visited the sites. The report has been received from Mamlatdar, Diu.

#### **Details of Public Hearing**

This section of the report will be prepared after public hearing.

## **Other Measure: -**

Based on the survey conducted by Rehabilitation and Resettlement Committee and report received from Mamlatdar, Diu, the Rehabilitation and Resettlement Scheme is worked out which is detailed below: -

- Criteria given in Section 16 of the RFCTLARR Act, 2013
- 1. <u>Particulars of lands and immovable properties being acquired of each affected family;</u>

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Left S	Side	I		I	•
1	PTS-112/2/1	Near Sai Baba Temple	Shri Devchand Lala Solanki and Shri A. Aziz A. Latif Vora	0.02.00	45.00
2	PTS-112/2	Near Sai Baba Temple	Shri Devchand Lala Solanki and Shri A. Aziz A. Latif Vora	0.02.32	232.00
3	PTS-112/2/2/A	Near Sai Baba Temple	Smt. Kulsum A. Aziz Vora and Shri A. Aziz A. Latif Vora	0.01.00	100.00
4	PTS-112/2/3/B	Near Sai Baba Temple	Smt. Kulsum A. Aziz Vora	0.02.09	209.00
5	PTS-112/2/4/A	Near Sai Baba Temple	Shri Sajid Abdulla Kasmani	0.00.62	62.00
6	PTS-112/2/5/B	Near Sport Complex	Shri Sajid Abdulla Kasmani	0.00.60	60.00
7	PTS-112/2/6/A	Near Sport Complex	Shri Sajid Abdulla Kasmani	0.00.60	60.00
8	PTS-112/2/7/A	Near Sport Complex	Shri Sajid Abdulla Kasmani	0.00.59	59.00
9	PTS-112/2/8/A	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.58	58.00
10	PTS-112/2/9/B	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.57	57.00
11	PTS-112/2/ 10/A	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.57	57.00
12	PTS-112/2/ 11	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.87	87.00
13	PTS-111/4/A	Near Be-Otli Circle	Shri Prakash Jadavji Joshi as Occupant Class-II	0.01.06	02.00
14	PTS-111/4/A/3	Near Be-Otli Circle	Shri Rajendragiri Shambhugiri Goswami as Occupant Class-II	0.03.68	39.00
15	PTS-111/4/A/2	Near Be-Otli Circle	Shri Tanesh Shambugiri Goswami as Occupant Class-II	0.03.16	22.00
16	PTS-111/4/A/1	Near Be-Otli Circle	Shri Ritesh Shambugiri Goswami as Occupant Class-II	0.03.62	18.00
			• • • • • • • • • • • • • • • • • • •	Grand Total:-	1167.00

# 2. Livelihoods lost in respect of land losers and landless whose livelihoods are primarily depends on the lands being acquired;

Not applicable

- 3. <u>A list of public utilities and Government building which are affected or likely to be affected, where resettlement of affected families is involved;</u> Not applicable
- 4. Detail of the amenities and infrastructural facilities which are affected or likely to be affected, where resettlement of affected families is involved; Not applicable.
- 5. <u>Detail of any common property resources being acquired;</u> Not applicable
- Criteria given in rule 7(4) of the RFCTLARR (CRRDP) Rules,2015
  - (a) List of the affected families with aadhaar number of its members, if available As per Preliminary Notification No. 65-08-LAQ-2021-22/2679 dated 07/02/2022.
  - (b) List of displaced families with Aadhar number of its members, if available: Nil
  - (c) List of infrastructure in the affected area Nil
  - (d) List of land holding in the affected area

As per Preliminary Notification No. 65-08-LAQ-2021-22/2679 dated 07/02/2022.

- (e) List of trees, building, other immovable property or assets attached to the land or building which are to be acquired
   Will be reflected in Final Award for Compensation on the basis of report submitted by PWD, Diu, Agriculture office, Diu and Forest Department, Diu
- (f) List of trades or business in the affected area: Not Applicable.
- (g) List of persons belonging to the Schedule Castes or Schedule Tribes, the handicapped or physically challenged persons in the affected area:-

Not Applicable

#### **Rehabilitation and Resettlement Plan**

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the Rehabilitation and Resettlement scheme (RR Scheme) is drafted in consonance with section 16 and Second Schedule of theRFCTLARR Act, 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015.

## Findings:-

As per the section 3(k) of RFCTLARR Act 2013, "Displaced Family" means any family who on the account of acquisition of land has to be relocated and resettled from the affected area to the resettlement area. In the present case, the land being acquired is not used by affected family for residential purpose. It is evident that the affected family does not need relocation and resettlement as per the report of joint field survey as mentioned earlier. Further, as per the physical verification by the committee and observed that the said both land is used for commercial purpose (Hotel purpose), therefore, it is not considered for the purpose of affected families, as it is a commercial establishment.

Therefore, Rehabilitation and Resettlement scheme is not applicable for proposed land acquisition.

Dated: 03/07/2023 No. 65-08-LAQ/2021-22/428 Submitted by

Sd/-(Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## Summary format for Rehabilitation and Resettlement Scheme (ELEMENTS OF REHABILITATION AND RESETTLEMENT ENTITLEMENTS FOR ALL THE AFFECTED FAMILIES)

1.	5 1 1								
	stree	street development Project of Diu Smart City							
2.			ons interested in the land and the nature of their respec	ctive claim for					
	rehal	oilitation and rese	ettlement: as in SI. No. 4						
3.	Time	e limit for provisi	ons of Rehabilitation and Resettlement entitlements g	iven to the affected					
		ly: Not Applicabl	e	1					
4.	Sr.								
	No.		Specification Provision	Recommendation					
	1	Provision of housing units in case of displacement	<ul> <li>(1) If a house is lost in rural areas, a constructed house shall be provided as per the Indira Awas Yojana specifications. If a house is lost in urban areas, a constructed house shall be provided, which will be not less than 50 sq mts in plinth area.</li> <li>(2) The benefits listed above shall also be extended to any affected family which is without homestead land and which has been residing in the area continuously for a period of not less than three years preceding the date of notification of the affected area and which has been involuntarily displaced from such area: Provided that any such family in urban areas which opts not to take the house offered, shall get a one-time financial assistance for house construction, which shall not be less than one lakh fifty thousand rupees: Provided further that if any affected family in rural areas so prefers, the</li> </ul>	Not applicable, the land being acquired is not used by affected family for residential purpose.					

		equivalent cost of the house may be offered in lieu of the constructed house:	
		Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act. <i>Explanation.</i> —The houses in urban areas may, if necessary, be provided in multi-storied building complexes.	
2	Land for Land	In the case of irrigation project, each affected family owning agricultural land in the affected area and whose land has been acquired or lost, or who has, as a consequence of the acquisition or loss of land, been reduced to the status of a marginal farmer or landless, shall be allotted, in the name of each person included in the records of rights with regard to the affected family, a minimum of one acre of land in the command area of the project for which the land is acquired:	Not Applicable as it is not an irrigation project.
		Provided that in every project those persons losing land and belonging to the Scheduled Castes or Scheduled Tribes will be provided land equivalent to land acquired or two and a one half acres, whichever is lower.	
3	Offer for Developed Land	In case the land is acquired for Developed urbanisation purposes, twenty Land per cent of the developed land will be reserved and offered to land owning project affected families, in proportion to the area of their land acquired and at a price equal to the cost of acquisition and the cost of development:	Not applicable as land is not being acquired for urbanization purpose
		Provided that in cases the landowning project affected family wishes to avail of this offer, an equivalent amount will be deducted from the land acquisition compensation package payable to it.	
4	Choice of Annuity or Employment	The appropriate Government shall ensure that the affected families are provided with the following options: (a) where jobs are created through the project, 'after providing suitable training and skill development in the required field, make provision for employment at a rate not lower than the minimum wages provided for in any other law for the time being in force, to at least one member per affected family in the project or arrange for a job in such other project	Not applicable
		<ul><li>(b) onetime payment of five lakhs rupees per affected family; or</li><li>(c) Annuity policies that shall pay not less than two thousand rupees per month per family for twenty</li></ul>	
	3	3     Offer for Developed Land       4     Choice of Annuity or	a       of the constructed house:         Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act.         Explanation.—The houses in urban areas may, if necessary, be provided in multi-storied building complexes.         2       Land for Land       In the case of irrigation project, each affected family owning agricultural land in the affected area and whose land has been acquired or lost, or who has, as a consequence of the acquisition or loss of land, been reduced to the status of a marginal farmer or landless, shall be allotted, in the name of each person included in the records of rights with regard to the affected family, a minimum of one acre of land in the command area of the project for which the land is acquired:         3       Offer for Developed Land acquisation purposes, twenty Land per cent of the developed land will be reserved and offered to land owning project affected families, in proportion to the area of their land acquired and at a price equal to the cost of acquisition and the cost of development:         4       Choice of Annuity or Employment         4       Choice of Annuity or Employment         6       The appropriate Government shall ensure that the affected families are provided with the following options: <ul> <li>(a) where jobs are created through the project, "after providing suitable training and skill development in the required field, make provised no ther project affected family in the project or arrange for a job in such other project as may be required if eact and acquired field, make provided with the following options:</li> <li>(b) onetime payment of five lakhs rupees per affected family: or</li></ul>

			I uge 20
5	Subsistence grant for displaced families for a period of one year	Each affected family which is displaced from the land acquired shall be given a monthly subsistence allowance equivalent to three thousand rupees per month for a period of one year from the date of award. In addition to this amount, the Scheduled Castes and the Scheduled Tribes displaced from Scheduled Areas shall receive an amount equivalent to fifty thousand rupees. In cases of displacement from the Scheduled Areas, as far as possible, the affected families shall be relocated in a similar ecological zone, so as to preserve the economic opportunities, language, culture and community life of the tribal communities.	Not applicable, the land being acquired is not used by affected family for residential purpose.
6	Transportation cost for displaced families	Each affected family which is displaced shall get a one-time financial assistance of fifty thousand rupees as transportation cost for shifting of the family, building materials, belongings and cattle	Not applicable, the land being acquired is not used by affected family for residential purpose.
7	Cattle shed/petty shops cost	Each affected family having cattle or having a petty shop shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees for construction of cattle shed or petty shop as the case may be.	Not applicable as none of the cattle shed or petty shop is getting affected
8	One time grant to artisan, small traders and certain others	Each affected family of an artisan, small trader or self-employed person or an affected family which owned non-agricultural land or commercial, industrial or institutional structure in the affected area, and which has been involuntarily displaced from the affected area due to land acquisition, shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees.	Not applicable
9	Fishing rights	In cases of irrigation or hydel projects, the affected families may be allowed fishing rights in the reservoirs, in such manner as may be prescribed by the appropriate Government.	Not applicable as it is not an irrigation or hydel project.
10	One-time Resettlement Allowance	Each affected family shall be given a one-time "Resettlement Allowance" of fifty thousand rupees only.	Not applicable
11	Stamp duty and registration fee	<ol> <li>(1) The stamp duty and other fees payable for registration of the land or house allotted to the affected families shall be borne by the Requiring Body.</li> <li>(2) The land for house allotted to the affected families shall be free from all encumbrances.</li> <li>(3) The land or house allotted may be in the joint names of wife and husband of the affected family.</li> </ol>	Not applicable

Sd/– (Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## ANNEXURE – A संघ प्रदेश दादरा एवं नगर हवेली और दमण एवं दीव प्रशासन/ U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU, समाहर्ता का कार्यालय, दीव/OFFICE OF THE COLLECTOR, DIU-362520

## FORM-II [SeeSection 11(1) and Rule 4] PRELIMINARY NOTIFICATION

#### No. 65-08-LAQ-2021-22/2679

Date: -07/09/2022

Whereas, it appears to the appropriate Government that a total of 1167.00 Sq. Mtrs. land is required in Diu District, namely Land Acquisition for stretch from Diu Zampa to Be-Otli Junction for street development Project of Diu Smart City, for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

 It is notified that for the above said project in Diu District, a piece of land admeasuring 1167.00 Sq. Mtrs. of standard measurements is required. Details of the land acquisition is enclosed as Annexure-I.

 This Notification is made under the provisions of Section-11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 (30 of RFCTLARR, 2013), to all whom it may concern.

4. A plan of the land may be inspected in Office of the Collector, Diu and Executive Engineer, PWD, Diu (Requiring Body) during the working days and working hours. Social Impact Assessment Report is also available on the official website of Diu District Administration i.e. www.diu.nic.in. Further, it is also informed that the Deputy Collector, Diu is appointed as Administrator under section 43 of RFCTLARRAct 2013 is also appointed vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2291 dated 04/08/2015.

5. The Government is pleased to authorize **Mamlatdar**, **Diu** and concerned **Talathi** to enter upon and survey land, take levels of any land, dig or bore into the sub-soil and do all other acts required for the proper execution of their work as provided and specified in Section-12 of the said Act.

6. Under Section-11(4) of the Act, no person shall make any transaction or cause any transaction of land i.e. sale / purchase, etc. or create any encumbrances on such land from the date of publication without prior approval of the Collector, Diu.

 Objections to the acquisition, if any, may be filed by the person interested within 60 (Sixty days) from the date of publication of this notification as provided under Section-15 of the Act before Collector.

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: <del>\$\$\0\$</del>/2022 \$\$\$7 \0\$/

#### ANNEXURE - I

## No. 65-08-LAQ-2021-22/2673

Name of Project: - Land acquisition of private land for stretch from Diu Zampa to Be-Otli Junction for street development Project of Diu Smart City

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Propert y in Hectare	Area of land to be acquired in sq.mts.
Left	Side				
1	PTS- 112/2/1	Near Sai Baba Temple	Shri Devchand Lala Solanki and Shri A. Aziz A. Latif Vora	0.02.00	45.00
2	PTS-112/2	Near Sai Baba Temple	Shri Devchand Lala Solanki and Shri A. Aziz A. Latif Vora	0.02.32	232.00
3	PTS- 112/2/2/A	Near Sai Baba Temple	Smt. Kulsum A. Aziz Vora and Shri A. Aziz A. Latif Vora	0.01.00	100.00
4	PTS- 112/2/3/B	Near Sai Baba Temple	Smt. Kulsum A. Aziz Vora	0.02.09	209.00
5	PTS- 112/2/4/A	Near Sai Baba Temple	Shri Sajid Abdulla Kasmani	0.00.62	62.00
6	PTS- 112/2/5/B	Near Sport Complex	Shri Sajid Abdulla Kasmani	0.00.60	60.00
7	PTS- 112/2/6/A	Near Sport Complex	Shri Sajid Abdulla Kasmanî	0.00.60	60.00
8	PTS- 112/2/7/A	Near Sport Complex	Shri Sajid Abdulla Kasmani	0.00.59	59.00
9	PTS- 112/2/8/A	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.58	58.00
10	PTS- 112/2/9/B	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.57	57.00
11	PTS-112/2/ 10/A	Near Sport Complex	Shri Mahmad Matin A. Aziz Vora	0.00.57	57.00
12	PTS-112/2/ 11	Near Sport Complex	Vora	0.00.87	87.00
13	PTS- 111/4/A	Near Be- Otli Circle	Occupant Class-II	0.01.06	02.00
14	PTS- 111/4/A/3	Near Be- Otli Circle	Shri Rajendragiri Shambhugiri Goswami as Occupant Class-II	0.03.68	39.00
15	PTS- 111/4/A/2	Near Be- Otli Circle		0.03.16	22.00
16	PTS- 111/4/A/1	Near Be- Otli Circle		0.03.62	18.00
	10. The second s			and Total:-	1167.00

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date:07/09/2022 Draft Report of the Administrator for Rehabilitation and Resettlement Scheme u/s 16 of the Right to Fair Compensation and Transparency in Land Acquisition Rehabilitation and Resettlement Act, 2013 in respect of land acquisition for widening of road stretch from INS Khukri Junction (Gandhi Circle) to Naida Bhavrawada Junction for coastal promenade project of Diu Smart City.

## Preface:-

Vide Preliminary Notification No.65-05-LAQ/2021-22/2678 dated 07/02/2021 (Copy attached as annexure-A),land admeasuring total 6838.00 Sq.mtrs.in Diu District was notified u/s 11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, project for namely "land acquisition for widening of road stretch from INS Khukri Junction (Gandhi Circle) to Naida Bhavrawada Junction for coastal promenade project of Diu Smart City", for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

VideNotification No. 5/2/COL/Land/RFCTLARR/2015-16/2296 dated 04/08/2015 the undersigned has been appointed as the Administrator under sub section (1) of Section 43 of the said act for Rehabilitation and Resettlement of affected families due to acquisition of the said land parcels.

As per section 16 of RFCTLARR Act 2013, Preparation of Rehabilitation and Resettlement Scheme by the Administrator should be done.

## Methodology:-

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the undersigned has been appointed as the Administrator toprepare Rehabilitation and Resettlement scheme.

Therefore, vide order No.65-05-LAQ/2021-22/3037 dated 03/03/2022, a committee was constituted to obtain a report on Section 16 of RFCTLARR Act 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015, to conduct a field survey of proposed land with concerned Talathi of the area, Planning Assistant, Diu, Enquiry Officer, Diu and Mamlatdar, Diu had visited the sites. The report has been received from Mamlatdar, Diu.

#### **Details of Public Hearing**

This section of the report will be prepared after public hearing.

## **Other Measure: -**

Based on the survey conducted by Rehabilitation and Resettlement Committee and report received from Mamlatdar, Diu, the Rehabilitation and Resettlement Scheme is worked out which is detailed below: -

- Criteria given in Section 16 of the RFCTLARR Act, 2013
- 1. <u>Particulars of lands and immovable properties being acquired of each affected family;</u>

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Right	Side	I			
1	PTS- 166/12/2	Near Gandhi Circle	Mr. Cantilal Emichand	1.27.00	641.00
2	PTS- 166/12/1	Near Gandhi Circle	Mr. Jayes Santilal	1.27.00	1221.00
3	PTS- 166/11	Near Gandhi Circle	Shri Kanji Lakhman	0.33.89	582.00
4	PTS-170/9	Near Parking side	Durlaba Hira	0.06.58	171.00
5	PTS-170/8	Near Parking side	Shri Mahendra Dhanji and Shri Vimarcant Dhanji	0.03.46	99.00
6	PTS-170/7	Near Parking side	Shri Prakash Maugi and Smt. Premilaben Velgi	0.03.57	118.00
7	PTS-170/6	Near Parking side	Aracchande Deuchande	0.04.64	164.00
8	PTS-170/5	Near Parking side	Purushottam Jina (Provisional)	0.07.77	192.00
9	PTS-171/2	Near Parking side	<ol> <li>Smt. Indumatiben Ottamchand</li> <li>Shri Dipak Ottamchand</li> <li>Shi Dharmendra Ottamchand</li> <li>Shri Pramod Ottamchand</li> </ol>	0.35.76	47.00
10	PTS-171/1	Near Parking side	Shri Purshottam Mandan	0.21.11	43.00
11	PTS-165/5	Near Parking side	Smt. Kashibai Kanji	0.75.76	759.00
12	PTS-153/5	Near Turning Point	Smt. Manibai Durlabh and Tarvenibai Lavchand	2.15.76	964.00
13	PTS-164/2- A	Near Cemetery	Sunni Vora Jamat, Diu Class-II	0.81.95	1610.00
14	PTS-153/1	Near Cemetery	Vashram Bhika (Provisional)	0.26.09	227.00
				Frand Total:-	6838.00

2. <u>Livelihoods lost in respect of land losers and landless whose livelihoods are primarily</u> <u>depends on the lands being acquired;</u>

Not applicable

- 3. <u>A list of public utilities and Government building which are affected or likely to be affected, where resettlement of affected families is involved;</u> Not applicable
- 4. Detail of the amenities and infrastructural facilities which are affected or likely to be affected, where resettlement of affected families is involved;

Not applicable.

- 5. <u>Detail of any common property resources being acquired;</u> Not applicable
- Criteria given in rule 7(4) of the RFCTLARR (CRRDP) Rules,2015
  - (a) List of the affected families with aadhaar number of its members, if available As per Preliminary Notification No.65-05-LAQ/2021-22/2678 dated 07/02/2021.
  - (b) List of displaced families with Aadhar number of its members, if available: Nil
  - (c) List of infrastructure in the affected area

Nil

(d) List of land holding in the affected area

As per Preliminary Notification No.65-05-LAQ/2021-22/2678 dated 07/02/2021.

(e) List of trees, building, other immovable property or assets attached to the land or building which are to be acquired

Will be reflected in Final Award for Compensation on the basis of report submitted by PWD, Diu, Agriculture office, Diu and Forest Department, Diu

(f) List of trades or business in the affected area:

Not Applicable.

(g) List of persons belonging to the Schedule Castes or Schedule Tribes, the handicapped or physically challenged persons in the affected area:-

Not Applicable

## **Rehabilitation and Resettlement Plan**

As per chapter VI, procedure and manner of Rehabilitation and Resettlement Section 43 of RFCTLARR Act, 2013, the Rehabilitation and Resettlement scheme (RR Scheme) is drafted in consonance with section 16 and Second Schedule of the RFCTLARR Act, 2013 and Rule 7 of RFCTLARR (Compensation, Rehabilitation and Resettlement and Development Plan) Rules 2015.

#### Findings:-

As per the section 3(k) of RFCTLARR Act 2013, "Displaced Family" means any family who on the account of acquisition of land has to be relocated and resettled from the affected area to the resettlement area. In the present case, the land being acquired is not used by affected family for residential purpose. It is evident that the affected family does not need relocation and resettlement as per the report of joint field survey as mentioned earlier. Further, as per the physical verification by the committee and observed that the said lands are not used for residential purpose.

Page 32

Therefore, Rehabilitation and Resettlement scheme is not applicable for proposed land acquisition.

Dated: 03/07/2023

No. 65-08-LAQ/2021-22/428

Submitted by

Sd/-(Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## Summary format for Rehabilitation and Resettlement Scheme (ELEMENTS OF REHABILITATION AND RESETTLEMENT ENTITLEMENTS FOR ALL THE AFFECTED FAMILIES)

1.	Name of the Project: Land acquisition for widening of road stretch from INS Khukri Junction (Gandhi Circle) to Naida Bhavrawada Junction for coastal promenade project of Diu Smart City						
2.			ons interested in the land and the nature of their respect				
	rehabilitation and resettlement: as in SI. No. 4						
3.			ons of Rehabilitation and Resettlement entitlements g	iven to the affected			
4.	family: Not Applicable       Sr.						
4.	No.		Specification Provision	Recommendation			
	1	Provision of housing units in case of displacement	<ul> <li>(1) If a house is lost in rural areas, a constructed house shall be provided as per the Indira Awas Yojana specifications. If a house is lost in urban areas, a constructed house shall be provided, which will be not less than 50 sq mts in plinth area.</li> <li>(2) The benefits listed above shall also be extended to any affected family which is without homestead land and which has been residing in the area continuously for a period of not less than three years preceding the date of notification of the affected area and which has been involuntarily displaced from such area: Provided that any such family in urban areas which opts not to take the house offered, shall get a one-time financial assistance for house construction, which shall not be less than one lakh fifty thousand rupees: Provided further that if any affected family in rural areas so prefers, the equivalent cost of the house may be offered in lieu of the constructed house:</li> <li>Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act.</li> <li><i>Explanation.</i>—The houses in urban areas may, if necessary, be provided in multi-storied building complexes.</li> </ul>	Not applicable, the land being acquired is not used by affected family for residential purpose.			
	2	Land for Land	In the case of irrigation project, each affected family owning agricultural land in the affected area and whose land has been acquired or lost, or who has, as a consequence of the acquisition or loss of land, been reduced to the status of a marginal farmer or landless, shall be allotted, in the name of	Not Applicable as it is not an irrigation project.			

		<ul><li>each person included in the records of rights with regard to the affected family, a minimum of one acre of land in the command area of the project for which the land is acquired:</li><li>Provided that in every project those persons losing land and belonging to the Scheduled Castes or Scheduled Tribes will be provided land equivalent to land acquired or two and a one half acres, whichever is lower.</li></ul>	
3	Offer for Developed Land	In case the land is acquired for Developed urbanisation purposes, twenty Land per cent of the developed land will be reserved and offered to land owning project affected families, in proportion to the area of their land acquired and at a price equal to the cost of acquisition and the cost of development: Provided that in cases the landowning project affected family wishes to avail of this offer, an equivalent amount will be deducted from the land acquisition compensation package payable to it.	Not applicable as land is not being acquired for urbanization purpose
4	Choice of Annuity or Employment	The appropriate Government shall ensure that the affected families are provided with the following options: (a) where jobs are created through the project, 'after providing suitable training and skill development in the required field, make provision for employment at a rate not lower than the minimum wages provided for in any other law for the time being in force, to at least one member per affected family in the project or arrange for a job in such other project as may be required; or (b) onetime payment of five lakhs rupees per affected family; or (c) Annuity policies that shall pay not less than two thousand rupees per month per family for twenty years, with appropriate indexation to the Consumer Price Index for Agricultural Labourers.	Not applicable
5	Subsistence grant for displaced families for a period of one year	Each affected family which is displaced from the land acquired shall be given a monthly subsistence allowance equivalent to three thousand rupees per month for a period of one year from the date of award. In addition to this amount, the Scheduled Castes and the Scheduled Tribes displaced from Scheduled Areas shall receive an amount equivalent to fifty thousand rupees. In cases of displacement from the Scheduled Areas, as far as possible, the affected families shall be relocated in a similar ecological zone, so as to preserve the economic opportunities, language, culture and community life of the tribal communities.	Not applicable, the land being acquired is not used by affected family for residential purpose.

			I uge 5 i
6	Transportation cost for displaced families	Each affected family which is displaced shall get a one-time financial assistance of fifty thousand rupees as transportation cost for shifting of the family, building materials, belongings and cattle	Not applicable, the land being acquired is not used by affected family for residential purpose.
7	Cattle shed/petty shops cost	Each affected family having cattle or having a petty shop shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees for construction of cattle shed or petty shop as the case may be.	Not applicable as none of the cattle shed or petty shop is getting affected
8	One time grant to artisan, small traders and certain others	Each affected family of an artisan, small trader or self-employed person or an affected family which owned non-agricultural land or commercial, industrial or institutional structure in the affected area, and which has been involuntarily displaced from the affected area due to land acquisition, shall get one-time financial assistance of such amount as the appropriate Government may, by notification, specify subject to a minimum of twenty-five thousand rupees.	Not applicable
9	Fishing rights	In cases of irrigation or hydel projects, the affected families may be allowed fishing rights in the reservoirs, in such manner as may be prescribed by the appropriate Government.	Not applicable as it is not an irrigation or hydel project.
10	One-time Resettlement Allowance	Each affected family shall be given a one-time "Resettlement Allowance" of fifty thousand rupees only.	Not applicable
11	Stamp duty and registration fee	<ol> <li>(1) The stamp duty and other fees payable for registration of the land or house allotted to the affected families shall be borne by the Requiring Body.</li> <li>(2) The land for house allotted to the affected families shall be free from all encumbrances.</li> <li>(3) The land or house allotted may be in the joint names of wife and husband of the affected family.</li> </ol>	Not applicable

Sd/– (Shivam Mishra) Administrator (RR) U/s RFCTLARR Act 2013

## ANNEXURE – A

## संघ प्रदेश दादरा एवं नगर हवेली और दमण एवं दीव प्रशासन/ U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU, समाहर्ता का कार्यालय, दीव/OFFICE OF THE COLLECTOR, DIU-362520

## FORM-II [SeeSection 11(1) and Rule 4] PRELIMINARY NOTIFICATION

#### No. 65-05-LAQ-2021-22/ 2678

#### Date: - 07/01/2022

Whereas, it appears to the appropriate Government that a total of 6838.00 Sq. Mtrs. land is required in Diu District, namely Land Acquisition for land acquisition for widening of road stretch from INS Khukri Junction (Gandhi Circle) to Naida Bhavrawada Junction for coastal promenade project of Diu Smart City, for public purpose as defined in Section 2(1) (vi) of the RFCTLARR Act, 2013.

 It is notified that for the above said project in Diu District, a piece of land admeasuring 6838.00 Sq. Mtrs. of standard measurements is required. Details of the land acquisition is enclosed as Annexure-I.

 This Notification is made under the provisions of Section-11(1) of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 (30 of RFCTLARR, 2013), to all whom it may concern.

4. A plan of the land may be inspected in Office of the Collector, Diu and Executive Engineer, PWD, Diu (Requiring Body) during the working days and working hours. Social Impact Assessment Report is also available on the official website of Diu District Administration i.e. www.diu.nic.in. Further, it is also informed that the Deputy Collector, Diu is appointed as Administrator under section 43 of RFCTLARRAct 2013 is also appointed vide Notification No. 5/2/COL/Land/RFCTLARR/2015-16/2291 dated 04/08/2015.

5. The Government is pleased to authorize Mamlatdar, Diu and concerned Talathi to enter upon and survey land, take levels of any land, dig or bore into the sub-soil and do all other acts required for the proper execution of their work as provided and specified in Section-12 of the said Act.

6. Under Section-11(4) of the Act, no person shall make any transaction or cause any transaction of land i.e. sale / purchase, etc. or create any encumbrances on such land from the date of publication without prior approval of the Collector, Diu.

7. Objections to the acquisition, if any, may be filed by the person interested within 60 (Sixty days) from the date of publication of this notification as provided under Section-15 of the Act before Collector.

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date: 07/02/2022

#### ANNEXURE - I

## No. 65-05-LAQ-2021-22/ 2678

Name of Project: - Land acquisition for widening of road stretch from INS Khukri Junction (Gandhi Circle) to Naida Bhavrawada Junction for coastal promenade project of Diu Smart City

Sr. No.	Private Property Survey Nos.	Location	Owner of Property	Total Area of Property in Hectares	Area of land to be acquired in sq.mts.
Righ	t Side				
1	PTS- 166/12/ 2	Near Gandhi Circle	Mr. Cantilal Emichand	1.27.00	641.00
2	PTS- 166/12/ 1	Near Gandhi Circle	Mr. Jayes Santilal	1.27.00	1221.00
3	PTS- 166/11	Near Gandhi Circle	Shri Kanji Lakhman	0.33.89	582.00
4	PTS- 170/9	Near Parking side	Durlaba Hira	0.06.58	171.00
5	PTS- 170/8	Near Parking side	Shri Mahendra Dhanji and Shri Vimarcant Dhanji	0.03.46	99.00
6	PTS- 170/7	Near Parking side	Shri Prakash Maugi and Smt. Premilaben Velgi	0.03.57	118.00
7	PTS- 170/6	Near Parking side	Aracchande Deuchande	0.04.64	164.00
8	PTS- 170/5	Near Parking side	Purushottam Jina (Provisional)	0.07.77	192.00
9	PTS- 171/2	Near Parking side	1.Smt. Indumatiben Ottamchand 2. Shri Dipak Ottamchand 3. Shi Dharmendra Ottamchand 4. Shri Pramod Ottamchand	0.35.76	47,00
10	PTS- 171/1	Near Parking side	Shri Purshottam Mandan	0.21.11	43.00
11	PTS- 165/5	Near Parking side	Smt. Kashibai Kanji	0.75.76	759,00
12	PTS- 153/5	Near Turning Point	Smt. Manibai Durlabh and Tarvenibai Lavchand	2.15.76	964.00
13	PTS- 164/2-A	Near Cemetery	Sunni Vora Jamat, Diu Class-II	0.81.95	1610.00
14	PTS- 153/1	Near Cemetery	Vashram Bhika (Provisional)	0.26.09	227.00
	10 C 11 C 11 C	7.5	(	Grand Total:-	6838.00

(Saloni Rai, IAS) Collector, Diu

Place: Diu Date:07/02/2022 UT Administration of Dadra & Nagar Haveli and Daman & Diu, Department of Land Acquisition, Dadra and Nagar Haveli, Silvassa.

No. LAQ/Athal Junction-Zaroli Border/30/2020/67/Part-II/300

Date: 12/07/2023

## <u>NOTICE</u>

WHEREAS, vide Preliminary Notification No. LAQ/Athal Junction-Zaroli Border/30/2020/330/2020 dated 10.12.2020, it was Notified under section 11 of the Right to Fair compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, that the land described in the schedule hereto (thereafter referred to as the said land/lands) were needed or likely to be needed for the public purpose, namely for the purpose of Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Border;

AND WHEREAS, a report was submitted to the Appropriate Government i.e., Hon'ble Administrator, Dadra & Nagar Haveli and Daman & Diu to proceed with acquisition process and the same has been approved by the Appropriate Government i.e., Administrator of Dadra & Nagar Haveli and Daman & Diu;

AND WHEREAS, vide Declaration No. LAQ/Athal Junction-Zaroli Border/30/2020/67/Part-II/399/Rev(S)/2021 dated 08.12.2021, it was declared under the provision of Section 19 of the Land Acquisition and Rehabilitation Act that the said lands are required for the public purpose, and namely for the purpose of Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Border;

**AND WHEREAS,** in connection with acquisition of private land admeasuring 69691sq mtrs.. Govt. land admeasuring 2788 sq. mtrs, and Govt. canal admeasuring 6523 sq. mtr. for Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Border, the Administration of Dadra and Nagar Haveli intends to take possession of land, the particulars of which are given in the declaration u/s 19(1) of the Right to Fair compensation & Transparency in land Acquisition Rehabilitation and Resettlement (RFCTLARR) Act, 2013;

AND WHEREAS, under section 21 of the RFCTLARR Act, 2013, the Government intends to take possession of the land <u>in 30 days</u> from the date of issue of this Notice, and claims to compensations and rehabilitation and resettlement for all interests in the land, has to be submitted to the collector for disposal <u>within 30 days</u> from the date of issue of this Notice:

The details compensation on the land acquisition as per the **Annexure- I**, **II**, **III and IV** is enclosed herewith.

**AND WHEREAS,** under sub section (1) & (2) of Section 22 of the said Act, the Collector may also require any such person to make or deliver to him a statement containing the name of every other

person possessing any interest in the land or any part thereof as co-proprietor, mortgage, tenant or otherwise, and of the nature of such interest, and of the rents and profits, if any received or receivable on account thereof for three years next preceding the date of statement, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 176 of the Indian Penal Code (45 of 1860);

**NOW THEREFORE,** to facilitate causation of the above requirements, public notice is hereby served under section 21 of the RFCTLARR Act, 2013 that all persons having interest in the said land to appear personally or by agent or advocate before the collector, Dadra and Nagar Haveli on 17/08/2023 and to state in writing and signed by the party of his agent, the following:

a) The nature of their respective interest in their land;

b) The amount and particulars of their claims to compensation for such interest;

c) Their objection if any to the measurements made and marked on the referred area.

Please take notice that as provided under sub section 22 of the aforesaid Act, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 178 of the Indian Penal Code (45 of 1860).

Sd/-(**Bhanu Prabha**) Collector Dadra and Nagar Haveli Silvassa

#### Annexure- I-A

Details of Compensation of land for Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Bordar.

Sr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (Hect,- Are-Sq.mt.)	Area of land acquired (Sq.mt)	Market value of land per Sq.mt. (Rs.)	Market Value @ 100 Sq. mtr. For village Athal for Agricultuce land Rs.1,21,000/- and NA land Rs. 2,42,000/-	Multiplication Factor of 2 (Col.7 x 2)	12% Rate of Interest	Solatium 100% on Multiplication value of land	Total Compensation of land (Col. 8 + 9 + 10)
1	2	3	4	5	6	6	6	7	8	9	10	11
1 -	Athal	132/1	Smt. Valahaliben Mukeshainh Selanki	N.A.	1050.00	78	2420	188760	377520	43471	377520	796511
2.	Athal	132/1/1/1	M/s Aero Fiber Pvt. Ltd.	N.A.	13000	465	2420	1125300	2250600	259156	2250600	4760354
3	Athal	132/3	Mangubhai Lakhmabhai Patel, Babubhai Lakhmabhai Patel	Agri	300	157	1210	189970	37\$940	43750	379940	803630
4	Athal	132/1/1/3	Prince Pipes and Fitting Ltd.	N.A.	19905	941	2420	2277220	4554440	524442	4554440	9633322
5	Athal	132/1/1/4/4	Shri T. N. B. Polymers Ltd. (Kachi Nond)	Agri.	6973	55	1210	66550	133100	15327	133100	281523
6	Athal	133/1/3	Classic Marble Company Pvt. Ltd.	N.A.	200	115	2420	278300	\$56600	64092	\$56600	1177293
7	Athal	133/1/4	Classic Marble Company Pvt. Ltd.	N.A.	5800	292	2420	706640	1413280	162739	1413280	2989295
8	Athal	133/2	Shri Prabhubhai Maljibhai Gonarya	Agri.	900	55	1210	71390	142780	16441	142780	302001
9	Mhal	133/3	Jitendrasinh Bharatainh Chauhan	N.A.	1400	55	2420	133100	266200	30653	266200	563053
10	Athal	133/4	Shanuben Natwarsinh Surma, Vanrajsinh Natwarsinh Surma, Balrajsinh Natwarsinh Surma	Agri.	200	51	1210	61710	123420	14212	123420	261053
11	Athal	133/5	Shri Prabhubhai Maljibhai Gonarya	Agri.	300	31	1210	37510	75020	8638	75020	15867
12	Athal	135/1/Pist No.6	M/s. Ram Enterprise	N.A.	11000	136	2420	329120	658240	75796	658240	139227
13	Athal	135/3	Shri Prabbubhai Maljibhai Gonarya.	Agri.	400	38	1210	45980	91960	10590	91960	194510
14	Athal	135/2	Gaju Vansha Valvi, Ramu Vansha Valvi, Shanti Vansha Valvi	Agri.	100	100	1210	121000	242000	+ 27866	242000	51186
15	Athal	137	Vaibhav Gandhi	N.A.	10300	44	2420	106480	212960	24523	212960	45044
16	Athal	149/1/2	M/s. Haveli Enterprise	N.A.	24300	356	2420	866360	1732720	199522	1732720	
17	Athal	151	Shri Raviya Pidiya Dhedi	Agri.	3900	7	1210		186340	21456	196340	
18	Athal	152/1/1	(Shri Vasiya Laliya Jirwa), Diharben Bhupendraainh	Agri.	200	43	1210	50820	101640	11704	101640	21498

19	Athal	152/1/2	Axle pack	N.A.	2600	202	2420	488940	977680	112580	977680	2067940
20	Athai	154/1	Ganpetsinh Chhitusinh Chauhan	Agri.	900	71	1210	85910	171820	19785	171820	363425
21	Athal	154/2	[Ranjitsinh Prathamsinh Parmar], Narvesrainh Ranjitsinh Parmar	Agri.	2800	259	1210	313390	626780	72174	626780	1325734
22	Athal	149/1/1	Ganpatsinh Chhitusinh Chauhan	N.A.	2800	284	2420	687280	1374560	158280	1374560	2907400
23	Athal	170/4P	Mohanbhai Jamsubhai Patel, Uzsedbhai Jamsubhai Patel	Agri.	200	200	1210	242000	484000	55733	454000	1023733
24	Athal	175/1p1	Mavjibhai Chhaganbhai Patel, Chhotubhai Chhaganbhai Patel	Agri.	200	170	1210	205700	411400	47373	411400	870173
25	Athal	189/1	Shri Rodarbhai Mittal Patei, Gaju Mittal Patel, Smt. Paliben widow of Prema Mitsal, Chhibubhai Premabhai Patel, Kamleshthai Premabhai Patel, Jiteshthai Puljibhal Patel	Agri.	800	182	1210	220220	440440	50717	440440	931597
26	Athal	190/1 P	Sona widow of Gopji Laxi	Agri.	5000	5	1210	6050	12100	1393	12100	25593
27	Athal	204/1p1	Satish Ishwar Patel and others	Agri.	1300	202	1210	244420	485540	56289	488840	1033969
28	Athal	204/1P	M/s. Harsiddhi Travels	N.A.	400	152	2420	367840	735680	84714	735680	1556074
29	Athal	202/1	Manjulaben Bapujibhai Patel, Naraai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	Agri.	2500	178	1210	215380	430760	49602	430760	911122
30	Athal	201/2p1	Magji Mutiya Davariyo,Mangla Mutiya Davariya	Agri.	2200	42	1210	50620	101640	11704	101640	214984
31	Athal	201/2p2	Heliyabhai Rajiyabhai Davariya	Agri.	3400	46	1210	55660	111320	12818	111320	235458
32	Athal	200/4	Amrat Mangalbhai Patel,SumanMangalbhai Patel, Dhana Mangalbhai Patel,Oceta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	Agri.	1100	_ 203	1210	245630	491200	36369	491260	1039085
33	Athal	200/2	Smt. Urmilaben Maganbhai Patel	Agri.	2100	169	1210	204490	408980	47094	405980	865054
34	Athal	200/1	Amrut Maganbhai Patel, Suman Maganbhai Patel, Dhana Mangalbhai Patel,Geeta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	Agri.	100	58	1210	70180	140360	16163	140360	29688:
35	Athal	199	Uttambhai Morarbhai Patel	Agri.	3900	407	1210	492470	984940	113415 -	984940	208329
00	1		Shri Rajendralaubhai Vasonia	1	0	0	0	0	0	0		

35	Athal	241/2	Kamuben Radkabhai Patel	Agri.	1400	178	1210	215380	430760	49602	430760	91112:
30			Shri Kanu Radka Patel	1. 1. 1. 1. 1.	0	0	0	0	0	0	0	(
37	Athal	241/1	Vajirbhai Siksbhai Parel, Janiyabhai Kikabhai Patel,Mangjibhai Kikabhai Patel	Agri.	100	51	1210	61710	123420	14212	123420	261053
38	Athal	242	Laxmanbhai Dajibhai Patel, Jaswanthhai Dajibhai Patel, Widow Santiben Lalubhai Patel, Isachi Nondh, Ashokhai Lalubhai Patel, Kachi Nondh, Kankuben Lalubhai Patel, Kachi Nondh, Lalubhai Dajibhai Patel Kachi nondh, Pravinbhai Lalubhai Patel, Kachi Nondh	Agri.	3900	592	1210	716320	1432640	164968	1432640	3030241
			Smt. Eliaben Jasvantbhai Patel	2002	00	0	0	0	0	0	0	(
			Shri Previnbhai Lalubhai Patel		00	0	0	0	0	0	0	c
			Shri Ashokbhai Lalabhai Patel			0		0	0	0		c
39	Athal	240/1	Vajibhai Kikabhai Patel, Juniyabhai Kikabhai Patel, Magjibhai Kikabhai	Agri	3800	288	1210	348480	696960	80255	696960	1474175
1000			Shri Tuljibhai			0		0	0	0		0
40	Athst	240/2	Kamuben Radkabhai Patel	Agri.	900	399	1210	482790	965580	111187	965580	2042347
41	Athal	238/1	Narmada Creations	N.A.	2000	270	2420	653400	1306800	150477	1306800	2764077
42	Athal	238/2	Uttambhai Morarbhai Patel	Agri.	5900	373	1210	451330	902560	103942	902660	1909262
43	Athal	237/1	Amrut Maganbhai Patel, Suman Maganbhai Patel, Dhana Mangalbhai Patel,Goeta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	Agri.	3360	694	1210	839740	1679480	193392	1679480)	3512352
44	Athal	237/2	Bhūda Randha, Somla Redha	Agri.	800	176	1210	212960	425920	49044	425920	900884
45	Athal	236/1	Manjulaben Bapujibhai Patel, Narual Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	Agri.	2900	847	1210	1024870	2049740	236026	2049740	4335506
1	Athal	205/2	Satish Ishwar Patel and others	Agri	1800	522	1210	631620	1263240	145461	1263240	2671941
46			Shri Shaileshbhai Ukad		0	0	0				0	
47	Athal	205/3	Shri Kedarbhai Mithal Patel, Qaju Mithal Patel, Shri Paliben widow of Prema Mithal, Chilbubhai Premabhai Patel, Kamleobbbal Premabhai Patel, Jiteshbhai Puljibhai Patel	Agri.	500	273	1210	330330	660660	76075	660660	1397393
48	Athal	205/4	Manjulaben Bapujibhai Patel, Narsaibhai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel,Somabhai Bapujibhai Patel	Agri.	100	100	1210	121000	242000	27866	242000	511864

49	Athal	206/2/2	Savitaben Kantibhai Patel, Chandenben Kantibhai Patel, Amitaben Kantibhai Patel, Nitinbhai Kantibhai Patel.	Agri.	700	66	1210	79860	159720	18392	159720	337832
50	Athal	205/2/1	Limibha/Vajirbhai9atri	Agri.	3200	338	1210	408980	817950	94188	817960	1730108
51	Athal	207/3 P	the second se	Agri.	600	190	1210	229900	459800	52946	459500	972546
52	Athal	207/2 P	Shri Kedarbhai Minhal Patel, Gaju Minhal Patel, Pabben Widow of Perma Minhal, Chhibubhai Premabhai Patel, Kaeseshbhai Premabhai Patel, Jiteshbhai Fatjibhai Patel	Agri.	600	76	1310	91960	183920	21178	183920	389018
53	Athal	207/1	Mavjibhai Chhaganbhai Patel, Chhtoubhai Chhaganbhai Patel	Agri.	300	188	1210	227480	454960	52389	454960	962309
54	Athal	226/1	Mohanbhai Jamsubhai Patel, Umedbhai Jamsubhai Patel	Agri.	2000	76	1210	91960	183920	21178	183920	389018
55	Athal	225	Shri Keshav Dhuriya Patel, Khalpa Divuriya Patel, Shankar Dhuriya Patel	Agri.	6000	167	1210	202070	404140	46537	404140	854817
56	Athal	208/3	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	Agri.	200	190	1210	229900	439800	52946	459800	972546
57	Athal	208/2	Mohanbhai Jamsubhai Patel, Umedhhai Jamsubhai Patel	Agri.	100	65	1210	78650	157300	18113	157300	332713
58	Athal	208/1	Mangalbhai Lalabhai Patel	Agri.	100	72	1210	87120	174240	20063	174240	368543
59	Athal	212/1	Stoi Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	Agri.	1300	11,	1210	13310	26620	3065	26620	56305
60	Athal	211/p	Chaita Pidiya Dhodi	Agri.	3100	495	1210	\$98950	1197900	137936	1197900	2533736
61	Athal	211/	Champakial Babubbai Bhandari	Agri.	1200	142	1210	171820	343640	39570	343640	726850
62	Athal	255/1/P	IPCA Laboratories Ltd Silvassa	N.A.	100400	1145	2420	2770900	5541800	638137	5541800	11721737
63	Athal	210/1	Jel Pharmanutical Pvt. Ltd.	N.A.	4300	287	2420	694340	1369080	159953	1389080	2938113
64	Athal	210/2	Jel Pharmanutical Pvt. Ltd.	N.A.	1000	119	2420	287980	575960	66322	575960	1218242
65	Athal	269/5	Shri Raviya Pidiya Dhodi	Agri.	64	64	1210	77440	154880	17834	154880	327594
66	Athal	269/4	Natwarsinh Ramsinh Chauhan	N.A.	5500	1437	2420	3477540	6955080	800876	6955060	14711030
67	Athal	269/1p	Chhaniben Ramesh Sanwar	Agri.	4300	723	1210	874830	1749660	201473	1749660	3700793
68	Athal	269/3/2	Ramu Vsansa Valvi	AgrL	250	106	1210	128260	256520	29538	256520	542578

69	Athal	269/1/1/2	Ma. KC Enterprises	N.A.	3000	587	2420	1420540	2641060	327150	2541080	6009310
70	Athei	267/1	Buibul Master Batches Pvt Ltd	N.A.	22000	1077	2420	2606340	5212680	600239	5212680	11025595
71	Athal	267/2	Buibul Master Batches Pvt Ltd	N.A.	2900	118	2420	285560	571120	65764	571120	120800
72	Athal	271/3	Digvijaysinh Jaydevsich Pannar	N.A.	1800	93	2420	225060	450120	51831	450120	95207
73	Athal	271/2	Maniben Morarbhai Parmar, Ranjitainh Morarbhai Parmar, Ishwazsinh Morarbhai Parmar, Dharmishtaben Harabadainh Parmar, Miraiben Harabadainh Parmar, Abhijeetsinh Harabadainh Parmar,	AgriL	1800	130	1210	157300	314600	36226	314600	66542
74	Athal	272/1/1/1	Award Offset Printers and Packaging Pvt Ltd	N.A.	8346	574	2420	1389080	2778160	319905	2778160	587622
75	Athal	272/2/1	(Deven Ramjibhai Radhani(HU9]), (Maheshbhai Mohanbhai Chauhan), Jalaram Industrial Estate	N.A.	2000	316	2420	764720	1529440	176115	1529440	323499
76	Athai	272/3	Lakhma Bhikia Bhagat	Agri.	300	142	1210	171820	343540	39570	343640	72685
77	Albal	271/1/2	Maniben Morarbhai Parmar, Ranjitainh Morarbhai Parmar, Iabwarsinh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijeetsinh Harshadsinh Parmar,	Agri.	5000	390	1210	471900	943809	108678	943800	199627
78	Athal	275/3	Tulsidas Ramjibhai Patel	N.A.	1200	157	2420	379940	759880	87501	759880	160726
79	Athai	276/2/1p2	Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarsinh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijectsinh Harshadsinh Parmar,	Agri.	200	200	1210	242000	484000	35733	484000	102373
80	Athal	276/2/1/1	Shri Harsiddhi Petroleum	NA	3200	24	2420	58080	116160	13376	116160	24569
	-			-		20452		36031380	72062760	8298012	72062760	15242353

54/-(Shanu Prabha) Collector Dadra and Nagar Haveli Silvassa

ir. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (Heet Are-Sq.mt.)	Ares of land acquired (Sq.mt)	Market value of land per Sq.ant. (Rs.)	Market Value @ 100 Sq. mtr. For village Kharwdpada for Agriculture land Rs. 1,21,000/- and NA land Rs. 2,42,000/-	Multiplication Factor of 2 [Col.7 x 2]	12% Rate of Interest	Solatium 100% 98 Nultiplication value of land	Tetal Compensation of land (CoL 5 + 9 + 10)
1	2	0	4	5	6	6	6	7		9	10	11
1	Khardpada	20/1	Shri Indravijaysinh Umedsinh Parmar, Shri Rajendrøsinh Umedsinh Parmar, Sust Yashvant Kuvarba Umedsinh Parmar, Sust Premilaben Umedsinh Parmar	Agri	30400	2841	1216	3485010	6972020	802827	6972020	14746867
2	Kherdpada	20/4	Kaludiya Bhadla	Agri	700	232	1210	280720	561440	64649	561440	1187529
3	Khardpada	20/3	Chhotu Chaita Kurada	Agri	1400	187	1210	226270	452540	52110	452540	957190
	Khardpada	20/2	Kaloliya Bhadla	Agri	700	91	1210	110110	220220	25358	220220	465798
5	Khardpada	19/6	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	Agri	200	75	1210	90750	181500	20900	181500	283900
6	Khardpada	19/5	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	Agri	200	95	1210	114950	229900	26473	229900	436273
7	Khardpeda	19/4	Vijayaben Chimanbhai Jadav, Narushhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	Agri	200	184	1210	222640	445280	51274	445280	941534
8	Khardpada	18/p1	Shri Rakeshsinh Mohansinh Chauhan	N.A.	4200	15	2420	36300	72600	8360	72600	15356
9	Shardpada	17/2p1	Damyantiben Paraottambhal Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Ketanbhai Paraottambhai Jadav, Viralbhai Paraottambhai Jadav,	Agri	400	400	1210	484000	968000	111463	968000	204746
			Shri Gamanbhai Ghelabhai Bhandari	1		0		0	0			

10	Khardpada	17/1p3	Nandiben Ranchhodbhai Bhandari, Bhaveshbhai Ranchhodbhai Bhandari, Hemaliben Ranchhodbhai Bhandari, Shaleshbhai Ranchhodbhai Bhandari	Agri	3900	326	1210	394460	788920	90844	786920	1668684
11	Khardpada	15/ Plot	Bawa Dubad	N.A.	1700	425	2420	1028500	2057000	236863	2057000	4350863
12	Khardpada	8/P Piot O.	Eamubhai Keshavbhai Alias Gandabhai Jadav	N.A.	434	27	2420	65340	130680	15048	130680	276408
13	Khardpada	8/p Plot.	Thakorbhai Gandebhai Alias Keshavbhai	N.A.	433	43	2420	104060	205120	23965	208120	440205
14	Khardpada	8/p Plot	Prabhubhai Keshavbhai Alias Gandabhai Jadav	N.A.	433	28	2420	67760	135520	13605	135520	286645
15	Khardpada	6/ Plot	Damyantiben Parsottambhai Jadav, Mohanbhai Jaganbhai Jadav, Ketanbhai Parsottambhai Jadav, Viralbhai Parsottambhai Jadav,	N.A.	1000	160	2420	435600	871200	100319	871250	1842719
15	Khardpada	7/2 Plot	Vijaybhai Khandabhai	N.A.	350	107	2420	258940	517880	59634	517880	1095394
17	Khardpada	7/1 O Pist	Manharbhai Khandubhai	N.A.	350	97	2420	234740	469480	54060	469480	993020
18	Khardpeda	284/1P5	Radhaben Shankarbhai, Thaloethai Durlabhbhai, Duxesh Sumanbhai, Hansaben Sumanbhai, Tarunaben Sumanbhai, Hiteshbhai Sumanbhai, Yashvanthhai Durlabhbhai	Agri	3094	272	1210	329120	658240	75796	658240	1392276
19	Khardpada	384/1P1	Rasesiben Diliptinal Bhandari, Yogisha Diliptinai Bhandari, Tejal Diliptinai Bhandari, Jajisha Diliptinai Bhandari, Sapna Diliptinai Bhandari, Sigar Diliptinai Bhandari, Chanchaiben Diliptinai Bhandari, Radhaben Kantilal Bhandari (Vasoniya), Asmitaben Kantilal Bhandari, Kalpana Kantilai Bhandari, Nitaben Kantilal Bhandari, Nishaben Kantilai Bhandari, Rekhaben Kantilal Bhandari, Bhandari, Bhumikaben Kantilai Bhandari, Kaushika Diliptinai	Agri	3000	585	1210	707850	1415700	163017	1415700	2994417

20	Khardpada	384/1P2	Bhagvanbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinodhini Babubhai Bhandari, Ramiben Babubhai Bhandari , Hansaben Babuahhai Bhandari	Agri	2100	277	1210	335170	670340	77189	670340	1417869
21	Khardpeda	384/1P3	[Kamlaben Sureshbhai Patel], Sharadbhai Sureshbhai Patel	Agri	700	232	1210	280720	561440	64649	561440	1187529
22	Khardpada	387/1	Bhagranbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinodhhai Bebubhai Bhandari, Ramiben Dabubhai Bhandari, Hansaben Balwanthhai Bhandari	Agri	6800	288	1210	348480	696960	80235	696960	1474175
		0	Shri Dhansukhbhai Babubhai Bhandri	1		0	-	0	0	0	0	0
		C	100.4 - 10	1	1 1							
	Khardpada	387/2	Widow Hansaben B. Bhandari M/S Shci Ram Industries	Auri	6400	0 528	1210	638880	1277760	147134	1277760	2702654
23												
24	Khardpada	388/p1	Chanchalben Widow of Abhesinh	Agri	18400	1255	1210	1518550	3037100	349722	3037100	6423922
25	Khardpada	392/42	Heritage Marble Pvt Ltd	N.A.	19300	1259	2420	3046780	6093560	701673	6093560	12888793
26	Khardpada	393	M/S Nilioamal Ltd.	S.A.	26000	78	2420	188760	377520	43471	377520	798511
27	Khardpada	394/2.	Fatehsinh Kalidas Solanki, Virendrasinh Patrhainh Solanki	Agri	2700	185	1210	223850	447700	\$1553	447700	946953
28	Khardpada	378/2.	Amrutsinh Delpathhai Solanki	Agri	500	136	1210	164560	329120	37898	329120	696138
29	Khardpada	378/1P4	Dai Bhuli Widow of Uka Mithani	Agri	3000	62	1210	75020	150040	17276	150040	317356
30	Khardpada	380/1/2.	Minor Eanjay Yuzvendrasish Parmar	N.A.	4100	255	2420	617100	1234200	142118	1234200	2610518
31	Khardpada	380/1P3	Kharadpada Wibhag Seva Sahkari Mandali	Agri	700	136	1210	164560	329120	37898	329120	696138
32	Khardpada	382/P1	Bai Ganga Widow of Rama Dullabh	Agri	9300	223	1210	269830	535660	62142	\$39660	1141463
33	Khardpada	23/P- Plot	Babubhai Haribhai Bhandari, Jilharathhai Haribhai Bhandari, Bhagwanbhai Haribhai Bhandari, Uttambhai Haribhai Bhandari, Sureabbhai Haribhai Bhandari, Lilaben Bharathhai Bhandari.	N.A.	600	200	2420	484000	968000	111465	968000	2047463

34	Khardpada 3	23/Th Pilot	Niruben Oovanbhai Bhandari, Bavitaben Oovanbhai Bhandari, Jaahodaben Oovanbhai Bhandari, Oitaben Dahyabhai Bhandari, Minor Bhavik Dahyabhai Bhandari, Minor Keral Dahyabhai Bhandari	N.A.	630	224	2420	542080	1084160	124841	1084160	2293161
35	Khardpads	22/Plot	[Shri Parbhubhai Mahdubhai Patel], Shri Hohanbhai Mahdubhai Patel, Shri Tulsidas Mahdubhai Patel, Smt Radhaben Maganbhai Patel, Smt Hansaben Thakorbhai, Smt Homlata Hassukhbhai Patel, Narmadaben Prabhubhai Patel, Utambhai Prabhubhai Patel, Utambhai Prabhubhai Patel, Shalloshbhai Prabhubhai Patel, Shalloshbhai Prabhubhai Patel, Shalloshbhai Prabhubhai Patel.	N.A.	1000	240	2420	580800	1161600	133758	1161600	2436958
36	Khardpade	21/Flot	Keshavbhai Naranbhai	N.A.	400	103	2420	249260	498520	57404	498520	1054444
37	Khardpada	21/Plot	Nanabhai Naranbhai	N.A.	400	154	2420	372680	745360	85825	745360	1576548
38	Khardpada	17/Plot	Sbri Bharatbhai Bawebhai Jadav	N.A.	1500	280	2420	677600	1355200	156051	1355200	2866451
39	Kliardysda	36	Sitai Indravijayainh Umedainh Parmar, Shti Rajendraainh Umedainh Parmar, Smt Yashvant Kuvarba Umedainh Parmar, Smt Premilaben Umedainh Parmar	Agri	25760	1813	1210	2196150	4392300	505772	4392300	9290372
40	Khardpada	35	Chhotu Chaita Kurada	Agri	2500	751	1210	908710	1817420	209275	1817420	3544115
41	Khardpada	34	Shri Devji Ravji Varli, Shaniben Katiyabhai Kurada, Maniyaben Katiyabhai Kurada, Vinodbhai Katiyabhai Kurada,	Agri	5500	102	1210	123420	246840	28423	246840	822103
42	Khardpada	31/1	Hemrajsinh Kiransinh Rathod, Smt Naynaben Kiransinh Rathod, Smt Bhikhubhi Thakorsinh Rathod	Agri	4400	134	1210	162140	324280	37341	324280	665901
43	Khardpada	30	Budhiya Malji Janathiya	Agri	2400	660	1210	798600	1597200	183918	1597200	3378318

46	Kisardpada	29/2	Shakruben Jamnabhai Varii/Janathiya, Mariyabhai Jamnabhai Varii/Janathiya, Bhadliben Jamnabhai Varii/Janathiya, Ranchhodhai Jamnabhai Varii/Janathiya, Chairuben Jamnabhai Varii/Janathiya	Agri	2500	08	1210	95800	193600	22293	193600	409493
45	Khardpada	29/1	Chhota Chaite Karada	Agri	400	100	1210	484000	958000	111465	968000	2047465
46	Khanipada	27/1	Smt Laxmiben Makanbhai Patel	Agri	2175	310	1210	254100	508200	58519	508200	1074919
47	Kissrdpeda	26	Shri Rakeshainh Mohansinh Chauhan	Agri	3000	382	1210	462220	924440	106448	924440	1955328
48	Khardpada	23	Smt. Swetaben Rakeshsinh Chauhan	Agri	5000	400	1210	484000	968000	111465	968000	2047465
49	Khardpada	22/2	Smt Velkiben Widow of Parsettam Raina	Agri	1100	161	1210	194810	389620	44864	389520	824104
50	Khardpada	22/3	Shri Zinabhai Ratnabhai Dhodi	Agri	900	402	1210	486420	972840	112022	972840	2057702
51	Khardpada	21/p2	Champakbhai Jivanbhai Bhandari	Agri	1000	367	1210	444070	885140	102268	888140	1878548
52	Kinardpeda	21/p1	Tuljibhai Chhanabhai Patel, Madbubhai Chhanabhai Patel, Maniben Chhanaben Patel	Agri	1100	207	1210	250470	500940	57682	500940	1059562
53	Khardpada	60/1/1	Rakeshainh Mohanainh Chauhan	N.A.	3000	103	2420	249260	498520	57404	498520	1054444
54	Khardpada	60/1/2	Dabubhai Ramjibhai Varli, Shivlabhai Ramjibhai Varli, Shri Ramji Hatiya Varli	Agri	6900	60	1210	72600	145200	16720	145200	307120
-	-	-				18599		27124570	54249140	6246777	54249140	114745051

Sd./--(Bhana Prabha) Collector Dadra and Nagar Haveli Silvassa

Gr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (liset Are-Sq.mt.)	Area of land acquired (Sq.mt)	Market value of land per Sq.mt. [Rs.]	Market Value @ 100 Sq. mtr. For village Saroli for Agriculture land Rs.1,31,400/- and NA land Rs. 2,70,600/-	Multiplication Factor of 2 (Col.7 x 2)	12% Rate of Interest	Solatium 100% en Multiplication value of land	Total Compensation of land [Col. 5 + 9 + 10]
1	2	3		5	6	6	8	7		9	10	11
1	Narpli	1079	Hindustan Pencils Ltd.	N.A.	15000	965	2706	2611290	5222580	601379	5222580	11046535
2	Naroli	1083/1/6/2.	Patehsinh Dahyabhai Parmar	N.A.	2000	390			2110680	243044	2110680	4464404
а	Naroli	1063/1/6/1	Deviuben Chhibubhai Patel, Makhilben Chhibubhai Patel, Gitaben Chhibubhai Patel, Minaben Natubhai Patel, Ku. Kalpanaben Natubhai Patel, Ku. Neluaben Natubhai Patel, Ku. Priyankaben Natubhai Patel, Shri Jrasikhai Natubhai Patel, Shri Jigneshbhai Natubhai Patel	Agri.	4800	275	1314	361350	722700	83219	722700	1528615
4	Nardi	1083/1	Shri Babu Bhagla Halpati	Agri.	2700	209	1314	274626	549252	63246	549252	1161750
5	Naroli	1083/1p	Harubhai Roviyabhai Halpati	Apri.	1200	117	1314	153738	307476	35406	307476	65035
6	Naroli	1084/1/1/1/4 Piot no. 4	Shri Narendrasinh Jashvantsinh Parmar	N.A.	900	185	2706	500610	1001220	115290	1901220	211773
7	Nazsli	1084/1/1/1/6 Plot no. 6	Shri Narondraainb Jashvantainh ParmarPravinsinh Jashvantainh Parmar	N.A.	640	93	2706	251658	503316	57957	503316	106458
8	Naroli	1084/1/1/1/3 Plot no. 3	Shri Narendrasinh Jashvantsinh Parmar	N.A.	2580	237	2700	641322	1282644	147697	1282644	271298
9	Naroli	1084/1/1/1/2	Previosinh Jashvantsinh Pannar	N.A.	3680	291	270	5 806388	1612776	185711	1612776	041126
10	Naroli	1084/1/1/1/1	Amarsinh Jashvantsinh Parmar	N.A.	3680	70	270	6 200244	400488	46116	400488	84709
11	Naroli	1084/1/1/1/5	Amarsinh Jashvantsinh Paresar	N.A.	320	12	270	5 330132	660264	76029	660254	139655

12	Naroli	1064/1/1/2	Ajitainh Jashvantainh Pannar,Praviosinh Jashvantaish Pannar, Amarainh Jashvantaish Pannar, Narendraaish Jashvantaish Pannar	Agri.	6309	199	1314	261486	522972	60330	522972	1106164
19622			Shri Narendrasinh Jashvantsinh Parmar	1		0	1315	0	0	ó	0	0
			Smt. Sardaben Narendrasinh Parmar	1		0	1316	0	0	0	0	0
13	Naroli	167/1/7p1	Smi Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	Agri.	913	314	1314	412596	825192	95021	825192	1745405
14	Narali	167/1/6/1	Sost Baben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandoepsinh Natvarsinh Parmar	N.A.	8540	539	2706	1458534	2917068	335899	2917068	6170035
15	Naroli	167/1/5/1	Seet Haben Natversich Parmar, Shri Sanjaysinh Natversinh Parmar, Shri Sandeepsinh Natversinh Parmar	N.A.	5081	179	2706	484374	968748	111551	968748	2049047
16	Naroli	167/1/4/1	Smi Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	5061	211	2706	\$70966	1141932	131493	1141932	2415357
17	Naruli	167/1/3/1	Smi llaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	5081	251	2706	679206	1358412	156421	1358412	2873245
18	Naroli	167/1/2/1	Smi Baben Natvarsinh Parmar, Shri Sanjayainh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	5081	172	2706	465432	930864	107189	930854	1968917
19	Naroli	167/1/1/1	Sont Baben Natvarsinh Parmar, Bhri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	5081	1	2706	2706	5412	623	5412	11447
20	Narsli	164/1/1	Minor Ranjay Yuzvendrasinh Parmar	N.A.	6259	1417	2705	3834402	7658804	883060	7668804	16220668
21	Naroli	164/1/2	Minor Ranjay Yuzvendrasinh Parmar	N.A.	5088	197	2706	533082	1066164	122768	1066164	2255090
22	Nareli	164/1/3	Minor Ranjay Yuzvendrasinh Parmar	N.A.	3721	223	2705	603438	1206876	138972	1206876	2552724
22	Nareli	164/1/4	Yuzvendraainh Pravinainh Parmar	N.A.	14228	51	2706	136006	276012	31783	276012	583807
23	Naroli	163/p1	Mahendrasinh Bapusinh Parmar	Agri.	20000	500	1314	657000	1314000	151307	1314000	2779307

### SERIES - II No. 19

### THE GAZETTE OF DNH & DD

25	Naroli	163/P-Plot no.10	Jayantibhai Ramubhai Bhurkud, Nareshbhai Ramubhai Bhurkud,	Agri.	3950	304	1314	399456	798912	91995	798912	1689819
26	Narol	163/ Piot no. 9/3	Narotiambhai Somathai Patel	Agri.	4150	128	1314	168192	336384	35735	336384	711503
27	Naroll	163/ Plot no. 9/1	Shri Ajaybhal Thakorbhai Desai	Agri.	875	192	1314	252288	504576	58103	504576	1067255
28	Naroli	107/ Pist no.20	Devliben Mohjibhai Varli, Rariya Mohjibhai Varli, Bhikhubhai Mohjibhai Varli, Maniben Mohjibhai Varli, Ramiben Jiyanbhai Varli.	Agri.	9300	783	1314	1026862	2057724	235946	2057724	4352394
			Shri Raviya Mohjibhai Varli			0	0	0	0	0	0	0
	1	1	Shri Bhikhubhai Yarli	-		0	0	0	0	0	0	0
29	Naroli.	107/4 Plot no.21	Rameshbhai Raviyabhai	Agri.	300	80	1314	113004	226008	26024	226008	478040
30	Naroli	107/3 Plot no.21	Rameshbhai Raviyabhai	Agri.	8165	883	1314	1160262	2320524	267208	2320524	4908256
31	Narsli	107/2/2/1/1	Shri Arun Yashpal Agarwal Director of Amazon Plastics Prt Ltd.	N.A.	2846	226	2706	611556	1223112	140841	1223112	2587065
32	Naroli	107/2/1/1/1	Shri Mataprasad Mevalal Gupta, Kachi Nondh	N.A.	3454	189	2706	511434	1022868	117783	1022868	2163519
33	Naroli	107/1p1	Ajitsinh Jashvantsinh Parmar, Pravinsinh Jashvantsinh Parmar, Amarsinh Jashvantsinh Parmar, Narendrasinh Jashvantsinh Parmar.	Agri.	135	21	1314	27594	55198	6355	55188	116731
34	Narob	106/1/1/5	Rajiv Bhalchand Chitre, Suchita Satish Chitre Sangita Satish Chitre Shital Satish Chitre	Agri.	600	18	1314	23652	47304	5447	47304	100055
35	Naroli	106/1/2/3	Bhörsa Industries Pvt Ltd	N.A.	7780	1491	2705	4034646	8059292	929177	8069292	17067761
36	Nareli	106/1/2/4/1	Bhilosa Industries Pet Ltd	N.A.	200	200	2705	541200	1082400	124638	1082400	2289434
37	Naroli	222/1/3	Bhikhubhai Mohanbhai Solanki	Agri.	8751	60	1314	78840	157680	18157	157680	333517
38	Narola	222/1/2	Bhikhubhai Mohanbhai Solanki	Agri.	8752	232	1314	304848	609696	70207	609696	1289595
39	Naroli	222/1/1	Bhikhubhai Mohanbhai Solanki	Agri.	8752	638	1314	838332	1676664	193055	1676664	3546390
40	Narali	220/3/2	Kaliyar Maypuck Packaging Solutions 1.62.	N.A.	24300	829	2705	2243274	4486548	516625	4486548	948972
41	Nareli	220/3/1	High-tech Plastics Limited Comapany	N.A.	2700	5	2706	13530	27060	3117	27060	5723

42	Neroli	220/2p1	Anjali Deughter of Govind Vald & Wife of Kirtilcumar Desai, Dr. Varsha Daughter of Govind Vald & Wife of Pushkar Chaubal, Milind Osvind Vald	Azri.	2100	82	1314	107748	215496	24815	215496	455801
43	Naroli	220/ipi	Anjali Daughter of Govind Vaid & Wife of Kirtikumar Desas, Dr. Varsha Daughter of Govind Vaid & Wife of Pushkar Chaubal, Milind Govind Vaid	Agri.	10740	825	1314	1054050	2168100	249656	2168100	4585850
44	Naroli	215/3	Pushpaben Vestabbhai Patel, Ramoshbhai Vestabhai Patel, Savitaben Vestabhai Patel, Pramodbhai Vestabhai Patel, Narmadaben Vestabhai Patel, Sumanbhai Vestabhai Patel, Diliphiai Vestabhai Patel, Shakutalaben Vestabhai Patel	Agri.	2980	322	1314	423108	846216	97442	846216	1789874
45	Naroli	214	Smt. Premilaben Chottubbai Patel, Shri Jagubhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kasturbhai Puljibhai Patel, (Fulkiben Widow of Fulji Shantilal Pulji Patel, Amrat Pulji Patel, Sumitaben Suresh Patel, Sumitaben Suresh Patel, Dixtah Suresh Patel, Dixtah Suresh Patel, Dixtah Suresh Patel, Shri Ramanbhai Khushalbhai Patel, Shri Ramanbhai Khushalbhai Kamleabhhai Puljibhai Patel	Agri.	3965	229	1314	300906	601812	69299	601812	127292
40	Naroli	211/2p1	Sent. Premilaben Chottubhai Patel, Sim Jagubhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kambahbhai Puljibhai Patel, (Pulkiben Widow of Pulji) Shantilal Pulji Patel, Amrat Pulji Patel, Sumitaben Suresh Patel, Santhya Suresh Patel, Dixesh Suresh Patel, Dixesh Suresh Patel, Ukadhhai Khushabhai Patel, Shri Ramanbhai Khushalbhai Kamleshbhai Puljibhai Patel	Agri.	940	285	1314	374490	745980	86245	748980	158420
47	Naroli	211/1p1	Gaju Jeypal Patel, Jaahvant Jeypal Patel	Agri.	1055	2	1314	2628	\$256	604	5256	m

45	Naroli	206/2	Kamlaben Natubhai Patel, Vanraj Vestabhai Patel Naviobhai Vestabhai Patel Lataben Vestabhai Patel	Agri.	740	163	1314	214182	428364	49326	428364	906054
49	Naroli	205/1p1	M/S Cubetics Industries Pvs Ltd.	N.A.	1100	290	2706	784740	1569480	180726	1569480	3319684
50	Naroli	205/1p2	Shri Harcshbhai Supdiyabhai Patel Shri Mukealabhai Supdiyabhai Patel	N.A.	1000	299	2706	809094	1618188	186334	1618188	3422710
51	Naroli	204/P1 Plot no.14/1	Nareshbhai Bhikhabhai Mahyavanahi	Agri.	2100	240	1314	315360	630720	72627	630720	133406
52	Naroli	204/P1 Plot no. 14/2	Kentilal Bhikhabhai Mabyavanshi	Agri.	2100	217	1314	285138	\$70276	65667	570276	1206215
53	Nareli	204/ Plot no.14/3	Narendrakumar Bhikhabhai Mahyavanshi	Agri.	2100	200	1314	262800	525600	60522	525600	1111723
54	Naroli	203/3	Shri Mehulkumar Nileshsinh Parmar	N.A.	37975	291	2706	787446	1574892	181349	1574892	3331122
55	Narsh	203/4p1	Shri Nileshkumar Bharatsinh Parmar	N.A.	12100	746	2706	2018676	4037352	464900	4037352	8539604
56	Naroli	202/P-Plot no.8p1	Shri Amitbhai Bhagubhai Patel Prakashbhai Bhagubhai Dhodi	Agri.	3430	95	1314	124830	249660	28749	249660	528069
57	Naroli	202/2/1	Shri Nizin Vimlanand Kepikar, Smt Shalla Nitin Kepikar, Smt Nisha Kepikar Chinmulgund, Shri Aditya Nitin Kepikar Dharmeshsinh Bhanabhai Rethod	Agri.	1425	1140	1314	1997960	2995920	344979	2995920	6336819
58	Nareli	199/.	Bhilosa Industries Pet Ltd.	N.A.	449514	3224	2705	8724144	17448288	2009165	17448288	36903742
59	Naroli	189/ Plat no.23	Shri Kishna Steel Products.	N.A.	6875	435	2705	1179616	2359632	271712	2359632	4990976
60	Naroli	188/P Piot no.17	Somlabhai Sidvabhai	Agri.	7420	675	1314	886950	1773900	204265	1773900	3752065
61	Nareli	184/1	Patu Surkkar, Raju Sukkar	Agri.	8400	355	1314	466470	932940	107427	932940	1973307
62	Naroli	182/1p	[Shri Indravijaysinh Umedainh Parmar] Shri Rajendrasinh Umedainh Parmar, Smt Yashvantiouvarba Umedainh Parmar, Smt Premilaben Umedainh Parmar, Naynadevi Indravijayainh Parmar, Shri Digvijaysinh Indravijaysinh Parmar, Smt Ritu Indravijaysinh Parmar, Smt Ritu Indravijaysinh Parmar		20536	-	1314	1429632	2859264	329243	2859264	604777
63	Naroli	168/p Piot no.20	Chhibubhai Kaliyabhai Halpati, Vasubhai Kaliyabhai Halpati	Agri.	6740	619	1314	813366	1626732	187318	1626732	3440783
64	Naroli	168/p Plot no.19	Chhaniya Bhadia	Agri.	6790	796	1314	1045944	2091888	240681	2091888	442465

65	Naroli	168/1 Plot no. 18	Abhyadaysinh Vitramainh Parmar Vitramainh Chadrasinh Purmar	Agri.	2000	660	1314	867240	1734480	199725	1734480	3663685
	Naroli	166/2 Plot no.16	Chhibubhai Somabhal Halpati	Agri.	315	135	1314	177390	354780	40853	354760	750413
66			Shri Vasanthhai Vaghbariya			0	0	0	0	0	0	0
			Shri Vörassinh Chadrasinh Parmar	1		0	0	0	0	0	0	0
67	Naroli	169/1.	Shri Jashvanisinh Nanuhhai Parmar	Agri.	7800	1278	1314	1679292	3358584	386740	3358584	7103908
68	Naroli	169/2	Kelpanaben Natwarsinh Parmar, Kumudhen Natwarsinh Parmar	Agri.	8000	624	1314	819936	1639872	188831	1639672	3468575
69	Naroli	170/1/1/1	Widow Ranjan Ishwarsinh Parmar, Shri Mehulainh Ishwarsinh ParmarShri Priyanksinh Ishwarsinh Parmar	Agri.	3600	215	1314	282510	565020	65062	565020	1195102
70	Naroli	170/1/1/2	Widow Ranjan Ishwarsinh Parmar, Shri Mehulsinh Ishwarsinh ParmarShri Priyanksinh Ishwarsinh Parmar	N.A.	2200	42	2705	113652	227304	26174	227304	480782
71	Naroli	170/1/2	Shri Mehulainh Ishwarsish Parmar	N.A.	2000	184	2706	497904	995808	114667	995808	2106283
72	Naroli	170/2	Indiration J Pannar	NA	8100	335	2706	905510	1813020	208769	1813020	3834809
73	Naroti	1080/.	Premier Holyverse Pit Ltd	N.A.	10000	1044	2706	2825064	5650128	650611	5650128	11950867
<u>.</u>			0/2020/67/Part-1# 200			30640		61747872	123495744	14220509	123495744	261211999

No.LAQ/Athal Junction-Zaroli Bordar/30/2020/67/Part-II 300 Date: 12/07/2023

> 84/-(Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

# 3. A

#### Annexure- II-A

Details of Compensation of Trees and Damage Structure for Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Bordar.

Sr. Yo.	Village	Survey No.	Name of persons believed to be having interest	Compensation of Trees (Rs.)	Solatium 100% on Trees (Rs.)	Total Compensation of Trees (Col. S +6)	Name of Damage Structure	Total Companiation of Damage Structure (Rs.)	Solatium 100% on Damage Structure (Rs.)	Total Compensation o Trees and Damage Structure [Col. 7 + 10] {Rs.]
1	2	3	4	5	6	7	8	9	10	11
1	Athal	132/1	Seut. Vaishaliben Mukeshainh Solanki	12000	12000	24000	Steel Compound Wall	46848	93696	117696
2	Athal	132/1/1/	M/a Aero Fiber Pvt, Ltd.	58100	58100	116200	Rubble Mamory Compound Wall (107nt), Gate, R.C.C Flooring, Grill on Compound Wall	1064915.27	2129831	2246031
3	Athal	132/3	Mangubhai Lakhmabhai Patel, Babubhai Lakhmabhai Patel	19100	19100	38200	Nil	0	0	38200
4	Athal	132/1/1/ 3	Prince Pipes and Fitting Ltd.	168100	168100	336200	Compound Wall (4 'ht), Grill Compound Wall, Gate, Security Cabin (in RCC), R.C.C Flooring, Transformer Area, Borewell	909443.3	1818887	2155087
5	Athal	132/1/1/ 4/4	Shri T. N. B. Polymers Ltd. (Kachi Nond)	C	0	0	Rubble Masnory Compound Wall (47ht), R.C.C Flooring, Gate, Transformer Area, Compound Wall (107ht), Gell Compound Wall	640222.93	1280446	1280446

### SERIES – II No. 19

1. 1

6	Athal	133/1/3	Classic Marble Company Pvt. Ltd.	33000	33000	66000	Na	0	0	66000
7	Athal	133/1/4	Classic Marble Company Pvt. Ltd.	145200	145200	290400	Nil	0	0	290400
8	Athal	133/2	Shri Prabhubhai Maljibhai Gonarya	4100	4100	8200	Shop (in ASB)	51680	103360	111560
9	Athal	133/3	Jitendrasinh Bharatsinh. Chauhan	20000	20000	40000	Gate, chain link fencing	21824	43648	83648
10	Athal	133/4	Bhapuben Natwarsinh Surma, Vanrajsinh Natwarsinh Surma, Bairajsinh Natwarsinh Surma	0	0	0	Na	0	0	0
11	Athal	133/5	Shri Prabhubhai Maljibhai Gonarya	2200	2200	4400	Kaccha House	132000	264000	268400
12	Athal	135/1/Pio t Ne.6	M/s. Ram Enterprise	0	0	0	Compound Wall (10°ht), Gate, Security Cabin (in RCC)	534385.5	1068771	1068771
13	Athal	135/3	Shri Prabhubhai Maljibhai Gonarya	0	0	0	ASB Shop	479655	959310	959310
14	Athal	135/2	Gaju Vansha Valvi, Ramu Vansha Valvi, Shanti Vansha Valvi	0	0	0	Kaccha Shop	30000	60000	60000
15	Athal	137	Vaibhav Gandhi	0	0	0	Gate, chain link fencing	19601	39202	39202
16	Athal	149/1/2	M/s. Haveli Enterprise	0	0	0	Chain link fencing	27990	55980	55980
17	Athal	151	Shri Raviya Pidiya Dhoda	3000	3000	6000	ASB Shop, chain Enk fencing	138148	276296	282296
18	Athal	152/1/1	(Shri Vasiya Laliya Jirwa), Dilharben Bhupendrasinh	0	0	0	Nil	0	0	0
19	Athal	152/1/2	Axle pack	64800	64800	129600	Nil	0	0	129600
20	Athal	154/1	Ganpatsinh Chhlitusinh Chauhan	0	0	0	Nil	0	0	0
21	Athal	154/2	(Ranjitsinh Prathamsinh Pasmar), Narveertinh Ranjitsinh Parmar	4700	4700	9400	Rubble Masnory Compound Wall (10'ht)	60900	121800	131200
22	Athal	149/1/1	Ganputsinh Chhitusinh Chauhan	10000	10000	20000	Chain link fencing	7775	18550	35550

2. .

23	Athal	170/4P	Mohanbhai Jamsubhai Patel, Umedinai Jamsubhai Patel	0	0	0	NI	0	0	0
24	Athoi	175/1p1	Muvjibhai Chhaganbhai Patel, Chhotubhai Chhaganbhai Patel	12200	12200	24400	NØ	0	0	24400
25	Athal	189/1	Shri Kedarbhai Mittal Patel, Gaju Mittal Patel, Smt. Paliben widow of Prema Mittal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel, Jiteshbhai Puljibhai Patel	0	0	0	Nil	0	0	0
26	Athal	190/1 P	Sona widow of Gopji Laxi	0	0	0	Nil	0	0	0
27	Athal	204/1p1	Satish Ishwar Patel and others	26000	26000	52000	NU	0	0	52000
28	Athal	204/1P	M/s. Harsiddhi Travels	0	0	0	Weigh Bridge	500526	1001052	1001052
29	Athal	202/1	Manjulahen Bapujibhai Patel, Narsai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	532500	532500	1055000	Shop (in ASB), Rental rooms (in ASB), RCC Peech, Chain link feoring	1114865.4	2229731	3294731
30	Athal	201/2p1	Magji Mudiya Davariya,Mangla Mudiya Davariya	35400	35400	70800	Kaccha House	165750	331500	402300
31	Athal	201/2p2	Holiyabhai Rajiyabhai Davariya	20700	20700	41400	Nil	0	0	41400
32	Athal	200/4	Amrat Mangalbhai Patel,SumanMangalbhai Patel, Dhana Mangalbhai Patel,Geeta Mangalbhai Patel,Puahpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	384000	384600	768000	PCC Floor, ASB room	107843.4	215687	983687
33	Athal	200/2	Smt. Urmilaben Maganbhai Patel	150000	150000	300000	Shop (in ASB), Gate	254814	509628	809628
34	Athal	200/1	Amrut Maganbhai Patel, Suman Maganbhai Patel, Dhana Mangalbhai Patel,Geeta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	81500	81500	163000	Gate	9450	18900	181900

### SERIES – II No. 19

1.1

	Athal	199	Uttambhai Merarbhai Patel	96900	96900	193800	Gate	6750	13500	207300
5			Shti Rajendralaubhai Vasonia			D	House in ASB	516800	1033600	1033600
+	Athal	241/2	Kamuben Radkabhai Patel	335800	335800	671600	Kaccha House	234000	468000	1139600
36			Shri Kamu Radka Patet	0	0	0	Chain link fencing, Gate	20064	40128	40128
37	Athal	241/1	Vajirbhai Kikabhai Patel, Janiyabhai Kikabhai Patel,Mangibhai Kikabhai Patel	1100	1100	2200	NE	0	0	2200
	Athal	242	Laxmanbhai Dajibhai Patel, Jaswanthai Dajibhai Patel, Widow Santiben Lalubhai Patel, kachi Nondh, Asholobhai Lalubhai Patel, Kachi Nondh, Kaskuben Lalubhai Patel, Kachi Nondh, Jialubhai Dajibhai Patel, Kachi nondh, Pravinbhai Lalubhai Patel, Kachi Nondh	185300	185300	370600	Na	0	0	370600
			Smt. Eliaben Jasvanthhai Patel	0	0	0	Shop (in ASB)	129200	258400	258400
38			Shri Pravinbhai Lalubhai Patel	0	0	0	Room (in ASB), Septic tank - Excavation, Septic tank - Brickwork, Septic tank - RCC, Soak pit - Excavation, Soak pit - Brickwork, Soak pit - RCC	502743.63	1005487	1005487
			Shri Ashokbhai Lalubhai Patel			0	Room ( in ASB), Toilet (in ASB), Septic tank - Excavation, Septic tank - Brickwork, Septic tank - RCC, Soak pit - Excavation, Soak pit - Brickwork, Soak pit - RCC	128935.4	257871	257871

### SERIES – II No. 19

್ಷಣ

39	Athal	240/1	Vajibhai Kikabhai Patel, Janiyabhai Kikabhai Patel, Magjibhai Kikabhai Patel	94100	94100	188200	Nil	0	0	168200
			Shri Tuljibhai			0	PCC Floor	11142	22284	22284
40	Athal	240/2	Kamuben Radicabhai Patel	494300	494300	988600	Knecha House	120000	240000	1228600
41	Athal	238/1	Namnada Creations	20100	20100	40200	Gate, Compound Wall (10'ht), RCC Flooring	125607	251214	291414
42	Athal	238/2	Uttambhai Morarbhai Patel	295900	295900	591800	House (in ASB), Septic tank - Excavation, Septic tank - Brickwork, Septic tank - RCC, Soalt pit - Excavation, Soak pit - Brickwork, Soak pit - RCC, Borewell	335646.63	671293	1263093
43	Athal	237/1	Amrut Maganbhai Patel, Suman Maganbhai Patel, Dhana Mangalbhai Patel,Geeta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Jarsu Mangalbhai Patel	583800	583800	1167600	House OF in RCC, House FF in ASB, Oate	525720	1051440	2219040
44	Athal	237/2	Bhikis Randha, Somla Radha	93600	93600	187200	Na	0	0	187200
45	Athal	236/1	Manjulahen Bapujibhai Patel, Narsai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	181000	181000	362000	Nil	0	0	362000
40	Athal	205/2	Satish Ishwar Patel and others	124300	124300	248600	Smt. Pramilaben Rameshbhai Patei-	1179596	2359192	2607792
			Shri Shaileahbhai Ukad	0	0	0	Shop (in ASB)	142120	284240	284240

Athal	205/4	Manjulaben Bapujibhai Patel, Narasibhai Bapujibhai Patel, Kaiyanhhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	3000	3000	, 6000	Shop (in ASB)	452200	904400	910400
Athal	206/2/2								
		Savitaben Kantibhai Patel, Chandenben Kantibhai Patel, Amitaben Kantibhai Patel, Nitinbhai Kantibhai Patel.	87600	87600	175200	Borewell	40000	80000	255200
Athal	206/2/1	LenjibhaiVajirbhaiPatel	705800	705800	1411600	Gate, PCC Boor, Karcha House, Septic tank - Excavation, Septic tank - Brickwork, Septic tank - RCC, Soak pit - Excavation, Soak pit - Brickwork, Soak pit - RCC, chain link fencing, Borewell	359447,93	718896	2130494
Athal	207/3 P	Gulabbhai Aytulbhai Patel	0	0	0	Rental rooms (in ASB), Shop (in ASB)	627912	1255824	125582
Athal	207/2 P	Shri Kedarbhai Mitthal Patel, Gaju Mitthal Patel, Paliben Widow of Perma Mitthal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel, Jiteshbhai Fuljibhai Patel	146300	146300	292600	Rental rosess (in ASB), Shop (in ASB)	1188640	2377250	266988
	Athal	Athal 207/3 P	Athal 207/3 P Gulabbhai Aytulbhai Patel Athal 207/2 P Shri Kedarbhai Mitihal Patel, Gaju Mithal Patel, Paliben Widow of Perma Mitihal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel,	Athal 207/3 P Gulabbhai Aytulbhai Patel 0 Athal 207/2 P Shri Kedarbhai Mitthal Patel, Gaju Mithal Patel, Paliben Widow of Perma Mitthal, Chilibubhai Premabhai Patel, Kamieshbhai Premabhai Patel,	Athal 207/3 P Gulabbhai Aytulbhai Patel 0 0 Athal 207/2 P Shri Kedarbhai Mitthal Patel, Gaju Mitthal, Patel, Paliben Widow of Perma, Mitthal, Chilibubhai Premabhai Patel, Kamieshbhai Premabhai Patel,	Athal     207/3 P     Gulabbhai Aytulbhai Patel     0     0     0       Athal     207/2 P     Shri Kedarbhai Mitthal Patel, Gaju Mitthal Patel, Pulben Widow of Perma Mitthal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel,     146300     146300     292600	Athal       207/2 P       Shri Kedarbhai Mitthal Patel,       0       0       0       Rental rooms (in ASB)         Athal       207/2 P       Shri Kedarbhai Mitthal Patel,       146300       146300       292600       Rental rooms (in ASB), Shop (in ASB)         Athal       207/2 P       Shri Kedarbhai Mitthal Patel,       146300       146300       292600       Rental rooms (in ASB), Shop (in ASB)	Mhal     207/2 P     Stri Kodarbhai Mithal Patel, Caju Mithal Patel, Chilbubhai Premabhai Patel, Kamleshbhai Patel,     0     0     0     Rental rooms (in ASB)     627912       Athal     207/2 P     Shri Kodarbhai Mithal Patel, Caju Mithal Patel, Kamleshbhai Premabhai Patel, Kamleshbhai Premabhai Patel,     146300     146300     292600     Rental rooms (in ASB)     1188640	Athal       207/2 P       Shri Kedarbhai Mitthal Patel,       0       0       0       Rental rooms (in ASB), Shop (i

### SERIES – II No. 19

1. 1.

53	Athal		Mavjibhai Chhaganbhai Patel, Chhtoubhai Chhaganbhai Patel	86900	86900	173800	Rental rooms - GF in RCC, Rental rooms - FF in ASB	1722400	3444800	3619600
54	Athal	226/1	Mohanbhai Jamsubhai Patel, Umedbhai Jamsubhai Patel	82600	82600	165200	Shop/ Rental roccus - OF in RCC, Rooms - PF in RCC, Rooms - SF in ASB	1941896	3883792	4048992
15	Athal	225	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	50000	50000	100000	House (in ASB)	180880	361760	461760
56	Athal	208/3	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	S44000	544000	1088000	Shri Chhibu K Patel- Kaccha house, borewell, toilet (in ASB)	316349	632698	1720698
57	Athal	208/2	Mohanbhai Jamuubhai Patel, Umedhhai Jamuubhai Patel	177900	177960	355800	Rental rooms, Karcha House	768650	1537300	1893100
58	Athal	208/1	Mangalbhai Lalabhai Patel	0	0	o	Mohanbhai Jamsubhai Pasel, Umedbhai Jamsubhai Patel- Shop (in ASE)	671840	1343680	1343680
59	Athal	212/1	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	20400	20400	40800	Room (in ASB)	51680	103360	144160
60	Athal	211/p	Chaita Pidiya Dhodi	149300	149300	298600	Shop (in RCC)	920322	1840644	2139244
61	Athal	211/	Champaklal Babubhai Bhandari	84200	84200	168400	Shop (in ASB), Shop/ Rental rooma (in ASB)	620160	1240320	1408720
62	Athul	255/1/P	IPCA Laboratories Ltd Silvansa	299500	299500	\$99000	RCC Flooring, Compound Wall	1008646.75	2017294	2616294
63	Athal	210/1	Jel Pharmasutical Pvt. Ltd.	60900	60900	121800	Shri Rakeshsinh Mohansinh	387416.2	774832	896632
64	Athal	210/2	Jel Pharmanutical Pvt. Ltd.	13100	13100	26200	Shri Rakeshsinh Mohansinh	375865	751730	777930
65	Athal	269/5	Shri Raviya Pidiya Dhodi	1100	1100	2200	NU	0	0	2200

### SERIES – II No. 19

**1** 

66	Athal	269/4	Natwarsinh Ramsinh Chauhan	1100	1100	2200	NA	0	0	2200
67	Athal	269/1p	Chhaniben Ramesh Sanwar	198100	198100	396200	Shop (in ASB), Rental rooms (in	783275	1566550	1962750
68	Athal	269/3/2	Ramu Vaanse Valvi	0	0	0	Nil	0	0	0
69	Athal	259/1/1/ 2	Ms. KC Exterprises	96600	96600	193200	Compound Wall (107ht), Gate	274237.5	548475	741675
70	Athal	267/1	Bulbul Master Batches Pvt Ltd	19900	19900	39800	Compound wall (4'htj	476844	953688	993488
71	Athal	267/2	Buibul Master Batches Pvt Ltd	0	0	0	Compound wall (4'ht)	36216	72432	72432
72	Athal	271/3	Digvijayainh Jaydevainh Parmar	3000	3000	6000	Tin shed toilet, Gate, Compound	100702	201404	207404
73	Athal	271/2	Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarsinh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijeetsinh Harshadsinh Parmar,	3000	3000	6000	Nil	0	0	6000
74	Athal	272/1/1/	Award Offset Printers and Packaging Pvt Ltd	0	0	0	Transformer area	100000	200000	200000
75	Athal	272/2/1	(Deven Ramjibhai Radhani(HUF)), (Maheshbhai Mohanbhai Chauhan), Jalaram Industrial Estate	0	0	0	Nil	0	0	0
76	Athal	272/3	Lakhma Bhikla Bhagat	0	0	0	Nd	0	0	0
77	Athal		Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarsinh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijeetsinh Harshadsinh Parmar,	14300	14300	28600	Shop (in ASB), Kachha Shop	333141.6	666283	694883

78	Athal	275/3	Tulsidas Ramjibhai Patel	0	0	C	Gate, Compound wall, Transformer area, Officer (in ASE), Borewell	432237.8	864476	864476
79	Athal		Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Islawarsinh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijeetainh Harshadainh Parmar,	0	0	0	Nil	0	0	0
80	Athal	276/2/1/	Shri Harsiddhi Petroleum	0	0	0	Nd	0	0	0
				Total Compensatin of	Trees (Rs.)	14286400		Total Compensation of Damage Strucuture (Rs.)	69535010	\$3821416

5d/--(Bhanu Prabba) Collector Dadra and Nagar Haveli Silvassa

• •

B										
Br. Io.	Village	Survey Bo.	Name of persons believed to be having interest	Compensation of Trees (Rs.)	Solatium 100% on Trees (Ra.)	Total Compensation of Trees (Col. 5 +6)	Name of Damage Structure	Total Companyation of Damage Structure (Rs.)	Solatium 100% on Damage Structure (Ra.)	Total Compensation o Trees and Damage Structure (Col. 7 + 10) (Rs.)
1	2	3	4	5	6	7	8	9	10	11
1	Khardpada	20/1	Shri Indravijaysinh Umedsinh Parmar, Shri Rajendrasinh Umedsinh Parmar, Smt Yashvant Kavarba Umedsinh Parmar, Smt Premilaben Umedsinh Parmar	147800	147800	295600	Chain link fencing	109783	219566	515166
2	Khardpada	20/4	Kakdiya Bhadla	76500	76500	153000	Na	0	0	153000
3	Khardpada	20/3	Chhotu Chaita Kurada	79800	79800	159600	Kachha Shop	82500	165000	324600
4	Khardpada	20/2	Sakdiya Bhadla	7100	7100	14200	Shop (in ASB)	83980	167960	182160
5	Khardpada	19/6	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	0	0	0	Nil	0	0	0
6	Khardpada	19/5	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	0	0	0	NE	0	0	0
7	Khardpada	19/4	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	2600	2600	5200	NU	0	0	\$200
8	Khardpada	16/p1	Shri Rakeshsinh Mobansinh Chauhan	0	0	0	Na	0	0	0
9	Khardpada	17/2p1	Damyantiben Parsottambhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Ketanbhai Parsottambhai Jadav, Viralbhai Parsottambhai Jadav,	270500	270500	541000	. Na	ō	0	541000
			Shri Gamanbhai Ghelabhai Bhandari	0	0	0	Rental room (in ASB), Borewell	165970	331940	331940

411

### SERIES - II No. 19

• •

10	Khardpada	17/1p3	Nandiben Ranchhodbhai Bhandari, Bhaveshbhai Ranchhodbhai Bhandari, Hemaliben Ranchhodbhai Bhandari, Shaileshbhai Ranchhodbhai Bhandari	34900	34900	69800	Na	0	0	69800
11	Khardpada	15/ Piot	Bawa Dubad	13200	13200	26400	NEL	0	0	26400
12	Khardpada	8/P Plot G.	Ramubhai Keshavbhai Alias Gandabhai Jadav	4100	4100	8200	Nil	0	0	\$200
13	Khacdpada	8/p Plot.	Thakorbhai Gandabhai Alias Keshavbhai	2200	2200	4400	NI	0	0	4400
14	Khardpada	8/p Plot	Prabhubhai Keshavbhai Alias Gandabhai Jadov	133200	133200	266400	Nil	0	0	266400
15	Khardpada	6/ Plot	Damyantiben Parsottambhai Jaday, Mohanbhai Jaganbhai Jaday, Ketanbhai Parsottambhai Jaday,	198400	198400	396800	Post office in ASB, Borewell	157520	315040	711840
16	Shardpada	7/2 Plot	Vijaybhai Khandubhai	249000	249000	498000	Borewell	40000	80000	578000
17	Khardpada	7/1 O Plot	Manharbhai Khandubhai	313900	313900	627800	Chain link fencing, Gate, Berewell	59720	119440	747240
18	Khardpeda	384/1P5	Radhaben Shankarbhai, Thakorbhai Durlabhbhai, Daxesh Sumanbhai, Hansaben Sumanbhai, Tarunaben Sumanbhai, Hiteshbhai Sumanbhai, Yashvantbhai Durlabhbhai	242600	242600	485200	Chain link fencing, Gate, Shop (in ASB)	123596	247192	732392

• •

19	Khardpada	384/1P1	Rasmiken Dilipbhai Bhandari, Yogisha Dilipbhai Bhandari, Tejal Dilipbhai Bhandari, Jigisha Dilipbhai Bhandari, Jigan Dilipbhai Bhandari, Jigar Dilipbhai Bhandari, Chanchalben Dilipbhai Bhandari, Radhaben Kantilal Ibhandari (Vasoniya), Aumitaben Xantilal Bhandari, Kalpana Kantilal Bhandari, Nitaben Kantilal Bhandari, Nitaben Kantilal Bhandari, Rekhaben Kantilal Bhandari, Bhumikaben Kantilal Bhandari, Kaushika Dilipbhai Bhandari	162000	162000	324000	Nil	0	0	324000
20	Khardpada	384/1P2	Bhagvanbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinodhhai Babubhai Bhandari, Ramiben Babubhai Bhandari , Hansaben Balwanthhai	320600	320600	641200	Nil	0	0	641200
21	Khardpada	384/1P3	[Kamlaben Sureshbhai Patel], Sharadbhai Sureshbhai Patel	125500	125500	251000	Nil	0	0	251000
22	Khardpada	387/1	Bhagvanbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinedhhai Babubhai Bhandari, Ramiben Babubhai Bhandari, Hansaben Balwantbhai Bhandari	30100	30100	60200	Chain link fencing, Gate,Chain link fencing, Gate, Chain link fencing, gate,Chain link fencing, Gate,	98204	196408	256608
			Shri Dhansukhhhai Babubhai Bhandri	0	0	0	ASB Shop	155040	310080	310080
			Widow Hansaben B. Ethandari	0	0	0	Rental room (in ASB), Borewell	129200	258400	258400
23	Khardpada	387/2	M/S Shri Ram Industries	0	0	0	Nil	0	0	0
24	Khardpada	388/p1	Chanchalben Widow of Abhesinh	393900	393900	787800	Shri, Natvarsinh Abhesinh Solanki- Chain link Sencing, Gate, House (in ASS)	477662	955324	1743124

4.2

25	Khardpada	392/42	Heritage Marble Pvt Ltd	345900	345900	691800	Security Cabin (in RCC), Compound wall (4'ht), Gate, RCC flooring, Septic tank- excavation, Septic tank- brickwork, Septic tank- RCC, Soak pit- excavation, Soak pit- Brickwork, Soak pit- RCC	1405324.67	2810649	3502449
26	Khardpada	393	M/S Nilkamal Ltd.	0	0	0	RCC flooring	66213	132426	132426
27	Khardpada	394/2.	Fatehainh Kalidas Selanki, Virendrasinh Fatehainh Solanki	0	0	0	NI	0	0	0
28	Khardpada	378/2.	Amrutsinh Dalpathhai Solanki	18100	18100	36200	Chain link fencing, Gate	39478	78956	115156
29	Khardpada	378/1P4	Bai Bhuli Widow of Uka Mithani	35600	35600	71200	Chain link fencing, Gate	26237	52474	123674
30	Khardpada	380/1/2.	Minor Ranjay Yuzvendrasinh Parmar	205900	205900	411800	Nil	0	0	411800
31	Khardpada	380/1P3	Kharadpada Vibhag Seva Sahkari Mandali	23300	23300	46600	House en OF in RCC, Room in FF in RCC, Borewell	944176	1888352	1934952
32	Khardpada	382/P1	Bai Ganga Widow of Rama Dullabh	418300	418300	836600	Chain link fencing	20526	41052	877652
33	Xhardpada	23/P- Plot	Babubhai Haribhai Bhandari, [Išharatbhai Haribhai Bhandari], Bhagwanbhai Haribhai Bhandari, Uttambhai Haribhai Bhandari, Sureshbhai Haribhai Bhandari,	11400	11400	22800	Nil	0	0	22800
34	Khardpada	23/P- Plot	Niruben Govanbhai Bhandari, Savitaben Govanbhai Bhandari, Jashodaben Govanbhai Bhandari, Gitaben Dabyabhai Bhandari, Minor Bhavik Dabyabhai Bhandari, Minor Keral Dahyabhai	160300	160300	320600	мш	0	0	320600

35	Khardpada	22/Piot	[Shri Parbhubhai Mahdubhai Fatel], Shri Mohanbhai Mahdubhai Patel, Shri Tulaidas Mahdubhai Patel, Shri Tulaidas Mahdubhai Patel, Smt Radhaben Maganbhai Patel, Smt Hansaben Thakorbhai, Smt Hemlata Haamukhbhai Patel, Narmadahen Prabhubhai Patel, Narmadahen Prabhubhai Patel, Kiranbhai Prabhubhai Patel, Girishbhai Prabhubhai Patel, Shalleuhbhai Prabhubhai Patel, Shalleuhbhai Prabhubhai	54700	54700	109400	Na	0	0	109400
			Shri Heerabhi Dhayabhai Jadav	0	0	0	House on GF in RCC, House in FF in RCC, House in SF in ASB	1119520	2239040	223904
36	Khardpada	21/Piot	Keshavbhai Naranbhai	14300	14300	28600	House (in ASB)	294576	589152	617753
37	Khardpada	21/Plot	Nanabhai Naranbhai	62500	62600	125200	House on GF in RCC	672750	1345500	147070
38	Khardpada	17/Plot	Shri Bharatbhai Bawabhai Jadav	45300	45300	90600	Nil	0	0	90600
39	Khardpada	36	Shri Indravijaysinh Umedsinh Parmar, Shri Rajendrasinh Umedsinh Parmar, Sest Yashvant Kuvarba Umedsinh Parmar, Smt Premilaben Umedsinh Parmar	179500	179500	359000	Chain link fencing	76506	153012	51201
40	Khardpada	35	Chhotu Chaita Kurada	14200	14200	28400	Na	0	0	28400
41	Khardpada	34	Shri Devji Ravji Varli, Shaniben Katiyabhai Kurada, Maniyaben Katiyabhai Kurada, Vinodbhai Katiyabhai Kurada,	ō	0	0	Nă	0	0	0
42	Khardpada	31/1	Hemrajsinh Kiransinh Rathod, Smt Naynaben Kiransinh Rathod, Smt Bhikhubhi Thakorsinh Rathod	5000	5000	10000	Chain link fencing, Gate	19455	38910	48910
43	Khardpada	30	Budhiya Malji Janathiya	63600	63600	127200	Nil	0	0	12720

2.1

44	Khardpada	29/2	Shakruben Jamnabhai Varli/Janathiya, Mariyabhai Jamnabhai Verli/Janathiya, Bhadliben Jamnabhai Varli/Janathiya, RanchhoSbhai Jamnabhai Verli/Janathiya, Chaituben Jamnabhai Varli/Janathiya,	4100	4100	8200	Nü	0	0	8200
45	Khardpada	29/1	Chhotu Choita Kurada	17300	17300	34600	Na	0	0	34600
46	Khordpada	27/1	Suit Launiben Makanbhai Patel	34800	34800	69600	NB	0	0	69600
47	Khardpada	26	Shri Rakeshainh Mohansinh Chauhan	20900	20900	41800	Compound wall, Gate, PCC fleoring	616200.9	1232402	1274202
48	Khardpada	23	Sust. Swetaben Rakeshsinh Chauhan	129800	129800	259600	Chain link fencing	9330	18660	278260
49	Khardpada	22/2	Smt Velkiben Widow of Parsottam Ratna	0	0	٥	Nil	0	0	0
50	Khardpada	22/3	Shri Zinabhei Ratnabhai Dhodi	0	0	0	Nil	0	0	0
51	Khardpada	21/p2	Champakbhai Jivanbhai Bhandari	282700	282700	565400	Nill	0	0	565400
52	Khardpada	21/p1	Tuljibhai Chhanabhai Patel, Madhubhai Chhanabhai Patel, Maniben Chhanaben Patel	20700	20700	41400	Nil	0	0	41400
53	Khardpada	60/1/1	Rakeshsinh Mohansinh Chauhan	31600	31600	63200	Nil	. 0	0	63200
54	Khardpada	60/1/2	Babubbai Ramjibhai Varli, Shivlabhai Ramjibhai Varli, Shri Ramji Hatiya Varli	0	0	0	Nil	0	0	0
				Total Compensat	in of Trees (Rs.)	10015600		Total Compensation of Damage Strucuture (Rs.)	13986935	24002535

Sd/-(Bhanu Prabha) Collector Dadra and Nagar Havell Silvassa

(1) (A)

C										
Sr. No.	Village	Survey No.	Nume of persons believed to be having interest	Compensation of Trees (Rs.)	Solatium 100% on Trees (Rs.)	Total Compensation of Trees (Col. 5 +6)	Name of Damage Structure	Total Companisation of Damage Structure (Rs.)	Solatium 100% on Damage Structure (Rs.)	Total Compensation of Trees and Damage Structure (Col. 7 + 10) (Rs.)
1	2	3	4	5	6	7	8	9	10	11
1	Naroli	1079	Hindustan Pencils Ltd.	15000	15000		Compound wall (4'ht), Gate, Rubble Masnory Compound Wall (10'ht), Ornamental cast iron steel on Masnory wall, Shiiting Fire Hydrent line, Tranaformer area, Paver block	1104574,8	2209150	2239150
2	Naroli	1083/1/6	Patehsinh Dahyabhai Parmar	0	0	0	Nil	0	0	0
з	Naroli	1083/1/6 /1	Devluben Chhibubhai Patel, Makhiben Chhibubhai Patel, Gitaben Chhibubhai Patel, Minaben Natubhai Patel, Ku. Kalpanaben Natubhai Patel, Ku. Nehaben Natubhai Patel, Ku. Priyanäaben Natubhai Patel, Shri Pratikbhai Natubhai Patel, Shri Jignesbhhai Natubhai Patel	144800	144800	289600	Nil	0	0	289600
4	Naroli	1083/1	Shri Babu Bhagla Halpati	95600	95600	191200	Kachha House	171000	342000	533200
5	Naroli	1083/1p	Harubhai Raviyabhai Halpati	127300	127300	254600	Nil	0	0	254600
6	Naroli	1084/1/1 /1/4 Pict no. 4	Shri Narendrasinh Jashvantsinh Parmar	990500	990500	1981000	Compound wall (4'ht), Gate	232332	464664	2445664

### SERIES – II No. 19

\*<u>.</u> \*

7	Naroli	1084/1/1 /1/6 Plot no. 6	Shri Narendrasinh Jashvantsinh PannarPravinsinh Jashvantsinh Parmar	O	0	0	Chain link fencing, Gate	28640	57280	57280
8	Naroli	1084/1/1 /1/3 Plot no. 3	Shri Norendrasinh Jashvantsinh Parmar	0	0	0	Compound wall [4'ht], Shop [in ASB]	220401	440802	440802
9	Naroli	1084/1/1 /1/2	Provinsinh Jashvantsinh Panmar	86300	86300	172600	Nil	0	0	172600
10	Naroli	1084/1/1 /1/1	Amarsinh Jashvantsinh Parmar	0	0	0	Rontal room (in ASB), Septic tank- excavation, Septic tank- Brickwork, Septic tank- RCC, Soak pit- Excavation, Soak pit- Brickwork, Soak pit- RCC	645041.65	1290083	1290083
11	Naroli	1084/1/1 /1/5	Amarsinh Jashvantainh Parmar	93500	93500	187000	Nil	0	0	187000
	Naroli	1084/1/1 /2	Ajitsinh Jashvantsinh Parmar,Pravinsinh Jashvantsinh Parmar, Amarsinh Jashvantsinh Parmar, Narendrasinh Jashvantsinh	259300	239300	518600	Nil	0	0	518600
12			Shri Narendrasinh Jashvantsinh Parmar	0	0	0	Shop (in RCC), Rental Room (in ASB) SF	2660763.52	5321527	5321527
			Smt. Særdaben Narendrasinh Parmar	0	0	0	Rental room (in RCC) FF Floor	1662822.72	3325645	3325645
13	Naroli	167/1/7p 1	Smit Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Damar	44100	44100	88200	RCC Shop, Shop (in ASB)	2814657.24	5629314	\$717514
14	Naroli	167/1/6/ 1		321400	321400	642800	Chain link fencing, Tenaile Shed, RCC plinth for Tenaile Shed	1534796	3069592	3712392
15	Naroli	167/1/5/ I	Smi Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	50900	50900	101800	Barb wire fencing	27990	55980	157780

20.2

16	Naroli	167/1/4/	Smt Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	15300	15300	30600	Barb wire fencing	9330	18660	49260
17	Naroli	167/1/3/	Smt Laben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	3300	3300	6600	Barb wire fencing	9330	18660	25260
18	Naroli	167/1/2/ 1	Sint Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	4200	4200	8400	Barb wire fencing	9330	18660	27050
19	Naroli	167/1/1/ 1	Smt liaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	0	0	0	Barb wire fencing, Gate	22830	45660	45660
20	Naroli	164/1/1	Minor Ranjay Yuzvendrasinh Parmar	2300	2300	4600	Barb wire fencing	13995	27990	32590
21	Naroli	164/1/2	Miner Ranjay Yuzvendrasinh Parmar	22400	22400	44800	Barb wire fencing	9330	18660	63460
22	Naroli	164/1/3	Minor Ranjay Yuzvendrasinh Parmar	24000	24000	48000	Barb wire fencing	24258	48516	96516
23	Naroli	164/1/4	Yusvendrasinh Pravinsinh Parmar	0	0	0	Barb wire fencing	3732	7464	7464
24	Naroli	163/p1	Mabendrasinh Bapusinh Parmar	468700	468700	937400	Nil	0	0	937400
25	Naroli	163/P-Piot no.10	Jayantibhai Ramobhai Bhurkud, Nareshbhai Ramubhai Bhuricad,	149000	149000	298000	Shop (in ASII), Chain link fencing, Borewell, Shop in ASB	287213	574426	872426
26	Naroli	163/ Plot no. 9/3	Narottambhai Somabhai Patel	3000	3000	6000	Nil	0	0	6000
27	Naroli	163/ Plot no. 9/1	Shri Ajaybhai Thakorbhai Dessi	4100	4100	8200	NIL	0	0	8200
28	Naroli	107/ Plot no.20	Devliben Mohjibhai Varli, Raviya Mohjibhai Varli, Bhikhubhai Mohjibhai Varli, Maniben Mohjibhai Varli, Ramiben Jivanbhai Varli.	415800	415800	831600	NI	0	0	831600
			Shri Raviya Mohjibhai Varli	0	0	0	Kachha house	114000	228000	228000
		1	Shri Bhikhubhai Varti	0	0	0	Kachha house	126000	252000	252000

÷. •

29	Narolä	107/4 Plot no.21	Ramenhbhai Raviyabhai	27000	27000	54000	Shep (in ASB)	160830	361760	415760
30	Naroli	107/3 Plot no.21		5800	5800	11600	Shop (in ASB), Kachha house, Toilet, Rental room (in ASB), RCC Shop	845093.4	1692187	1703787
31	Naroli	107/2/2/ 1/1	Shri Arun Yashpal Agarwal Director of Amazon Plastics Pvt Ltd.	0	0	0	Rental room (in ASB)	232560	465120	465120
32	Naroli	107/2/1/ 1/1	Shri Mataprasad Mevalal Gupta, Kachi Nondh	0	0	0	Nil	0	0	0
33	Naroli	107/1p1	Ajitsinh Jashvantsinh Parmar, Pravinsinh Jashvantsinh Parmar, Amarsinh Jashvantsinh Parmar, Narendrasinh Jashvantsinh Parmar,	0	0	0	NÜ	0	ò	0
34	Naroli	106/1/1/ 5	Rajiv Bhalchand Chitre, Suchita Satish Chitre Sangita Satish Chitre Shital Satish Chitre	0	0	0	Nit	0	0	0
35	Naroli	106/1/2/ 3	Bhilose Industries Prt Ltd	86100	86100	172200	Nil	0	0	172200
36	Naroli	106/1/2/ 4/1	Bhilosa Industries Pet Ltd	110200	110200	220400	NS	0	0	220400
37	Naroli	222/1/3	Bhikhubhai Mohanbhai Solanki	0	0	0	Shop (in ASB), Gate	1446495	2892990	2892990
38	Naroli	222/1/2	Bhikhubhai Mohanbhai Solanki	0	0	0	Shop (in ASB)	1925080	3850160	3850160
39	Naroli	222/1/1	Dhikhubhai Mohanbhai Solanki	15400	15400	30800	Shop (in ASB), Gate, Toilet (in ASB)	2119460	4238920	4269720
40	Naroli	220/3/2	Kaliyar Maypack Packaging Solutions Ltd.	5300	5300	10600	Compound wall (4/ht), Gate	206652	413304	423904
41	Naroli	220/3/1	High-tech Plastics Limited Comapany	0	0	0	Nil	0	0	0
42	Naroli	220/2p1	Anjali Daughter of Govind Vaid & Wife of Kirtikumar Desai, Dr. Varsha Daughter of Govind Vaid & Wife of Pushkar Chaubal, Milind Govind Vaid	31100	31100	62200	Nil	0	0	62200

43	Naroli	220/1p1	Azjali Daughter of Govind Vaid & Wife of Kirtiloumar Desai, Dr. Varsha Daughter of Govind Vaid & Wife of Pushkar Chaubal, Milind Govind Vaid	285500	285500	571000	Na	0	0	571000
44	Naroli	215/3	Pushpaben Vestabbhai Patel, Rameahbhai Vestabhai Patel, Savitaben Vestabhai Patel, Pramodbhai Vestabhai Patel, Narmadaben Vestabhai Patel, Sumanbhai Vestabhai Patel, Dilipbhai Vestabhai Patel, Shakutalaben Vestabhai Patel	7200	7200	14400	Nit	0	0	14400
45	Naroli	214	Smt. Premilaben Chottubhai Patel, Shri Jagubhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kasturbhai Kenjibhai Patel, Kamleshibhai Puljibhai Patel, (Fulkiben Widow of Fulji) Shantilal Fulji Patel, Amrat Fulji Patel, Sumitaben Suresh Patel, Sandhya Suresh Patel, Disesh Suresh Patel, Disesh Suresh Patel, Ukadbhai Khushalbhai Patel, Shri Ramanbhai Khushalbhai Patel, Shri Ranjitbhai Khushalbhai Kamleshbhai Fuljibhal Patel	123500	123500	247000	Nil	0	0	24700
46	Naroli	211/2p1	Smt. Premilaben Chottubhai Patel, Shri Jagubhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kasturbhai Puljibhai Patel, Kasturbhai Puljibhai Patel, (Fulkiben Widow of Fulji) Shantilal Fulji Patel, Amrat Fulji Patel, Sumitaben Suresh Patel, Sandhya Suresh Patel, Dixesh Suresh Patel, Ukadbhai Khushalbhai Patel, Shri Ramanbhai Khushalbhai Patel, Shri Ranjitbhai Khushalbhai Kamleshbhai Fuljibhai Patel	71300	71300	142600	NU	0	0	14260

2.4

47	Naroli	211/1p1	Gaju Jeypal Patel, Jashwant Jeypal Patel	353600	353600	707200	Na	0	0	707200
48	Naroli	206/2	Kamlaben Natubhai Patel, Vasraj Vestabhai Patel Navinbhai Vestabhai Patel Lataben Vestabhai Patel	152800	152800	305600	Nil	0	o	305600
49	Naroli	205/1p1	M/S Cubatics Industries Pvt Ltd.	0	0	0	Nil	0	0	0
50	Naroli	205/1p2	Shri Hareshbhai Supdiyabhai Patel Shri Mukeshbhai Supdiyabhai Patel	1100	1100	2200	Shop OF in RCC, Room FF in RCC, Room SF in ASB sheet, Borewell	4781167.2	9562334	9564534
51	Naroli	204/P1 Plot no.14/1	Nareshbhai Bhikhabhai Mahyavarishi	16100	16100	32200	Barbwire fencing	7775	15550	47750
52	Naroli	204/P1 Plot no. 14/2	Kantilel Bhikhabhai Mahyavanshi	113100	113100	226200	Barbwire fencing	7775	15550	241750
53	Naroli	204/ Plot no.14/3	Narendrakumar Bhikhabhai Mahyavanshi	18600	18600	37200	Barbwire fencing	5909	11818	49018
54	Naroli	203/3	Shri Mehulkumar Nilesbainh Parmar	74000	74000	148000	Chain link fencing, paver block flooring	75642	151284	299284
55	Naroli	203/4p1	Slui Nileshkumar Sharatsinh Parmar	540800	540800	1081600	Rubble Mansory compound wall (107t), Gate, Shop (in ASB)	652600	1305200	2386800
56	Naroli	202/P-Plot no.8p1	Shri Amithhai Bhagabhai Patel Prakashbhai Bhagubhai Dhodi	105700	105700	211400	Nil	0	0	211400
57	Naroli	202/2/1	Shri Nitin Vimlanand Kopikar, Sant Shalia Nitin Kopikar, Smi Nisha Kopikar Chinmutgund, Shri Aditya Nitin Kopikar Dharmeshsinh Bhanabhai Rathod	8900	8900	17800	Chain link fencing	9952	19904	37704
58	Naroli	199/.	Ehilosa Industries Pvt Ltd.	0	0	0	Nil	0	0	0
59	Naroli	189/ Plot no.23	Shri Kishna Steel Products.	29700	29700	59400	Gate, RCC Rental room, ASB room,	920063.6	1840127	1899527

S. 1

60	Naroli	188/P Plot no.17	Somløbhai Sidvabhai	139600	139600	279200	Na	0	0	279200
51	Nazoli	184/1	Fatu Surkker, Raju Sukker	61700	61700	123400	Nil	0	0	123400
62	Naroli	182/1p	[Shri Indravijayxinh Umedsinh Parmar] Shri Rajendraainh Umedainh Parmar, Smt Yashvantkuvarba Umedsinh Parmar, Smt Premilaben Umedsinh Parmar, Naynadevi Indravijaysinh Parmar, Shri Digvijaysinh Indravijaysinh Parmar, Smt.Kirti Indravijaysinh Parmar, Smt Ritu Indravijaysinh Parmar	213900	213900	427800	Chain link fencing	13995	27990	455790
63	Naroli	168/p Plot 80.20	Chhibubhai Kaliyabhai Halpati, Vasubhai Kaliyabhai Halpati	186200	186200	372400	Nil	0	0	372400
64	Naroli	168/p Plot no.19	Chinaniya Bhadla	499200	499200	998400	Rental room (in ASD), Kachha shop	314830	629660	1628060
65	Naroli	168/1 Plot no. 18	Abhyudaysinh Vikramsinh Parmar Vikramsinh Chadrasinh Parmar	0	o	0	Shop GF in RCC, rental Room FF in RCC, Rental Room SF in ASB sheet	4478080	8956160	8956160
			Chhibubhai Somabhai Halpati	3000	3000	6000	Nà	0	0	6000
		168/2 Plot	Shri Vasantbhai Vaghbariya	0	0	0	Shop GF in RCC,Rental Room FF in RCC, Rental Room SF in ASB	1700550.88	3401102	3401102
65	Maroli	no.18	Sbri Vikramsinh Chadrasinh Parmar	0	0	0	Shop GF in RCC,Rental Room FF in RCC, Rental Room SF in ASB,Rental Room SF in RCC	4736320	9472640	9472640

1.1

#### THE GAZETTE OF DNH & DD

57	Harolä	169/1.	Shri Jashvantsinh Nanubhai Parmar	674000	674000	1348000	Heuse (m RCC), Shop (in ASB), Borewell, Septic tank- excavation, Septic tank- Brickwork, Septie tank- RCC, Sosk pit- Excavation, Sosk pit- Brickwork, Sosk pit- RCC	1724742.95	3449486	4797486
68	Naroli	169/2	Kalpanaben Natwarainh Parmar, Kumudben Natwarainh Parmar	235800	235800	471600	Nil	0	0	471600
69	Naroli	170/1/1/ 1	Widow Ranjan Ishwarsinh Parmar, Shri Mehulsinh Ishwarsinh ParmarShri Priyanksinh Ishwarsinh Parmar	74900	74900	149800	Compound wall (157ht), Gate	252020	504040	653840
70	Naroli	170/1/1/ 2	Widow Ranjan Ishwarsish Parmar, Shri Mehulsish Ishwarsish ParmarShri Priyanksish Ishwarsish Parmar	0	0	0	Nil	0	0	0
71	Naroli	170/1/2	Shri Mehulsinh Ishwarsinh Parasar	10100	10100	20200	Compound wall (10'ht), Gate, Shop in ASB	1203175	2405350	2426550
72	Naroli	170/2	Indiraben J Parmar	0	0	0	Nil	0	0	0

Page 77

۰.

#### THE GAZETTE OF DNH & DD

73					Compound wall (15'ht), ROC Flooring, Security cabin (in ASB), Structure Shed, Transformer area		93027687	108757687
		Total Compensa	tin of Trees (Rs.)	15730000		Total Compensation of Damage Strucuture (Rs.)		

No.LAQ/Athal Junction-Zaroli Bordar/30/2020/67/Part-I /300

Date: 12/072023

84/~ (Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa 5, B

#### Annexure- III-A

Details of Compensation of land, Trees and Damage Structure for Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Bordar.

Sr. No.	Village	Servey No.	Name of persons believed to be having interest	Class of land	Total Compensation of land (Ra.)	Total Compensation of Assets (Rs.)	Tetal (Col.6+7) (Rs.)
1	2	3	4	5	6	7	8
1	Athal	132/1	Smt. Vaishaliben Mukeshsinh Solanki	N.A.	798511	117696	916207
2	Athal	132/1/1/1	M/s Aero Fiber Pvt. Ltd.	N.A.	4760356	2246031	7006387
3	Athal	132/3	Mangubhai Lakhmabhai Patel, Babubhai Lakhmabhai Patel	Agri.	803630	38200	841830
4	Athal	132/1/1/3	Prince Pipes and Fitting Ltd.	N.A.	9633322	2155087	11788409
5	Athal	132/1/1/4/4	Shri T. N. B. Polymers Ltd. (Kachi Nond)	Agri.	281527	1280446	1561973
6	Atbal	133/1/3	Classic Marble Company Pvt. Ltd.	N.A.	1177292	66000	1243292
7	Athal	133/1/4	Classic Marble Company Pvt. Ltd.	N.A.	2989299	290400	3279699
8	Athal	133/2	Shri Prabhubhai Maljibhai Genarya	Agri.	302001	111560	413561
9	Athal	133/3	Jitendrasinh Bharatsinh Chauhan	N.A.	563053	83648	646701
10	Athal	133/4	Bhanuben Natwarsinh Sunna, Vanrajsinh Natwarsinh Sunna, Balrajsinh Natwarsinh Surma	Agri	261052	0	261052
11	Athal	133/5	Shri Prabhubhai Maljibhai Gonarya	Agri.	158678	268400	427078
12	Athal	135/1/Plot No.6	M/s. Ram Enterprise	N.A.	1392276	1068771	2461047
13	Athal	135/3	Shri Prabhabhal Maljibhal Gonarya	Agri,	194510	959310	1153820
14	Athal	135/2	Gaju Vansha Valvi, Raatu Vansha Valvi, Shanti Vansha Valvi	Agri.	511866	60000	571866
15	Athal	137	Vaibhav Gandhi	N.A.	450443	39202	489645
16	Athal	149/1/2	M/s. Haveli Enterprise	N.A.	3664962	55980	3720942
17	Athal	151	Shri Raviya Pidiya Dhodi	Agri.	394135	282296	676432
18	Athal	152/1/1	(Shri Vasiya Laliya Jirwa), Dilharben Bhapendrasinh	Agri.	214984	0	214984

Page 79

12 D

19	Athal	152/1/2	Axle pack	N.A.	2067940	129600	2197540
20	Athal	154/1	Genpatsiob Chhitusinh Chauhan	Agri.	363425	0	363425
21	Athal	154/2	[Ranjitsinh Prathamainh Parmar], Narveersinh Ranjitainh Parmar	Agri.	1325734	131200	1456934
22	Athai	149/1/1	Ganpatsinh Chhitusinh Chauhan	NA	2907400	35550	2942950
23	Athal	170/4P	Mohanbhai Jamauhhai Patel, Umedbhai Jamauhhai Patel	Agri.	1023733	0	1023733
24	Athal	175/1p1	Mavjibhai Chhaganbhai Patel, Chhotubhai Chhaganbhai Patel	Agri.	870173	24400	894573
25	Athal	189/1	Shri Kedurbhai Mittal Patel, Gaju Mittal Patel, Smt. Paliben widow of Prema Mittal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel, Jiteshbhai Fuljibhai Patel	Agri.	931597	0	931597
26	Athal	190/1 P	Sona widow of Gopji Laxi	Agri	25593	0	25593
27	Athal	204/1p1	Satish Ishwar Patel and others	Agri.	1033969	52000	1085969
28	Athal	204/1P	M/a. Harsiddhi Travels	N.A.	1556074	1001052	2557126
29	Athel	202/1	Manjulaben Bapujibhai Patel, Narsai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	Agri.	911122	3294731	4205853
30	Athal	201/2p1	Magji Mudiya Davariya,Mangla Mudiya Davariya	Agri.	214984	402300	617284
31	Arhal	201/2p2	Holiyabhai Rajiyabhai Davariya	Agri.	235458	41400	276858
32	Athal	200/4	Amrat Mangalthai Patel,SumanMangalthai Patel, Dhana Mangalthai Patel,Geeta Mangalthai Patel,Pushpa Mangalthai Patel,Bai Janu Mangalthai Patel	Agri.	1039089	983687	2022776

· · · ·

33	Athal	200/2	Smt. Urmilaben Maganhhai Patel	Agri.	865054	809628	1674682
34	Athal	200/1	Amrut Maganbhai Patel, Suman Maganbhai Patel, Ohana Mangalbhai Patel,Geeta Mangalbhai Patel,Pashpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	Agri,	296883	181900	478783
35	Athai	199	Uttambhai Morarbhai Patel	Agri	2083295	207300	2290595
		1	Shri Rajendralaubhai Vasonia	E F	0	1033600	1033600
36	Athai	241/2	Kamuben Radkabhai Patel	Agri.	911122	1139600	2050722
00			Shri Kanu Radka Patel		0	40128	40128
37	Athai	241/1	Vajirbhai Kikabhai Patel, Jamiyabhai Kikabhai Patel,Mangjibhai Kikabhai Patel	Agri.	261052	2200	263252
38	Athal	242	Laxmanbhai Dajibhai Patel, Jaswanthhai Dajibhai Patel, Widow Santiben Lalubhai Patel, kachi Nondh, Ashokhhai Lalubhai Patel, Kachi Nondh, Kankuben Lalubhai Patel, Kachi Nondh, Jalubhai Dajibhai Patel, Kachi nondh, Pravinthai Lalubhai Patel, Kachi Nondh	Agri.	3030248	370600	3400848
	1		Smt. Eliaben Jasvantbhai Patel		0	258400	258400
- 1			Shri Pravinbhai Lalubhai Patel		0	1005487	1005487
			Shri Ashokbhai Lalubhai Patel		0	257871	257871
39	Athal	240/1	Vajibhai Kikabhai Patel, Janiyabhai Kikabhai Patel, Magjibhai Kikabhai Patel	Agri.	1474175	188200	1662375
	1		Shri Tuljibhai	F	0	22284	22284
40	Athal	240/2	Kanuben Radkabhai Patel	Agri.	2042347	1228600	3270947
41	Athal	238/1	Narmada Creations	N.A.	2764077	291414	3055491
42	Athal	238/2	Uttambhai Morarbhai Patel	Agri.	1909252	1263093	3172355

5. 3

43	Athal	237/1	Amrut Maganbhal Patel, Suman Maganbhai Patel, Dhuna Mangalbhai Patel,Geeta Mangalbhai Patel,Pushpa Mangalbhai Patel,Bai Janu Mangalbhai Patel	Agri.	3552352	2219040	6771392
44	Athal	237/2	Bhikla Randha, Somia Radha	Agri.	900884	187200	1088084
45	Athal	236/1	Manjulaben Bapujibhal Patel, Narsai Bapujibhai Patel, Kalyanbhai Bapujibhai Patel, Bhanabhai Bapujibhai Patel, Somabhai Bapujibhai Patel	Agri.	4335506	362000	4697506
46	Athai	205/2	Satish Ishwar Patel and others	Agri.	2671941	2607792	\$279733
	the second second		Shri Shaileshbhai Ukad	F	0	284240	284240
47	Athal	205/3	Shri Kedarbhai Mithal Patel, Gaju Mithal Patel, Shri Paliben widow of Prema Mithal, Chilibubhai Premabhai Patel, Kamleshbhai Premabhai Patel, Jiteahbhai Fuljibhai Patel	Agri.	1397395	20602768	22000163
48	Athal	205/4	Manjulaben Bapujibhai Patel, Narsaibhai Bapujibhai Patel, Kalyanbhai Ilapujibhai Patel, Bhanabhai Bapujibhai Patel,Somabhai Bapujibhai Patel	Agri,	511866	910400	1422266
49	Athal	206/2/2	Savitaben Kantibhai Patel, Chandenben Kantibhai Patel, Amitaben Kantibhai Patel, Nitinbhai Kantibhai Patel.	Agri	337632	255200	593032
50	Athal	206/2/1	LimjibhaiVajirbhaiPatel	Agri.	1730108	2130495	3860604
51	Athal	207/3 P	Gulabhhai Aytulbhai Patel	Agri.	972546	1255824	2228370
52	Athal	207/2 P	Shri Kedarbhai Mitthal Patel, Gaju Mitthal Patel, Palibrn Widow of Perma Mitthal, Chhibubhai Premabhai Patel, Kamleshbhai Premabhai Patel, Jiteshbhai Faljibhai Patel	Agri.	389018	2669880	3058898
53	Athal	207/1	Mavjibhai Chhaganbhai Patel, Chhtoubhai Chhaganbhai Patel	Agri.	962309	3618600	4580909
54	Athal	226/1	Mohanbhai Jamsubhai Patel, Umedbhai Jamsubhai Patel	Agri.	389018	4048992	4438010

55	Athal	225	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	Agri.	854817	461760	1316577
56	Athal	208/3	Shri Keshav Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	Agri.	972546	1720698	2693244
57	Athal	208/2	Mohanbhai Jamsubhai Patel, Umedbhai Jamsubhai Patel	Agri.	332713	1893100	2225813
58	Athal	208/1	Mangalbhai Lalabhai Patel	Agri.	368543	1343580	1712223
59	Athal	212/1	Shri Keshov Dhuriya Patel, Khalpa Dhuriya Patel, Shankar Dhuriya Patel	Agri,	56305	144160	200465
60	Athal	211/p	Chaitz Pidiya Dhodi	Agri.	2533738	2139244	4672982
61	Athal	211/	Champakial Babubbai Bhandari	Agri.	725850	1408720	2135570
62	Athal	255/1/P	IPCA Laboratories Ltd Silvassa	N.A.	11721737	2616294	14338031
63	Athal	210/1	Jel Pharmasutical Pvt. Ltd.	N.A.	2938113	896632	3834745
64	Athal	210/2	Jel Pharmasutical Pvt. Ltd.	N.A.	1218242	777930	1996172
65	Athal	269/5	Shri Raviya Pidiya Dhofi	Agri.	327594	2200	329794
66	Athal	269/4	Natwarsinh Ramsinh Chauhan	N.A.	14711036	2200	14713236
67	Athal	260/1p	Chhaniben Ramesh Sanwar	Agri.	3700793	1962750	5663543
68	Athal	269/3/2	Ramu Vsansa Valvi	Agri.	542578	0	542578
69	Athal	269/1/1/2	Ms. KC Exterprises	N.A.	6009310	741675	6750985
70	Athal	267/1	Bulbul Master Batches Pvt Ltd	N.A.	11025599	993488	12019087
71	Athal	267/2	Bulbul Master Batches Pvt Ltd	N.A.	1208004	72432	1280436
72	Athal	271/3	Digvijaysinh Jaydevsinh Parmar	N.A.	952071	207404	1159475

#### THE GAZETTE OF DNH & DD

			Abhijcetsinh Harshadsinh Parmar,				
79	Athal	276/2/1p2	Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarsinh Morarbhai Parmar, Dharmishtaben Harshadainh Parmar, Miralben Harshadainh Parmar,	Agri.	1023733	0	1023733
78	Athal	275/3	Tulsidas Ramjibbai Patel	N.A.	1607261	864476	2471737 1023733
77	Atal	2/1/1/2	Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarsiah Morarbhai Parmar, Dharmishtaben Harshadsiah Parmar, Miralben Harshadsiah Parmar, Abhijeetsiah Harshadsiah Parmar,	Agr	1990210	071083	207101
76	Athal	272/3 271/1/2	Lakhma Bhikla Bhagat Maniben Morarbhai Parmar,	Agri. Agri.	726850	0 694883	726850 2691161
75	Athal	272/2/1	(Deven Ramjibhai Radhani(HUF)), (Maheshbhai Mohanbhai Chauhan), Jalaram Industrial Estate	N.A.	3234995	0	3234995
74	Athal	272/1/1/1	Award Offset Printers and Packaging Pvt. Ltd	N.A.	5876225	200000	6076225
73	Athal	271/2	Maniben Morarbhai Parmar, Ranjitsinh Morarbhai Parmar, Ishwarainh Morarbhai Parmar, Dharmishtaben Harshadsinh Parmar, Miralben Harshadsinh Parmar, Abhijeetsinh Harshadsinh Parmar,	Canal	665426	6000	671426

Sd/-(Bhana Prabha) Collector Dadra and Nagar Havell Silvassa

Page	85

В			1				
8r. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Total Compensation of land (Rs.)	Total Compensation of Assets (Rs.)	Total (Col.6+7) (Rs.)
1	2	3		5	6	7	8
1	Khardpada	20/1	Shri Indravijaysinh Umedsinh Parmar, Shri Rajeedrasinh Umedsinh Parmar, Sast Yashvant Kuvarba Umedsinh Parmar, Smt Premilaben Umedsinh Parmar	Agri	14746867	515166	15262033
2	Khardpada	20/4	Kakdiya Bhadla	Agri	1187529	153000	1340529
3	Khardpada	20/3	Chhotu Chaita Kurada	Agri	957190	324600	1281790
4	Khardpada	20/2	Kajidiya Bhudla	Agri	465798	182160	647958
5	Khardpada	19/6	Vijayaben Chimanbhai Jadav, Neranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	Agri	383900	0	383900
6	Khardpada	19/5	Vijayahen Chimanbhai Jadaw, Naranbhai Jaganbhai Jadaw, Mohanbhai Jaganbhai Jadaw, Naginbhai Jaganbhai Jadaw	Agri	486273	0	486273
7	Khardpada	19/4	Vijayaben Chimanbhai Jadav, Naranbhai Jaganbhai Jadav, Mohanbhai Jaganbhai Jadav, Naginbhai Jaganbhai Jadav	Agri	941834	5200	947034
8	Khardpada	18/p1	Shri Rakeshainh Mohanainh Chauhan	N.A.	153560	0	153560

9	Khardpada	Khardpada 17/2p1	Naranbhai Jaganbhai Jadav, Mohambhai Jaganbhai Jadav, Ketanbhai Parsottambhai Jadav, Viralbhai Parsottambhai Jadav, Shri Gamanbhai Ghelshhai Bhandari	Parsottambhai Jadav, Viralbhai	Agri	2047465	541000	2588465
			Shri Gamanbhai Ghelabhai Bhandari	Г	0	331940	331940	
10	Khardpada	17/1p3	Nandiben Ranchhodbhai Bhandari, Bhaveshbhai Ranchhodbhai Bhandari, Hemaliben Ranchhodbhai Bhandari, Shaileshbhai Ranchhodbhai Bhandari	Agti	1668684	69800	1738484	
11	Khardpada	15/ Plot	Bawa Dubad	N.A.	4350863	26400	4377263	
12	Khardpada	8/P Plot G.	Ramubhai Keshmbhai Ahas Gandabhai Jadav	N.A.	276408	8200	284608	
13	Khardpada	8/p Plot.	Thakorbhai Gandabhai Alias Keshavbhai	N.A.	440205	4400	444605	
14	Khardpada	8/p Plot	Prabhubhai Keshavbhai Alias Gandabhai Jadav	N.A.	286645	266400	553045	
15	Khardpada	6/ Plot	Damyantiben Parsottambhai Jadav, Mohanbhai Jaganbhai Jadav, Ketanbhai Parsottambhai Jadav, Viralbhai Parsottambhai Jadav,	N.A.	1842719	711840	2554559	
16	Khardpada	7/2 Plot	Vijaybhai Khandubhai	N.A.	1095394	578000	1673394	
17	Khardpada	7/1 G Plot	Manharbhai Khandubhai	N.A.	993020	747240	1740260	
18	Khardpada	384/1P5	Radhaben Shankarbhai, Thalorbhai Durlabhbhai, Daxesh Sumanbhai, Hansaben Sumanbhai, Tarunaben Sumanbhai, Hiteabbhai Sumanbhai, Yashvanthai Durlabhbhai	Agri	1392276	732392	2124668	

·. ·

19	Khardpada	384/IPI	Rasmiben Dilipbhai Bhandari, Yogisha Dilipbhai Bhandari, Tejal Dilipbhai Bhandari, Jigisha Dilipbhai Bhandari, Sapna Dilipbhai Bhandari, Dilipbhai Bhandari, Chanchaiben Dilipbhai Bhandari, Radhaben Kantilai Bhandari, (Vasoniya), Asmitaben Kantilai Bhandari, Kalgana Kantilai Bhandari, Nitaben Kantilai Bhandari, Nishaben Kantilai Bhandari, Nishaben Kantilai Bhandari, Bhumikaben Kantilai Bhandari, Bhumikaben Kantilai Bhandari, Kaushika Dilipbhai Bhandari,	Agri	2994417	334000	3318417
20	Khardpada	384/192	Bhagvanbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinodhhai Babubhai Bhandari, Ramiben Babubhai Bhandari , Hansaben Balwantbhai Shandari	Agri	1417869	641200	2059069
21	Khardpada	384/1P3	[Kamlaben Sureahbhai Patel], Sharadbhai Sureahbhai Patel	Agri	1187529	251000	1438529
22	Khardpada	387/1	Bhagumbhai Babubhai Bhandari, Dhansukhbhai Babubhai Bhandari, Vinodbhai Babubhai Bhandari, Ramiben Babubhai Bhandari, Hansaben Balwantbhai Bhandari	Agri	1474175	256608	1730783
			Shri Dhansukhbhai Babubhai Bhandri	Ē	0	310080	310080
	1000	2011.10	Widow Hansaben B. Bhandari		0	258400	258400
23	Khardpada	387/2	M/S Shri Ram Industries	Agri	2702654	0	2702654
24	Khardpada	388/p1	Chanchalben Widow of Abheainh	Agri	6423922	1743124	8167046
25	Khardpada	392/42	Heritage Marble Pvt Ltd	N.A.	12888793	3502449	16391242
25	Kharápada	393	M/S Nilkamai Ltd.	N.A.	798511	132426	930937
27	Khardpeda	394/2.	Fatehsinh Kalidas Solanki, Virendrasinh Fatehainh Solanki	Agri	946953	0	946953
28	Khardpada	378/2.	Amrutsinh Dalpathhai Solanki	Agri	696138	115156	811294

Page 87

\*<u>.</u> \*

29	Khardpada	378/1P4	Bai Bhuli Widow of Uka Mithani	Agri	317356	123674	441030
30	Khardpada	380/1/2.	Minor Ranjay Yuzvendrasinh Parmar	N.A.	2610518	411800	3022318
11	Khardpada.	380/1P3	Kharadpada Vibhag Seva Sahkari Mandali	Agri	695138	1934952	2631090
12	Khardpada	382/P1	Bai Ganga Widow of Rama Dullabh	Agri	1141462	877652	2019114
33	Khardpada -	23/P- Plot	Babubhai Haribhai Bhandari, [Bharatbhai Haribhai Bhandari], Bhagwanbhai Haribhai Bhandari, Uttambhai Haribhai Bhandari, Surethbhai Haribhai Bhandari, Lilaben Bharatbhai Bhandari.	N.A.	2047463	22800	2070265
34	Khardpada	23/P- Plot	Niruben Govanbhai Bhandari, Savitaben Govanbhai Bhandari, Jashodaben Govanbhai Bhandari, Gitaben Dahyabhai Bhandari, Minor Bhavik Dahyabhai Bhandari, Minor Keral Dahyabhai Bhandari	N.A.	2293161	320600	2613761
35	Khardpada	22/Piot	[Shri Parbhubhai Mahdubhai Patel], Shri Mohanbbai Mahdubhai Patel, Shri Tulaidas Mahdubhai Patel, Shri Radhaben Maganbhai Patel, Smt Hansaben Thaloorbhai, Smt Heatlata Hassaukhbhai Patel, Narmpdaben Prabhubhai Patel, Uttashbai Prabhubhai Patel, Kiranbhai Prabhubhai Patel, Girishbhai Prabhubhai Patel, Shaileabbhai Prabhubhai Patel.	N.A.	2456958	109400	2566358
			Shri Heerabhi Dhayabhai Jadav		0	2239040	2239040
36	Khardpeda	21/Plot	Keshavbhai Naranbhai	N.A.	1054444	617752	1672196
37	Khardpada	21/Plot	Nanabhai Naranbhai	N.A.	1576548	1470700	3047248
38	Khardpeda	17/Plot	Shri Bharatbhai Bawabhai Jadav	N.A.	2866451	90600	2957051
39	Khardpada	36	Shri Indravijaysinh Umedsinh Parmar, Shri Rajendrasinh Umedsinh Parmar, Smt Yashvant Kuvarba Umedsinh Parmar, Smt Premilaben Umedsinh Parmar	Agri	9290372	512012	9802384

58.5

40	Khardpada	35	Chliotu Chaita Kurada	Agri	3844115	28400	3879515
41	Khardpada	34	Shri Devji Ravji Varli, Shaniben Katiyabhai Kurada, Maniyaben Katiyabhai Kurada, Vinodbhai Katiyabhai Kurada,	Agri	522103	0	522103
42	Khardpada	31/1	Henrajsinh Kiransinh Rathod, Smt Naysaben Kiransinh Rathod, Smt Bhikhubhi Thalcorainh Rathod	Agri	685901	48910	734811
43	Khardpada	30	Budhiya Malji Janathiya	Agri	3378318	127200	3505518
44	Khardpada	29/2	Shakruben Jamnabhai Varli/Janathiya, Mariyabhai Jamnabhai Varli/Janathiya, Bhadliben Jamnabhai Varli/Janathiya, Ranchhodbhai Jamnabhai Varli/Janathiya, Chaituben Jamnabhai Varli/Janathiya	Agri	409493	8200	417693
45	Khardpada	29/1	Chhotu Chaita Kurada	Agri	2047465	34600	2082065
46	Khardpada	27/1	Smt Laxmiben Malcanbhai Patel	Agri	1074919	69600	1144519
47	Khardpada	26	Shri Rakeshsinh Mohansinh Chauhan	Agri	1955328	1274202	3229530
48	Khardpada	23	Smt. Swetaben Rakeshninh Chauhan	Agri	2047465	278260	2325725
49	Khardpada	22/2	Smt Velkiben Widow of Parsottam Ratna	Agri	824104	0	824104
50	Khardpada	22/3	Shri Zinabhsi Ratnabhai Dhodi	Agri	2057702	0	2057702
51	Khardpada	21/p2	Champakbhai Jivanbhai Bhandari	Agri	1878548	565400	2443948
52	Khardpeda	21/p1	Tuljibbai Chhanabhai Patel, Madhubhai Chhanabhai Patel, Maniben Chhanaben Patel	Agri	1059562	41400	1100962
53	Khardpada	60/1/1	Rakeshsinh Mohansinh Chauhan	N.A.	1054444	63200	1117644
54	Khardpada	60/1/2	Babubhai Ramjibhai Varli, Shivlabhai Ramjibhai Varli, Shri Ramji Hatiya Varli	Agri	307120	0	307120
-			Tatal Ca	npensation	114745051	24002535	138747586

54./--(Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

Раде	90
rage	90

1							
Sr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of Innd	Total Compensation of land (Rs.)	Total Compensation of Assets (Rs.)	Total (Cel.6+7) (Ra.)
1	2	a	4	5	6	7	8
î	Naroli	1079	Hindustan Pencils Ltd.	N.A.	11046539	2239150	13285689
2	Naroli	1083/1/6/2.	Fetchsinh Dabyabhai Parmar	N.A.	4464404	0	4464404
з	Naroli	1083/1/6/1	Devluben Chhibubhai Patel, Makhliben Chhibubhai Patel, Gitaben Chhibubhai Patel, Minaben Natubhai Patel, Ku, Kalpanaben Natubhai Patel, Ku, Nehaben Natubhai Patel, Ku, Priyankaben Natubhai Patel, Shri Pratikhhai Natubhai Patel, Shri Jigneshbhai Natubhai Patel	Agri.	1528619	289600	1818219
4	Naroli	1083/1	Shri Babu Bhagla Halpati	Agri.	1161750	533200	1694950
5	Naroli	1083/1p	Harubhai Raviyabhai Halpati	Agri.	650358	254600	904958
6	Nurola	1084/1/1/1/4 Plot no. 4	Shri Narendrasinh Jashvantsinh Parmar	N.A.	2117730	2445664	4563394
7	Naroli	1084/1/1/1/6 Plot no. 6	Shri Narendrasinh Jashvantsinh ParmarPravinsinh Jashvantsinh Parmar	N.A.	1064589	57280	1121869
8	Naroli	1084/1/1/1/3 Piet no. 3	Shri Nacendrasinh Jashvantsinh Parmar	N.A.	2712985	440802	3153787
9	Naroli	1084/1/1/1/2	Previnsinh Jashvantsinh Parmar	N.A.	3411263	172600	3583863
10	Naroli	1084/1/1/1/1	Amarsinh Jashvantsinh Parmar	N.A.	847092	1290083	2137175
11	Naroli	1084/1/1/1/5	Amarsinh Jashvantsinh Parmar	N.A.	1396557	187000	1583557

N = N

12	Naroli	1084/1/1/2	Ajitsinh Jashvantsinh Parmar, Pravinsinh Jashvantsinh Parmar, Amarsinh Jashvantsinh Parmar, Narendrasinh Jashvantsinh Parmar	Agri.	1105164	518600	1624764
			Shri Narendrasinh Jashvantsinh Parmar	t	¢	5321527	\$321527
			Sout. Sardaben Narendrasinh Parusar		0	3325645	3325645
13	Naroli	167/1/7p1	Smt Baben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepainh Natvarsinh Parmar	Agri.	1745405	5717514	7462919
14	Naroli	167/1/6/1	Smi Ilaben Natvarsinh Parmar, Sbri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	6170035	3712392	9852427
15	Naroli	167/1/5/1	Srut Ilaben Natvarainh Parmar, Shri Sanjayainh Natvarainh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	2049047	157780	2206827
16	Naroli	167/1/4/1	Smit Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	2415357	49260	2464617
17	Naroli	167/1/3/1	Smi llaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	2573243	25260	2898505
18	Naroli	167/1/2/1	Smt Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsiah Natvarsinh Parmar	N.A.	1968917	27060	1995977
19	Naroli	167/1/1/1	Smit Ilaben Natvarsinh Parmar, Shri Sanjaysinh Natvarsinh Parmar, Shri Sandeepsinh Natvarsinh Parmar	N.A.	11447	45660	57107
20	Naroli	164/1/1	Minor Ranjay Yuzvendrasinh Parmar	N.A.	16220668	32590	16253258
21	Naroli	164/1/2	Minor Ranjay Yuzwendrasinh Parmar	N.A.	2255096	63460	2318556
22	Naroli	164/1/3	Minor Ranjay Yuzvendrasinh Parmar	N.A.	2552724	96516	2649240
23	Naroli	164/1/4	Yuzvendrasinh Pravinsinh Parmar	N.A.	583807	7464	591271

ж P

24	Naroli	163/p1	Mahendrasinh Bapusinh Parmar	Agri.	2779307	937400	3716707
25	Naroli	163/P-Plot no.10	Jayantibhai Ramubhai Bhurkud, Nareshbhai Ramubhai Bhurkud,	Agri.	1689819	872426	2562245
26	Naroli	163/ Plot no. 9/3	Narottambhai Sunabhai Patel	Agri.	711503	6000	717503
27	Naroli	163/ Plot no. 9/1	Shri Ajaybhai Thakorbhai Desai	Agri.	1067255	8200	1075455
28	Naroli	107/ Plet no.20	Devliben Mohjibhai Varli, Raviya Mohjibhai Varli, Bhikhubhai Mohjibhai Varli, Maniben Mohjibhai Varli, Raniben Jivanbhai Varli.	Agri.	4352394	831600	5183994
- 1		10 D	Shri Raviya Mohjibhai Varli		0	228000	228000
		Second States	Shri Bhikhubhai Varli		0	252000	252000
29	Naroli	107/4 Plot no.21	Rameshbhai Raviyabhai	Agri.	478040	415760	893800
30	Naroli	107/3 Plot po.21	Rameshbhai Raviyabhai	Agri.	4908256	1703787	6612043
31	Naroli	107/2/2/1/1	Shri Arun Yashpel Agarwal Director of Amazon Plastics Pvt Ltd.	N.A.	2587065	465120	3052185
32	Naroli	107/2/1/1/1	Shri Mataprasad Mevalal Gapta, Kachi Nondh	N.A.	2163519	0	2163519
33	Naroli	107/1p1	Ajitsinh Jashvantsinh Parmar, Provinsinh Jashvantsinh Parmar, Amarsinh Jashvantsinh Parmar, Narendrasinh Jashvantsinh Parmar.	Agri.	116731	o	116731
34	Naroli	106/1/1/5	Rajiv Bhalchand Chitre, Stachita Satish Chitre Sangita Satish Chitre Shital Satish Chitre	Agri.	100055	o	100055
35	Naroli	106/1/2/3	Bhilosa Industrira Pvt Ltd	N.A.	17067761	172200	17239961
36	Naroli	106/1/2/4/1	Bhilosa Industries Pvt Ltd	N.A.	2289438	220400	2509838
37	Naroli	222/1/3	Bhikhubhai Mohanbhai Solanki	Agri.	333517	2892990	3226507
38	Naroli	222/1/2	Bhikhubhai Mohanbhai Solanki	Agri.	1289599	3850160	6139759
39	Naroli	222/1/1	Bhüchubhai Mohanbhai Solanki	Agri.	3546396	4269720	7816116
40	Naroli	220/3/2	Kaliyar Maypack Packaging Solutions Ltd.	N.A.	9489721	423904	9913625
41	Naroli	220/3/1	High-toch Plastics Limited Comapany	N.A.	\$7237	0	57237

1.5

42	Nareli	220/2p1	Anjahl Daughter of Govind Vaid & Wife of Kirtikamar Desai, Dr. Varsha Daughter of Govind Vaid & Wife of Pushkar Chaubal, Milind Govind Vaid	Agri.	455807	62200	518007
43	Naroli	220/1p1	Anjali Daughter of Govind Vaid & Wife of Kirtikumar Desai, Dr. Varsha Daughter of Govind Vaid & Wife of Pushkar Chaubal, Milind Govind Vaid	Agri.	4585856	571000	5156856
44	Naroli	215/3	Pushpaben Vestal-bhai Patel, Rameshibhai Vestabhai Patel, Savitaben Vestabhai Patel, Pramodibhai Vestabhai Patel, Narmadaben Vestabhai Patel, Sumanbhai Vestabhai Patel, Dilipbhai Vestabhai Patel, Shakutalaben Vestabhai Patel	Agri.	1789874	14400	1804274
45	Naroli	214	Smt. Premilaben Chottubhai Patel, Shri Jagabhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kasturbhai Patel, (Fulkiben Widow of Fulji) Shantilaf Pulji Patel, Amrat Fulji Patel, Sumitaben Suresh Patel, Sandhya Suresh Patel, Dixesh Suresh Patel, Ukadhai Khushalbhai Patel, Shri Ramanbhai Khushalbhai Patel, Shri Ramithhai Khushalbhai Kamleshbhai Puljibhai Patel	Agri.	1272923	247000	1519923
46	Naroli	211/2p1	Smt. Premilaben Chottubhai Patel, Shri Jagubhai Kanjibhai Patel, Kasturbhai Kanjibhai Patel, Kamleshibhai Fuljibhai Patel, (Fulkiben Widow of Fulji) Shantilal Fulji Patel, Amrat Fulji Patel, Sumitaben Suresh Patel, Sandhya Suresh Patel, Dixesh Suresh Patel, Ukadhhai Khushalbhai Patel, Shri Ramanbhai Khushalbhai Kamleshibhai Fuljibhai Patel	Agri.	1584205	142600	1726805

Page 93

R 19 - 1

47	Naroli	211/1p1	Gaju Jeypal Patel, Jashvant Jeypal Patel	Agri.	11116	707200	718316
48	Naroli	206/2	Karalaben Natabhai Patel, Vanraj Vestabhai Patel Navinbhai Vestabhai Patel Lataben Vestabhai Patel	Agri.	906054	305600	1211654
49	Naroli	205/1p1	M/S Cubatics Industries Pvt Ltd.	N.A.	3319586	0	3319686
50	Naroli	205/1p2	Shri Hareshbhai Supdiyabhai Patel Shri Mukeshbhai Supdiyabhai Patel	N.A.	3422710	9554534	12987244
51	Naroli	204/P1 Plot no.14/1	Naceshbhai Bhikhabhai Mahyavanshi	Agri.	1334067	47750	1381817
52	Naroli	204/P1 Plot no. 14/2	Kantilal Bhikhabhai Mahyavanshi	Agri.	1206219	241750	1447969
53	Naroli	204/ Plot no.14/3	Narendralumar Bhikhabhai Mahyavanshi	Agri.	1111722	49018	1160740
54	Naroli	203/3	Shri Mehulkumar Nileuhainh Parmar	N.A.	3331133	299284	3630417
55	Naroli	203/4p1	Shri Kileshkumar Bharatsinh Parmar	N.A.	8539604	2386600	10926404
56	Naroli	202/P-Plot no.8p1	Shri Amithhai Bhagubhai Patel Prakashbhai Bhagubhai Dhodi	Agri.	528069	211400	739469
57	Naroli	202/2/1	Shri Nitin Vimlanand Kopikar, Smt Shaila Nitin Kopikar, Smt Nisha Kopikar Chinmulgund, Shri Aditya Nitin Kopikar Dharmeshsinh Bhanshhai Rathod	Agri.	6336819	37704	6374523
58	Naroli	199/.	Bhilosa Industries Pvt Ltd.	N.A.	36905742	0	36905742
59	Naroli	189/ Plot no.23	Shri Kishna Steel Producta.	N.A.	4990976	1899527	6890503
60	Naroli	188/P Plot no.17	Somlabhai Sidvabhai	Agri.	3752065	279200	4031265
61	Naroli	184/1	Fatu Surkkar, Raja Sukkar	Agri.	1973307	123400	2096707
62	Naroli	182/1p	[Shri Indravijayainh Umedainh Parmar] Shri Rajendraainh Umedainh Parmar,Smt Yashvantkuwarba Umedainh Parmar,Smt Premilaben Umedainh Parmar, Nayaadevi Indravijayainh Parmar, Shri Digvijayainh Indravijayainh Parmar, Smt.Kirti Indravijayainh Parmar, Smt Ritu Indravijayainh Parmar	Agri.	6047771	455790	6503561
63	Naroli	168/p Plot no.20	Chhibubhai Kaliyabhai Halpati, Vasubhai Kaliyabhai Halpati	Agri.	3440782	372400	3813182

1.1

#### THE GAZETTE OF DNH & DD

65	Naroli	168/1 Plot no. 18	Abhyudaysinh Viloransinh Parmar Viktarasinh Chadrasinh Parmar	Agri	3668685	8956160	12624845
	Naroli	168/2 Plot no.18	Chhibubhai Somabhai Halpari	Agri.	750413	6000	756413
66			Shri Vasanthhai Vaghbariya		0	3401102	3401102
			Shri Vikramainh Chadrasinh Parmar	Γ	0	9472640	9472640
67	Naroli	169/1.	Stati Jashvantsinh Nanubhai Parmar	Agri.	7103908	4797486	11901394
68	Naroli	169/2	Kalpanaben Natwarsinh Parmar, Kumudhen Natwarsinh Parmar	Agri.	3468575	471600	3940175
69	Naroli	170/1/1/1	Widow Ranjan Iahwarsinh Parmar, Shri Mchulainh Iahwarsinh ParmarShri Priyanksinh Ishwarsinh Parmar	Agri.	1195102	653840	1848942
70	Naroli	170/1/1/2	Widow Ranjan Ishwarsinh Parmar, Shri Mchulsinh Ishwarsinh ParmarShri Priyanicsinh Ishwarsinh Parmar	N.A.	480782	o	480782
71	Naroli	170/1/2	Shri Mebulainh lahwarainh Parmar	N.A.	2106283	2426550	4532833
72	Naroli	170/2	Indiraben J Parmar	N.A.	3834809	0	3834809
73	Naroli	1080/.	Premier Holyverse Pvt Ltd	N.A.	11950867	14365318	26316185
			Total Ca	mpensation	261211999	108757687	369969686

No.LAQ/Athal Junction-Zaroli Bordar/30/2020/67/Part-II 300

Date: 12/07/2023

Sd/-(Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

· · · ·

#### Annexure- IV-A

#### Details of Government Land, Canal and Damanganga Naher Hastak land for Widening of road from Athal Junction to Luhari Junction to Kanadi Junction upto Zaroli Bordar.

Sr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (HectAre- Sq.mt.)	
1	2	3	4	5	6	7
1	Athal	133/1/2	Damanganga Naher Hastak	Agri.	2100	99
2	Athal	209/2p	Damanganga Naher Hastak	Agri.	300	234
3	Athal	168/p	Damanganga Naher Hastak	Agri.	3300	118
4	Athal	144/1p	Damanganga Naher Hastak	Agri.	10600	181
5	Athal	170/1	Damanganga Naher Hastak	Agri.	100	100
6	Athal	170/2	Damanganga Naher Hastak	Agri.	700	55
7	Athal	170/4p	Damanganga Naher Hastak	Agri.	100	82
8	Athal	170/5p	Damanganga Naher Hastak	Agri.	1600	73
9	Athal	171	Damanganga Naher Hastak	Agri.	3000	544
10	Athal	174	Damanganga Naher Hastak	Agri.	2300	223
11	Athal	184	Damanganga Naher Hastak	Agri.	2300	418
12	Athal	185	Damanganga Naher Hastak	Agri.	2900	237
13	Athal	188/1/1	Damanganga Naher Hastak	Agri.	2900	265
14	Athal	189/2	Damanganga Naher Hastak	Agri.	400	137

Page 96

			Total Land Ac	quired		3058
16	Athal	269/3/1	Shri Sarkar (4/6)	Agri.	250	194
15	Athal	207/3p	Damanganga Naher Hastak	Agri.	400	98

<sup>84/–</sup> (Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

Page 98

- ×

3						
Sr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (HectAre- Sq.mt.)	Area of land acquired (Sq.mt)
1	2	3	4	5	6	7
1	Khardpada	19/3	Damanganga Naher Hastak	Agri	2100	9
2	Khardpada	18/p2	Damanganga Naher Hastak	Agri	500	22
3	Khardpada	12/ Plot	Ganga Developers	N.A.	1000	449
4	Khardpada	384/1p4	Damanganga Naher Hastak	Agri	200	40
5	Khardpada	387/p1	Damanganga Naher Hastak	Agri	400	115
6	Khardpada	16/p Plot	Shri Sarkar, Mohanbhai Premabhai Jadav, Chandravardhan Premabhai Jadav	N.A.	1400	247
7	Khardpada	14/ Plot	Shri Sarkar,Bharatbhai Lallubhai Patel,Kamleshbhai Lallubhai Patel,Rajendrabhai Lallubhai Patel	N.A.	1100	238
8	Khardpada	11/ Plot	Shri Sarkar, Babu Bawa/Ranchhod Bawa, Fakirbhai Kesahvbhai Bhandari	N.A.	1100	272
9	Khardpada	378/1P3	Shri Sarkar, Bai Bhuli Widow of Uka Mithani	Agri	12800	670

			Total Land Acquir	red		3229
5	Khardpada	18/G2	Shri Sarkar, Mohanbhai Premabhai Jadav, Chandravardhan Premabhai Jadav, Hirabhai Dahyabhai Jadav, Amratbhai Dahyabhai Jadav, Yogendra Bhagvanbhai Jadav, Hemantbhai Bhagvanbhai Jadav, Rajnikant Bhagvanbhai Jadav, Ashok Bhagvanbhai Jadav	N.A.	1600	357
4	Khardpada	24/Plot	Shri Sarkar, Jivanbhai Govanbhai	N.A.	1200	386
13	Khardpada	25/Plot	Shri Sarkar Shri, Parsontambhai Jecvanbahi	Agri.	0	0
2	Khardpada	26/ Plot G	Shri Sarkar, Jivanbhai Govanbhai	N.A.	500	62
1		378/1P2	Shri Sarkar, Bai Bhuli Widow of Uka Mithani	Agri	9000	181
0	Khardpada	378/1P1	Shri Sarkar, Bai Bhuli Widow of Uka Mithani	N.A.	16000	181

<sup>84/–</sup> (Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

Page 100

Sr. No.	Village	Survey No.	Name of persons believed to be having interest	Class of land	Area of total land (HectAre- Sq.mt.)	
1	2	3	4	5	6	7
1	Naroli	106/1/2/2 P1	Canal	Agri.	3496	110
2	Naroli	211/2p2	Sarkari Naherti	Agri.	375	76
3	Naroli	211/1p2	Damanganga Naher Hastak	Agri.	485	117
4	Naroli	206/1p2	Sarkari Naherti	Agri.	480	63
5	Naroli	204/17	Damanganga Naher Hastak	N.A.	400	171
6	Naroli	202/2/2p	Sarkari Naherti	N.A.	4322	216
7	Naroli	183/p2	Sarkari Naherti	N.A.	4800	2252
8	Naroli	182/p	Daman Ganga Naher Hastak	Agri.	64	19
			Total Land Acquired			3024

No.LAQ/Athal Junction-Zaroli Bordar/30/2020/67/Part-II /300

Date: 12 /07/2023

54/-(Bhanu Prabha) Collector Dadra and Nagar Haveli Silvassa

\*\*\*

Dated :-13-07-2023

## UT Administration of Dadra & Nagar Haveli and Daman & Diu Department of Labour & Employment

Daman

No.LE/LI/DMN/FACT-135/22/2023/269

## <u>ORDER</u>

The U.T. Administration of Dadra and Nagar Haveli and Daman & Diu is of the opinion that an Industrial dispute exists between M/s. Om Polyblends, Survey No. 741/6, 8 & 9, Sapna Synthetics India Compound, 1<sup>st</sup> Floor, Near V Transport, Ringanwada, Daman and its workman Shri Vipul Kumar Ramubhai Patel specified in the Third Schedule annexed hereto (hereinafter referred to as the 'said dispute').

AND WHEREAS, the Dadra and Nagar Haveli and Daman & Diu considers it expedient to refer the said dispute for adjudication.

NOW THEREFORE, in exercise of the powers conferred by clause "d" of sub-section 1 of section 10 of the Industrial Disputes Act, 1947, I, Shri S. Asker Ali, Labour Commissioner, Daman hereby refer the said dispute to the Industrial Tribunal for adjudication.

#### <u>S C H E D U L E</u>

1. Whether the Demand of the applicant for an amount of Rs. 3,34,250/- (Rupees Three Lakh Thirty Four Thousand Two Hundred Fifty only) towards his dues is justified? If no, what relief the workman is entitled to?

Sd/– (**S. Asker Ali**) Labour Commissioner Daman

\*\*\*

# Final Report on Rehabilitation and Resettlement Scheme (ELEMENTS OF REHABILITATION AND RESETTLEMENT ENTITLEMENTS FOR ALL THE <u>AFFECTED FAMILIES</u>)

#### Land Acquisition case no. 3/103/LND-ACQ/2020-21/1795

	Name of	Project: Acquisition of 400mtr x 300 mtr land for Extension of Runway 03/2021	at Village Marwa	<u>d, Nani Daman</u>						
2	Name/ N	James of person interested in the land and the nature of respective claim for rehabilitation	ation and resettleme	ent: As in SI. No. 4						
3	Time lin	nit for provisions of Rehabilitation and Resettlement entitlements given to the affect	ed family: Within	8 months from date of Award	u/s 23 of RFCTLARR Act					
	2013									
4		itation and Resettlement entitlements								
	1. Prov (1) If a l shall	ations. If a house is lost in urban	areas, a constructed house							
	(2) The benefits listed above shall be extended to any affected family which is without homestead land and which has been residing in the area and which has been residing in the area and which has been residing in the area.									
	one lakh	I that any such family in urban areas which opts not to take the house offered, shall a fifty thousand rupees:	-							
			Provided further that if any affected family in rural areas so prefers, the entitlement cost of the house may be offered in lieu of the constructed house:							
		Provided also that no family affected by acquisition shall be given more than one house under the provisions of this Act. <b>Recommendation-</b>								
1			r the provisions of t	his Act.						
			nt cost of the house	of Rs. 3,00,000/- in lieu of the	constructed house.					
		nendation- and to be acquired is in Rural area, each displaced families shall be granted entitlement	nt cost of the house	of Rs. 3,00,000/- in lieu of the	constructed house.					
	Therefor	nendation- and to be acquired is in Rural area, each displaced families shall be granted entitlement re, 05 displaced families shall be granted <b>Rs. 15,00,000/-</b> or they may apply for a hou	nt cost of the house se under Pradhan N	of Rs. 3,00,000/- in lieu of the d Iantri Awas Yojana.						

1	Champaben Chhanabhai Dhodi (ST) (Handicap)	Marwad	376/5	Agri.
	Dineshbhai Uttambhai Dhodi, Chintaben Dineshbhai Dhodi, Riyan Dineshbhai			
4.	Dhodi Harmi Dineshbhai Dhodi, Mahendra Uttambhai Dhodi, Uttambhai			
4.	Dahyabhai Dhodi, Minaben Uttambhai Dhodi, Savitaben Dahyabhai Dhodi,		374/4	Agri.
	Bhavnaben Mahendrabhai Dhodi, Dhruval Mahendrabhai Dhodi, Palak			
	Mahendrabhai Dhodi (ST)			
5.	Mrs. Rekhaben Babubhai Mahyavansi, Ms. Khushbu Haresh Mahyavansi, Ms. Mansi Hareshbhai Mahyavansi Ms. Shiya Hareshbhai Mahyavanshi (SC)		358/7	Agri.
2. Lan	nd for land			I
In case	of Irrigation project, as far as possible and in lieu of compensation to be paid for lan	d acquired, each a	ffected family owning agriculture 1	and in the affected are
and who	ose land has been acquired or lost, or who has, as a consequence of the acquisition or	loss of land, been	reduced to the status of a marginal f	farmer or landless, shal
be allott	ed, in the name of each person included in the records or rights with regard to the affect	cted family, a mini	mum of one acre of land in the com	mand area of the projec
for whic	ch the land is acquired:			
Provide	d that in every project those person losing land and belonging to the Scheduled Caster	s or Scheduled Tri	bes will be provided land equivalen	t to land acquired or
two and	a half-acres, whichever is lower.			
Recom	mendation-			
NT / A				
	plicable as it is not an irrigation project.		1	
Sr. No.	Name of claimants/ affected family       Village		Survey/ Plot no.	Class of Land
			Survey/ Plot no.	Class of Land
Sr. No. NIL			Survey/ Plot no.	Class of Land
Sr. No. NIL 3. Offe	Name of claimants/ affected family Village	land will be reser		I
Sr. No. NIL 3. Offe In case	Name of claimants/ affected family       Village         er for developed land       Village		ved and offered to land owing proje	I
Sr. No. <i>NIL</i> 3. Offe In case proporti	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed	the cost of develo	ved and offered to land owing proje	ect affected families, in
Sr. No. <i>NIL</i> 3. Offe In case proporti Provide	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and	the cost of develo	ved and offered to land owing proje	ect affected families, in
Sr. No. NIL 3. Offe proporti Provided package	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, and	the cost of develo	ved and offered to land owing proje	ect affected families, in
Sr. No. <i>NIL</i> 3. Offe In case proporti Provided package <b>Recomm</b>	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, an expande to it.	the cost of develo	ved and offered to land owing proje	ect affected families, in
Sr. No. <i>NIL</i> 3. Offe In case proporti Provided package <b>Recomm</b>	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, an expansible to it.         mendation-       plicable as land is not being acquired for urbanization purpose.	the cost of develo	ved and offered to land owing proje	ect affected families, in
Sr. No. <i>NIL</i> 3. Offe In case proporti Provided package <b>Recomm</b> Not App	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, an expansible to it.         mendation-       plicable as land is not being acquired for urbanization purpose.	the cost of develo	ved and offered to land owing project pment. will be deducted from the land ac	ect affected families, ir quisition compensatior
Sr. No. <i>NIL</i> 3. Offe In case proporti Providee package <b>Recomm</b> Not App <b>Sr. No.</b>	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, an expansible to it.         mendation-       plicable as land is not being acquired for urbanization purpose.	the cost of develo	ved and offered to land owing project pment. will be deducted from the land ac	ect affected families, in quisition compensation
Sr. No. <i>NIL</i> 3. Offe In case proporti Provided package <b>Recomm</b> Not App Sr. No.	Name of claimants/ affected family       Village         er for developed land       the land is acquired for urbanization purposes, twenty five percent of the developed on to the area of their land acquired and at a price equal to the cost of acquisition and d that in case the land owing project affected family wishes to avail this offer, an expansible to it.         mendation-       plicable as land is not being acquired for urbanization purpose.	the cost of develo	ved and offered to land owing project pment. will be deducted from the land ac	ect affected families, in quisition compensation

4. Choi	ice of annuity or Employment			
The appr	opriate government shall ensure that the affected families are provided with	following option: -		
	lob may be given to at least one member per affected family in the project			
t	raining and skill development in the required field or make provision for en	nployment at a rate not lo	ower than the minimum wages p	provided for in any other law
f	for the time being enforced. or			
(b) (	One time grant of 5 lakh rupees per affected family. Or			
(c) 7	The affected family will be provided with an annuity payment of Rupees 200	0 per month per family f	for twenty years (this will be adju	usted for inflation annually).
Recomm	nendation-			
One time	e grant of Rs. 5 lakh shall be granted to each affected family amounting to $\mathbf{R}$	s. 25,00,000/- for 05 affe	ected families.	
Sr. No.	Name of claimants/ affected family	Village	Survey No.	Class of Land
1.	Kashi Ramji	Marwad	460/2 & 464/12	Agri.
2.	Vijaybhai Ramubhai Patel, Sangeetaben Vijaybhai Patel, Vrundaben Vijaybhai Patel, Mahesh Laxman Patel, Kundan Mahesh Patel, Tejal Mahesh Patel, Adidya Mahesh Patel, Ramanbhai Kuvarji Patel, Naniben Raman Patel, Hasmukhbhai Raman Patel, Shitalben Hasmukh Patel, Pratha Hasmukh Patel, Priyal Hasmukh Patel, Navinbhai Raman Patel, Pinkiben Navin Patel, Thiyaben Navin Patel, Ashok Raman Patel, Jigna Ashok Patel, Jagrab Ashok Patel, Dhery Ashok Patel, Chhibubhai bhanabhai Patel, Subhashbhai Chhibubhai Patel, Asmitaben Subhashbhai Patel, Henish Subhash Patel, Manan Subhashbhai Patel		354/-	Agri.
3.	Champaben Chhanabhai Dhodi (ST) (Handicap)		376/5	Agri.
4.	Mahendra Uttambhai Dhodi, Uttambhai Dahyabhai Dhodi, Minaben Uttambhai Dhodi, Savitaben Dahyabhai Dhodi, Bhavnaben Mahendrabhai Dhodi, Dhruval Mahendrabhai Dhodi, Palak Mahendrabhai Dhodi ( <b>ST</b> )		374/4	Agri.
5.	Mrs. Rekhaben Babubhai Mahyavansi, Ms. Khushbu Haresh Mahyavansi, Ms. Mansi Hareshbhai Mahyavansi Ms. Shiya Hareshbhai Mahyavanshi ( <b>SC</b> )		358/7	Agri.
Each affe	sistence grant for displaced families for a period of one year ected family which is displaced from the land acquired shall be given a mon- ear from the date of award. on to this amount, the Scheduled Castes and the Scheduled Tribes displaced	·	-	

In case	s of displacement from the Scheduled Areas, as far as possible, the affected	families shall be relocated	in a similar ecological zone, so as to	preserve the economic					
opport	unities, language, culture and community life of the tribal communities.								
Recom	imendation-								
The Te	rritory is not a Scheduled area. Therefore, each affected family shall be gran	ted subsistence allowance of	f Rs. 36,000/- (Rs. 3,000 per month)	for a period of one year					
from the date of award, amounting to Rs. 1,80,000/- for 05 affected families. 05 affected families being SC/ST shall receive Rs. 50,000/- each in addition amounting									
<i>Rs. 2,5</i>	0,000/								
Sr. No	Name of claimants/ affected family	Village	Survey/ Plot no.	Class of Land					
*Refer	affected/ displaced families at 4.1 above								
6. Tr	ansportation cost for displaced families								
Each a	Each affected family which is displaced shall get one-time financial assistance of fifty thousand rupees as transportation cost for shifting of the family, building materials,								
belong	belongings and cattle.								
Recommendation-									
Each at	Each affected family shall be granted one-time financial assistance of Rs. 50,000/- as transportation cost for shifting of the family, building materials, belongings amounting								
to Rs. 2,50,000/- for 05 affected families.									
Sr. No	Name of claimants/ affected family	Village	Survey/ Plot no.	Class of Land					
*Refer	affected/ displaced families at 4.1 above								
7. Ca	ttle shed/ petty shops cost								
Each a	ffected family having cattle or having a petty shop shall get one-time financia	al assistance of such amount	as the appropriate Government may,	by notification, specify					
subject	to a minimum of twenty-five thousand rupees for construction of cattle she	d or petty shop as the case m	hay be.						
Recom	mendation-								
Not ap	plicable as no affected family has cattle shed/ petty shop.								
Sr. No	Name of claimants/ affected family	Village	New Survey/ Plot no.						
NIL									
8. Or	ne-time grant to artisan, small traders and certain others								
Each a	ffected family of an artisan, small trader or self-employed person or an affect	cted family which owned no	n-agricultural land or commercial, in	ndustrial or institutional					
structu	re in the affected area due to land acquisition, shall get one-time financial	assistance of such amount a	s the appropriate Government may,	by notification specify					
subject	to a minimum of twenty-five thousand rupees.								
Recom	mendation-								
Not Ap	pplicable as there is no such displacement among affected families.								
Sr. No	Name of claimants/ affected family	Village	Survey/ Plot no.	Class of Land					
NIL		•	•						

. Fishing Rights			
n cases of Irrigation or hydel projects, the affected families may be allowed fishing rights in the reservoirs, in such manner as may be prescribed by the appropriate			
overnment.			
Recommendation-			
Not Applicable as it is not an irrigation or hydel project.			
Sr. No. Name of claimants/ affected family	Village	Survey/ Plot no.	Class of Land
NIL			
10. One-time Resettlement Allowance			
Each Affected family shall be given one time "Resettlement Allowance" of fifty thousand rupees only.			
Recommendation-			
Each affected family shall be given one time Resettlement Allowance of Rs. 50,000/- amounting to Rs. 3,00,000/- for 06 affected families.			
Sr. No. Name of claimants/ affected family	Village	Survey/ Plot no.	Class of Land
*Refer Affected Families at point No. 4.1 & 4.4 above.			
11. Stamp duty and registration fee			
(1) The stamp duty and other fees payable for registration of the land or house allotted to the affected families shall be borne by the Requiring Body.			
(2) The land for house allotted for the affected families shall be free from all encumbrances.			
(3) The land or house allotted may be in the joint names of wife and husband of the affected families.			
Recommendation-			
If any, to be borne by the Requiring body.			
Total- ₹. 49,80,000/- (Rupees Forty Nine Lakh Eighty Thousand Only)			

No.3/103/LND-ACQ/2020-21/1795 Date: 17/07/2023 Sd/-

(Mohit Mishra) Administrator for Rehabilitation and Resettlement, Daman